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Theme2 | Mathematical Operations.and/Algebraic Thinking

Multiplication as
a Relationship

»Concept 1 : Multiplicative Comparisons

» Concept 2 : Properties and Patterns of Multiplication

An adult gmsshoppeéan
Jump 10 times its !r-;'i(:gth ‘i '
straight into the air '
and 20 timesiits length
horizontally without

using its wings#That

is, if a grasshopper is 5
centimeters léng, itcan
jump a distghce of.1 meter.

UNIT







Concept Overview

In concept1:
Multiplicative Comparisons,
students continue to
compare numbers but

The antis one of the world's - move away from place

strongest creatures inirelation’ P vahllte- cl?mt? anso[nfig::hi s
g . : multtipticative reta ’
toits size. A singlelant can p 4

2 . Itis important for students
carry 50 times itsiown to review and recall the

bodyweight; and they'lleven multiplication facts they
work together-to move b igger. [: learned in Primary 3, since

; this makes it easier for
objects as ] ;
! LT them to see multiplicative

relationships in familiar
numbers. Students also
discuss the application

of multiplicative
comparisons in real-world
contexts, connecting their
understanding of math to

their daily lives.
Py | Lesson e Vocabulary Terms Learning Objecti
No. Name Y arning Objectives
='7 |Lesson1 | 5-1Understanding | Estimate - = Students will define multiplicative comparison.
/ Multiplicative Multiplicative comparison | _ Students will model multiplicative comparison problems.
Comparison - Tape diagram

L Lesson2 | 5-2Creating Equation - Factor - « Students will create equations to represent multiplicative
Multiplicative Multiplicative comparison | comparison problems.

Comparison - Product
Equations

= Students will use letters to represent unknown quantities

in equations.
5-3 Solving Inverse » Students will create and solve multiplicative comparison
Multiplicative equations. '

Comparison
Equations




SR 5-1 Understanding Multiplicative
Comparison

m What is multiplicative comparison ?

Multiplicative comparison means comparing two things or sets that
need multiplication.

For Example : In a birthday party,

'Amgad has 3 balloons Bassem has 6 balloons

You can use multiplication as a way to compare between what they have
as follows::

f - 5
‘. l Tape diagram Comparison statement M:g:‘;;l::::rt‘?n
I Amgad: = |
Bassem has twice as many
‘|3 balloons :

: balloons as Amgad has. ,
Bassem: Or 6 is two times greater L
[3 balloons|3 balloons] than3

- Multiplication is repeated addition, |
50, you can rewrite a multiplication equation as repeated addition equation.
6=2x3 mmp 34+3=4 |

Hint

6=2x3means
6 is two times greater than 3
Or 6is three times greater than 2

Notes for parents :

* Make sure your child understands that the “tapes"” in the tape diagram represent equal
groups. When constructing a tape diagram, each tape should represent the same quantity.
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Example 1

Complete the comparison statements. Use tape diagram or multiplication facts to compare.
a. Compare 15and 5. 15is ———times greater than 5.

b. Compare50and10. 50is ——————times greater than 10.

Solution ﬁ]

a. three [think:[5][5][5],15=3x5] b. five (think:[10{10/10{10/10/,50 =5 % 10]
Example 2

Rewrite each equation using multiplication.

a. 5+5+5=15 b. 3+3+3+3+3+3+3=21

Solutfion @

a. 3x5=15 b. 7x3=2]
Example 3
Fillin the blanks to complete the multiplicative comparison statement for each tape diagram.
a18/8(8|8|88 b.15/5|5|5|5|5|5]|5
is times greaterthan 8 — is times greaterthan 5

Solution LQJ

a. 48 is 6 times greater than 8. b. 40 is 8times greater than5.

ﬂm your understanding

rr

Complete the table. Write a comparison statement or a multiplication equation.
' 3

Comparison Statement Multiplication Equation

21days s 3 times longer than 7 days

36=9x4

30fish is 5 times as many as 6 fish. )

= |

* Children often confuse multiplicative comparison with additive comparison. For example, instead of
multiplying by 4 to find a number 4 times greater than 20, they might add 4

9]




5-1 Understanding Multiplicative Comparison

@REMEMBER @ UNDIRSTAND  OAPFIY % PROBLEM SOLVING ‘1) From the school book
}. Use tape diagram or multiplication facts to compare the numbers.
a. (.1 Compare15 and3. 15is times greater than 3.
b. (1) Compare28 and7. 28is ~times greater than 7.
c. (.. Compare27 and 9. 27is _times greater than 9.
d. (! Compare10 and 2. 10is—— ~times greater than 2.
e. (11 Compare12 and 3. 12is- times greater than 3,
f. (.1 Compare18 and é. 18is—— times greater than 6.
g. Compare18 and 9. 18is - times greater than 9.
| h. Compare21 and 7. 21is— times greater than 7.
a i. Compare24 and 6. 24is times greater than é.
\J j. Compare35 and 7. 35is——————times greater than 7.
f k. Compare30 and5. 30is ———— times greaterthan 5.
‘ . Compare56 and 8. 56 is —————times greater than 8.
m. Compare72 and 8. 72is —————times greater than 8.
| n. Compare54 and 9. 54 is ————times greater than 9.
|
|[. o. Compare30 and 3. 30is— times greater than 3.
!r' p. Compare8 and 4. 8is ——times greater than 4,
] g. Compare27 and 3. 27is — ——times greater than 3.
)
E. r. Compare20 and 5. 20is — —times greater than 5.
I‘l s. Compare 25 and 5. 25is -~ times greater than 5.
l t. Compare 36 and 6. 36is times greater than é.

|
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2. Rewrite each equation using multiplication.
-

a. (Q6+6+6=18—

b. 2+2+242+4242+2=14___

c. 5+46+5=% —~

d 2+2+2+2=8 =]

e. 9+9+9+9=36

f. 10+10+10+10+10 =50

g. 8+8+8+8+8+8+8=56 B

h. 7+7+7+7=28 - —

i 3+3+3+3+3+3+3=21

Jo b+4+4+4+4=20

o)

Complete each of the following.

a. 3+3+3+3=— X =

b. 4+4+4=— X - —

n

24+242+242=- X —=

d 8+8=— x =

e 7+7+7+7+7+7+7=— X =

bl

5+5+5+5+5+5=—

4. Fillin the blanks to complete the multiplicative comparison statement for each tape
diagram.

aru[s 5|5 |5 b. 11/ g|8]8

‘times greater than 5. —1is—— times greater than 8.

(1]

— —is




Lesson 1 OREMEMBER @ UNDERSTAND @ APFIY

& PROBLEM SOLVING

i cmfa]afs]s

_ _ijs— — times greater than 4. __ijg. times greaterthan2,
e.[3[3]3[3]3]3]3 rlefefefslof6]6]6

- is times greater than 3. — —is times greater than 6.
g.[10]10[10]10 h[7]7]7][7]7]7]7]7

——is— timesgreaterthan.w. ——is ———times greaterthan7,
L[of9]99]9[9[9]9]9]9]| )|w0]10]10]10]10

— —— S times greater than 9. ———is— ———times greater than 10,

5. Write a multiplication equation to match each comparison statement as the example.

o
Comparison Statement Multiplication Equation
Ex. 10is 5 times greater than 2 |=Ei2
a. 24 is 6 times greater than 4
b. 35is 7 times greater than 5
e 15is 3times greaterthan 5
d. 20is 4 times greater than 5
e. 60is 10 times greaterthan 6
f. 16 is 8 times greater than 2 - .
B
g. 6is 2 times greater than 3
S
h. 5is 5 times greater than 1
PE— —t -
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g . Write @ comparison statement to match the multiplication equation as the example.

Comparison Statement Multiplication Equation
Ex. 8is 2 times greater than 4 - 8=2x4
a. 6=3x2
b. 24=8x3
c. 45=9x5
d. 30=6x5
€. 70=10x7
f. 12=3x4
® Challenge

7. Suzieis 14 dm tall. There is a tree in her yard
** thatis 10 times taller than she is. How tall is
the tree in Suzie's yard ?

8. Hanan has 40 photos.She has 5 times as
* many photos as Hany.
How many photos does Hany have ?

Hany | ?

Hamnan( ? |2 |2 2?2 | ?

40




S —
S —

Choose the correct answer.

1. Tocompare 20and 5.

©
20is - —— times greater than 5.
A 2 B. 3
C. &4 D. 5

.

3. The multiplication equation of
L]
E+5+5+5=20is —
A. 2x10=20 B. 4x5=20
C. 20x1=20 D. 10+10=20
R SBESEEERSA e
5. The multiplication equation of the

L
comparison statement "36is 4 times

greaterthan‘?"is i
A 9+9+9+9=36 B. 36=6%x6
C. 36=4x9 D. 3x12=36

&}

o

2.

To compare 30andé.

30§ —— times greaterthang,
A 3 B, %

C. 5 D. 6

f
4.

The multiplication equation of

b+b+6=18is ——
A 18x1=18 B. 84+10=3
Cc.2x9=18 D. 3x4=18

e ——

6.

The comparison statement for the
multiplication equation "24=3x8"is—
A. 24is 3 times smaller than 8.

B. 24is 3 times greater than 8.

C. 8is3times greaterthan 24,

D. 3is 8 times greater than 24.

I

7. Tocompare 45and 9.
(@]
___ times greaterthan 9.

0

The multiplication equation of

10+10+10=30is — — —

45is — ——

A 5 B. 4 A. 5x6=30 g. 3x10=3

. 3 D. 2 C. 10+20=30 D. 1x30=%
______________‘..--'"’

9. The multiplication equation of the comparison statement "20 is 10 times greater than z

L ]
A S

A 20=10x2 B. 20=10+10

p. 20=1x%
_/"/

C. 20=4x5

10. Which statement is an example of a multiplicative comparison ?

A. Acamelis 3 metersin length.Acrocodile is 2 meters longer than a camel

B. Acamel can weigh up to 1,000 kilograms. This is twice as much as a crocodile weigh®

C. Crocodiles have 64 teeth. Camels have 32 fewer teeth than crocodil
codiles.

D. There are about 30,000 crocodiles in Egypt. There are about 60,000 more camels in EgyP



5-2 Creating Multiplicative Comparison Equations

5-3 Solving Multiplicative Comparison Equations

During Emad's visit to the Zoo,
he read this information.

Can you help him to calculate

the tall of the giraffe ?

- tallas the kangaroo. The kangaroo —
Read and Understand - is2mtall How tallis the giraffe?
What do you know ? The kangaroo is 2 m tall.

What are you trying to find ? Find how tallis the giraffe.

Plan and Solve

What strategy will you use ?
Strategy : Write a multiplicative comparison equation

1. Use a letter to represent the unknown.
Let the tall of the giraffe be x.

2. The giraffe is 3 times as tall as the kangaroo means,
xis 3 times 2

2m =l

Comparison

Kangaroo's tall

bar model

Giraffe's tall

3. Writean equation: x=3x2

4. Solve the equation: x=6

So, the giraffe is 6 m tall

Notes for parents :

: i i ly place the unknown in an equation.
. on Error : Your child may incorrectly place
g:rrr;;mpla, if your child is asked to write 12 is 3 times greater lhan a , he/she

maywrile12x3=a,insleadot12:3xaor3xa:12



B |
LLesson 2

Example 1

Write an equation based on the comparison statement.

Use a letter to represent the unknown.

a. 3times greaterthan5is b. 12is 6 times as many as
Solution @
a. 3x5=a b. 12=6xm

—

How to solve multiplication comparison equation 4
You know that
©®

6 =3 x2 /@)
L VoK

p FOd uct Fa ctor Fa ctor actor | Factor
L

—

« Solving an equation means to find the value of the unknown that makes the equation true.

1. Ifthe unknown is the product, use multiplication. / = \;’
m = 3 X 2 @

i

Product  Factor ~ Factor é:a%or
Multiply :| m=56

- I

2. Ifthe unknown is one of the two factors, use division.

6=mX2

Oroduct Factor Factor

Example 2 1
Write an equation for each of the following comparisons and then solve it.
a. What numberis 3 times greaterthan7? b. 24is 4 times more than what number’

c. 12is 3 times more than what number?

Notes for parents :

; oo n
+ It is important to note that the unknown can be in different positions in the equation. Explain that to solve @
equation, you find what the unknown number is.
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Solution [’E’j

a. Equation:3Xx7=m b. Equation:24 =4 xh c. Equation:12=3xa
Answer:m = 21 Answer:h=24+4=6 Answer:a=12+3=4
The number is 21 The numberis & The numberis &4

Example 3 ~

Write an equation for the following comparison and then solve.
Wael ate 5 figs in the evening. His older brother ate 4 times as Wael ate.
How many figs did his brother eat ?

Solufion @

Let the number of figs of his brotheris a

« Equation:a=4x5 « Answer: a =20
His brother ate 20 figs.

Example 4

There were thirty-five adults in line at a movie theater. That is seven times the number of
children in another line. How many children were in this line ?

Solufion @

Let the number of childrenis n. Then,35 equal 7 times n
« Equation:35=7xn

« Usedivisiontosolve:n=35+7=5

So, the number of children in the line is 5 children.

T/l-'é;,-'

_.{:_;S»‘i your understanding

1. Solve each of the following equations.
a. x=3x6 b. 14=7xn C. bxy=24

2. Write an equation to represent the situation below, and then solve.
Farmer Wael has 20 sheep. He has twice the number of sheep as farmer Sameh.
What is the number of sheep of farmer Sameh ?

| S—

* Explain that the missing number in an equalion is represented by a blank, but we can use letters

to represent missing numbers. -




AR 5-2 Creating Multiplicative Comparison Equuthm
27 5-3 Solving Multiplicative Comparison Equqﬂ%

OREMEMBER @ UNDERSTAND ~ @APPLY o' PROBLEM SOLVING |-} From the schoo| bogy

1 Write an equation based on the comparison statement. Use 8 Lgtiar tofepresent the

“ unknown number: You do not have to solve the equations.
a. (1l 4times greaterthan3is SVt 5 S
b. (218isb6timesasmanyas —— ————
c. (1 2timesgreaterthan7is————————

d. (. 24is4timesas greatas —

e. L. 25is5times as many as —

f. 16is 4 timesas many as

g. 7times greaterthan 2is —

h. 5times greaterthan 8is

i. 30is5times as many as

j- 3times greaterthan10is

k. L. 7timesasmanyasé4is —"

L [ étimes greater than is 48.

m. 227is times greater than 9.

n. 10timesas3is_

0. bis . times greater than 2.

p. 3timesaséis

galgls——c .. times greater than 5.
r. 8timesgreaterthan . s
s. 06— ~times greaterthan 4,
t. Stimesgreaterthan S| ¢

8]
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Write an equation for the comparisons. Use a letter to represent the unknown number.
vou do not have to solve the equations.

a. .11 Nadia collected 5 marbles in March, By May she had 4 times
as many marbles. How many marbles does Nadia have in May ?

b. (.2 Hamed had 12 cookies, which was 3 times as many cookies

as his brother Ahmed. How many cookies did Ahmed have ?

c. (1 It took Aida 21 minutes to walk to school on Monday.
On Tuesday, it took her 7 minutes to ride her bike to school.
How many times faster was riding her bike than walking ? .

d. 71 Menna ran around the soccer field 4 times. Aya ran around

the field twice as many times. How many times did Aya run

around the field ?

e. (11 Rana has & mangoes. Her brother Sherif has 18.

How many times more mangoes does Sherif have ?

f. Alibrary checks out four mathematics books and two sciences
books an hour. How many times more mathematics books do

they check out than sciences books ?




Lesson 2 @FPEMEMBER ¢ ' 1 RIS o Pncmmsnwms_

9. Arestaurant sold eight times as many salads as they sold

steaks. If they sold four steaks, how many salads did they sell?

h. Arestaurant sold nine salads and forty-five steaks.

; ?
How many times as many steaks did they sell as salads *

i. A pet store sold two cats. They sold six times as many dogsas

s - ﬁ
' \&
they sold cats. How many dogs did they sell?

S B

e —

3. Write an equation for each of the following com parisons, and then solve it.
r a. (> What numberis 5 times greater than6?

b. (. 36is 4 times more than what number?

N

c. [} Ayman ate 4 figsin the morning. His older brother ate

3 times as many. How many figs did his brothereat ?

d. There were thirty-two adults and four children in line at

a movie theater. How many times more adults were in

the line than children?
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e. Mona sent twenty-five text messages a day. Esslam sent five

a day. How many times as many texts did Mona send than

Esslam sent ?

f. It takes Wael six oranges to make a small glass of orange juice.
He uses eight times as many fora large glass. How many

oranges does he use foralargeglass?

g. Nora had four times as many Pounds as her sister. Her sister

has three Pounds. How much money does Nora have ?

h. Samah was playing basketball. She scored seven timesas

many shots as she missed.

If she scored fourteen shots, how many shots did she miss ?

g. Solve each of the following.
a. y=5x10 b. xx3=15 c. 7xb=21
d. 3x4=X e. 5xb=50 f.mx4=16
'g. z=5x1 h. nx2=18 i. 5xk=35




Lesson 7) @REMEMBER @ UNDERSTAND ORPY &% PROBLEM SOLVING

How many seats ? Use the information in the table to compare numbers of seats in
different modes of transportation. Then, enter and solve an equation for each comparisgp,

Means of Transportation Number of Seats
Bike WO R
Motorcycle 2
Car A
Truck ; 6
Bus 36
Metro_train 48

a. How many times as many seats are in a truck than on a motorbike ?

Equation: Answer: i

b. How many times as many seats are on a bus than inatruck?

Equation: Answer: —

¢. How many times as many seats are on the metro train thanina car?

Equation:

e Answer: —

d. Ametro train can fit how many times more people than a truck ?

Equation: —M¥ —H13 2 Answer:

e. Abus has how many times more seats thanacar?

Equation: Answer:

! ® Challenge

6 Bassem sold 9 chocolate bars. Marawan sold three times as many as Bassem, Esslam sold
* 9 fewer than Marawan. How many bars did Esslam sell ?




Multiple Choice Questions

Choose the correct answer.

1. The equation based on the comparison 2. The equation based on the com parison
® statement «3 times greater than 7» ® statement «451s - _ times greater
| thanoils
A 3x7=A B.7-3=A A. 45=9-a B. 45=ax9
C. 3+7=A D. 7+3=A C. 45=a+9 D. 45=9-b
3. What numberis 10 times greaterthan13? | 4. Therewere 24 adults and 3 childreninline
i © atamovie theater. How many times more
adults werein the line than children?
A. 130 B. 3 A 28 B 36
c.23 ; D. 1,300 ks & D. 8
5. Noha sent 18 text messages a day. Ali 6. It takes Wael 7 oranges to make a small
* cent 3 aday.How many times as many o glass of orange juice. He uses 6 times
texts did Noha send than Ali ? as many for a large glass. How many
oranges does he use fora large glass ?
A 5 B. 4 A 14 B. 42
G 3 D. 6 C 2 D. 68
7. Ola had 4 times as many dollars as her 8. Hala was playing basketball. She made
% cicter. Her sister has 3 dollars. How much ¢ ceven times as many shots as she
money does Ola have ? missed. If she made 28 shots, how many
shots did she miss ?
A. 10 B. 1 A1 B. 2
G2 D.13 . C.3 D. 4

g. Which situation is an example of a multiplicative comparison ?
** A. When Osama arrived at work, there were 48 cars in the parking lot. When he left work,

there were 3 fewer carsin the lot.

B. Tony weighs 27 kilograms. His brother is 9 kilograms heavier.

C. Nasserbegan his collection with 12 trading cards. After 1 month, there are triple
the number of cards in his collection.

D. Youssef read 15 books last year. Tarek read 5 books.

10. Hany is twice as old as his brother. His brotheris 8 years old. Which two equations can be used

to find Hany's age ?
A 2+a=8 B. 2xa=8 C.2x8=a D. 8+2=a E. 8+8=a



WLl Ve

1. put (V) to the correct answer and (X) to the incorrect answer.

* a. The multiplicative comparison statement for[ 5 [ 5[5 5] 5 | 5 Jis

«30 s 6 times greater than 5». [ ]

b. The multiplication equation for the comparison statement
«60 1510 times greater than 6» is 60 =10+ 6

¢. Theanswerofthe equation24 =4 xhish=56
d. Ifi8=ax2,thena=6
e. 20is5times smaller than 4.

f. 5times greaterthan 3is 15.

2. Choose the correct answer.

a. What numberis 5 times greater than 4 ?

© A 54 B. 20 C. 45 D. 9

b. 36is9 times more than what number ?

© A 45 B. 27 C. 4 D. 369

c. Mostafa and his sister peeled oranges. Mostafa peeled 6 oranges. Mostafa's sister

peeled 3 times as many oranges as Mostafa, Which equation can be solved to find the
number of oranges that Mostafa's sister peeled ?

A 6+3=n B. 6x3=n Cn+3=6 D. nx3=4

g. Abox has 8 green balls, The box has 6 times as many yellow balls as green balls.
How many yellow balls are in the box ?
A 2 B. 14 C. 48 D. 54
e. Afishtank has 3 red fish and 17 times as many blue fish.How many blue fish are in
©
the tank?
A. 20 B. 31 C. 17 D. 51
f. Abuilding is 20 meters tall, A bridge is 5 meters tall. The buildingis h imes
© tallerthan the bridge ? A AN
A 3 — ) B. 4 C. 15 D. 100
3. Complete.
o

a. 10timesas3is .

b. 20is — times greaterthans
c. l6is4timesasmanyas

d. The comparison statement for the multiplication equation30=5x 4 s
e. The multiplicative equation of 6 + 4 + ¢ + 6+6=30js
f. Ifax3=24,thena=. ——-

—_—




Concept 1 Assessment

l:. Match the cards that have the same meaning.
a. | 24is b times greaterthan4 1 5_:_5_)(1 |
b. | 5is5times greaterthan1 1 % ._24 :; xz._
c. | 35is7times greaterthan5 3. “‘I6= 8x2 '
d. | 16is8timesgreaterthan 2 ‘ 4, i._35 :_7 X5

. Afruit plate contains 21 grapes and the grapes is 3 times as many as dates.
Choose the best equation or number to complete the statement.

[ax21=3 6

3xa=21 7
3)(21:‘3_ | 63

S n

A model is shown. 42
b|16|b6|b6|6|6|6

Write an equation which is the best represented by this model ?

)

. The distance from Samir's house to the bank is 5 times the distance from his house to
the museum. If his house is 20 kilometers from the museum, how many kilometers is
his house from the bank.

(@R

A truck driver delivers a total of 12 crates of fruits and vegetables to a store. The total
number of crates of fruits and vegetables is 3 times as many as the number fo crates
of apples. How many crates of apples were delivered ?

000

ow

. Ahotel has 28 floors. The hotel has 4 times as many floors as the building next door.
How many floors does the building next door have ?

10. Mona has 4 apples. Her sister Hala has 20 apples.
5} ;
How many times more apples does Hala have ?

11. Apet store sold 3 cats. They sold six times as many dogs as they sold cats.
How many dogs did they sell?

1(2. Write the equation 5+ 5 + 5+ 5 = 20 by using multiplication.
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Concept Overview

Inconcept2:

Properties and Patterns of
Multiplication, students continue to
work to build deep understanding
of multiplication as well as
procedural fluency. Thelr work

| inPrimary 3with multiplication

. facts takes on greater importance

| inPrimary 4 as they begin to use

|

those facts to solve more complex
multiplication problems. Students
are challenged to identify, describe,
and apply patterns in multiplication
- particularly when multiplying

by multiples of 10 - to increase
fluency and efficiency. Students
also investigate and apply several
properties of multiplication,

.ﬁj.},ﬁ}.; i) 'T1{T‘}fff‘;,,m§}*‘i’j'b including the identity Property,
4y 2y A the Zero Property, the Commutative
< 7@"'&‘1—“”""}‘?&”‘13 Property,and the Associative

jiiesfasteniiansa
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Property. It is important that
students build understanding
that the properties are not just

fust can thiscORmov: RN

descriptive, but can be utilized
to improve their efficiency and
accuracy in multiplication.

3 e A ¥ i i 2
Lesson Lesson . g
o Name Vocabulary Terms Learning Objectives
— 5.4 Commutative | Array - Column - Commutative « Students will explain the Commutative Property of
Property of Property of Multiplication - Factor - Multiplication.
Multiplication Horizontal - Product - Row - Vertical | , gtydents will apply the Commutative Property of Multiplication
to solve problems.
5-5 Patterns of Identity Property of Multiplication | « Students will apply the Identity Property of Multiplication to
Multiplying by 10s | - Zero Property of Multiplication solve problems.
« Students will apply the Zero Property of Multiplication te solve
problems.
« Students willidentify patterns that occur when multiplying by
10,100,and 1,000.
5-4Review Multiples « Students will apply place value concepts to multiply by
Exploring multiples of 10,100 and 1,000.
Patternsin « Students will explai i
: 3 plain patterns when multiplying by multiples of
Multiplication 10,100,and 1,000. Py i
Lesson & 341 -7 Exploring Assotiative Property of Multiplication | « Students will explain the Assoclative Property of Multiplication.
ore Patternsin | - Commutative Property of « Students will apply th i
Multiplication Multiplication - Parentheses solve prol;-l"em:p thwAssiciative Propuny M uliiplcationto
5-BApplying Decompose - Factors - Multiples | » Students will apply decomposing and the Associative Property
Patternsin of Multiplication to solve equations with multiples of 10,100, or
Mgltiplication 1,000.




5-4 Commutative Property of Multiplication
5-5 patterns of Multiplying by 10s
5-6 Review Exploring Patterns in Multiplicatioy

i
m Multiplication properties

Multiplication properties are rules for multiplication thatare always tryg,

In this lesson, you will learn three properties of multiplication.
« Zero Property,

« Commutative Property. < Identity Property.

Commutative Property of Multiplication

Sandy knit 3 scarves. She used 2 balls of
yarn for each scarf.

How many balls of yarn did she useinall ?
You can use multiplication properties to
help you find products.

Multiply 3 x 2
Commutative Property states that when you multiply two factorsin
1 any order the product is the same,

[ :
EE  pgmm
EE | pmm
EE
3rowsof2 | 2rowsof3
3x2=6 | 2x3=6
3x2=2x3

So, Sandy used 6 balls of yarn.

Identity Property of Multiplication | Zero Property of Multiplication

The Identity Property states that The Zero Property states that the
the product of 1and any number product of zero and any number
equals that number, equals 0. '

[3x1=3 EEM | 88

4x0=0

Notes for parents :
« Using multiplication properties makes finding products easier.
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Example 1

Apply the Commutative property of Multiplication to complete each equation.

a. Ixg=———%3 b. 10x————=7x10

L o—— x5=5x9 d 2R R
Solution @

a. 8 b. 7 c. 9 d. 2
Example 2

Apply the Commutative property of Multiplication to find the unknown value.

a. 23x7 =7xa b. 5xb=11x5 c. 9x10=mx9 d. kxb6=6x2

Solution @
2. a=23 b. b=1 c. m=10 d. k=2

Example 3

Mr.Hany has 12 pens. Write an equation using the Commutative property of
multiplication to describe two ways he can arrange his pens.

Solution @

e3x4=4x3=12 $2x6=6%x2=12
Example 4

Look at the problems below. Solve them mentally.

a. 15x1 b. 1x 23 c. 1x10 d. 632x71 [ WDAIREEAT

e. 5x0 f. 1710 g. 0x7 h. 0x329 |*Whenyoumultiplyany

equal to that number.

Solution @

number by 1, the productis

« When you mulitiply any
a. 15 b. 23 c. 10 d. 632 numberby 0, the productis 0
e. 0 f. 0 g 0 h. 0 ’
_ﬂ*g i194,< your understanding
Find the missing number. Name the property you used.
o BxE2 b. 9x=0——u— c. 5x6= x5
d x500=0— —— e IxM=708— | £ 2xW=10%2— J

il

* You may wish to ask your child questions such as the following as you observe your child at work :

= When you multiply with 1, which number is the product ?
- When you mulliply any number by 0, which number is the product ?




Multiplying by 10,100 and 1,000
You can use a basic fact and a pattern to find the product.
TH | H ) 0
A 4x1=4 [Think : Use the basic fact 4 % 1=4)
4 0 4x10=40 [Put1zeroatthe end)
4 0 O 4x100=400  (Put2zeroesat the end)
40 0 O 4%1,000 = 4,000 (Put3zeroesat the end)
Look for a pattern of zeroes,
Example 3
Fillin the blanks below.
a. 6x10=— b. 2%x100 =—— c. 7%x1,000 = S
d. 21x10=—— ) ) em— ¢ FOXI00E
g. 90=9x — | hMs———x1} g, ——-X'I.UUD:SO,QUUE
Solution [¥] |
a. 60 b. 200 c. 7,000 |
d. 210 e. 500 f. 7,000
g- 10 ~ h.10 i. 50
l M your understanding
# What is the value of each of the following.
a. 1,000’(5: i b. - :1DU)<1
i} ¢ 30x10=——— d 800=8x
o e 190=—— %19 f. 20000= —— x1,000

Notes for parents :

« Let your child discover the pattern of zeroes when hefshe multiply by 10 , 100 and 1,000.

%)




Unit5 | Concept 2

m Multiplying by multiples of 10 , 100 and 1,000

Samy and his fatherare shopping at a music store.
They are picking out some CDs to buy.

The store displays their CDs in display racks. Each rack
holds 300 CDs.How many CDs can 4 racks hold ?

Multiply 4 x 300 =n |

300 is a multiple of 100. When multiplying a multiple of 10,100 or 1,000, you can use basic
facts and patterns of zeroes to help you multiply.

4x3=12 =— basicfact.

4x30=120 The product has the same number of zeroes as the factor. Unless the basic
fact has a zeroin the product.

4x300=1,200

solution [¥] Fourracks can hold 1,200 CDs.

How to multiply by a multiple of 10,100 or 1,000 ?

|-' — Multiply 6x700 r Multiply 5x 9,000
Circle the fact. %x700 || Circlethe fact. G£¢>.00c|1
v |
Find the product. 42 Find the product. 45 |||
A Y |
Count the zeroesin the factors. 2 l Count t+he zeroesinthe factors. 3 ||
Y ™Yy
Write trtxat number of zeroes 42 00 Write that number of zeroes 45 000
in the product. in the product.
Add cor}lmas,ifneeded. 4,200 Add cor'nmas, if needed. 45,000
— Inashortway, —— | | — Inashortway, ———
/o S
6 x 700 = 4,200 \ x 9,000 = 45,000
Fil i P
42 45

« Lel your child find the basic multiplication fact first. Then ask him/her to find the number of zeroes needed in
the product and write the same number of zeroes to the right of the basic fact product.



Example 6

Use basic facts and patterns to find each product,

a. 5x7 b. 9x b
5x70 9 x 60
5x 700 ‘ 9 x 600
5x 7,000 9 x 6,000
d. 9 x 40 | e. 7%300
Solution [*/]
a, 5x7=35 ‘ b. 9x 6 =54
5 x 70 = 350 9 x 60 = 540
5 x 700 = 3,500 9 x 600 = 5,400

5x7000=35000 | 9 x 6,000 = 54,000

d. 9 x 40 =360 e. 7x300=2100

Example / ——
Fillin the blanks below.

a. 9% =270

c. x 6,000 = 18,000
colution [/]

a. 9x30=270

c. 3% 6,000 =18,000

Choose the correct answer.

- your understanding

{}sﬁ:_‘(om_'sm‘f

| c. 5x8 . What basic
5% 80 fact can I use ?
5x 800 « How many
| 5x 8,000  zeroes should
' be in the
f. 8 x 6,000 product 4
| ¢ 5x8=40
5 x 80 = 400
5 x 800 = 4,000

5 x 8,000 = 40,000

f. 8 x 6,000 = 48,000

x 8 = 3,200

d. 500 x = 4,500

h. 400 x8 = 3,200
d. 500 x 9 = 4,500

a. Whatis 400 %57 ' b. x 5=250 c. 300 x =1.800
A. 20 B. 200 A. 5 B. 25 l A. b6 B. 60
C. 2,000 D. 20,000 C. 50 D. 500 | C. 600 D. 6,000
rotes for parents

| 32



CERE 5-4 Commutative Property of Multiplication

2 8 5-5 Patterns of Multiplying by 10s
5-6 Review Exploring Patterns in Multiplication

OREMEMBER @ UNDLRSTAND  QAPPLY &% PROBLEM SOLVING {11 From the school book

1. Apply the Commutative Property of Multiplication to complete each equation.
-

a. @5 x7=————x5 b. (120x————=6x20

c. 34x ———=21x34 d. 6x4=bx

e. 23x9=— x 23 f WPRT=Y

g ——x15=15x1 | Ap—— & T — x 9
}, 4% ———=5% — jo OX——— = - x 0

Apply the Commutative Property of Multiplication to find the unknown value.

2.

; a. [133x4=4x3a b. dbx9=9x8 —
c. ax7=7x8 d. 5x9=9xb- o
e. 16xa=7x16 f. 5x93=bx5 —
g.16xk=1x16 h. 3*xm=100x3 —x —  ——
L axn=7%x4—— — j. 1x4=4xa

3. Mental Math Number Talk Look at the problems below. Solve them mentally.

t a. [15x1 b. (1112x1 c. 11672x1
d. (118x0 e [116x0 f. 11758x0
g. 0x230 h. 1x356 i. 0x43
4 What is the value of each of the following.
) a. 5x10= B b. (1100x5= c. 3x1,000=
d. O ——=1000x2 e. [11700=7x f. M9x— =9,000
g. 19,000 = x19 hi ———=%10=50 i 17x =1,700

j. Challenge: (11 4x10,000 =



Lesson 3 @REMEMBIR @ L1 1 11k [T o PROBLEM SOLYING

5. Use mental math to complete.

a. 8xé6=0_ b. 4x3=[ c. 6x5= d. 5x4=
Bx60=1" 4x30=" 6x50= 5x 40 =
8x600=! 4x300="" 6x500="" 5x400=
8x6,000="" 4x3000=""_ 6x5,000= . 5x4000=""

6. Use mental math. Write the basic fact and use a pattern to find the product.

a. 6x400 b. 7 % 4,000 c. 3x600 d. 5x600

h. 3 x3,000

e. 7x 6,000 f. 6x90 g. 3x7,000

7. Apply the strategies you have learned to solve the problems.

4, (D500 X3 = —— b. (14x40=

c. [218000x5=— d. 1600x3=3x%X -~

e [500% — =3500 f 6000x —  =24,000
g. - x900=1800 h. x 70 = 280
i. 400x- —— =3,600 j. 3x500=-

8. Match equal products.

| 3000x5 | [ sx300 | [ s0x3 |

30x5 | | 3x1000  5x3000 } [ 3x 500
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Story Problems

9 () Mr. Saleh has 24 beans. Write an equation using the commutative property of
© multiplication to describe two ways he can arrange his beans.

10. Bassem has 20 apples. write an equation using the commutative property
of multiplication to describe two ways he can arrange the apples.

11. Noha has 18 stamps. Write an equation using the commutative property
of multiplication to describe two ways she can arrange her stamps.

12. () Ahmed has 48 toy cars and wants to display them in his room.
He wants to arrange them in equal rows and equal columns.
How can he display his cars ? Draw your solution.

13. The fastest man in the world is Usain Bolt. He can run about 44 kilometers per hour for short
** distances.One of the fastest cars in the world can move 10 times faster than Usain Bolt.

What is the speed of this car ?




Lesson 3 @REMIMBER <310 (11 4 <& PROBLEM SOLVING

14. Amusic store displays CDs on racks. If each rack holds 200 CDs, how many CDs do 3 racks

hold ?

15. At the video game store, one display shelf holds 200 CDs.One display case h
Which holds more CDs, 5 shelves or 3 cases ? Explain your thinking.

olds 300 CDs.

—_—

16 At a computer super store, there are 40 display tables. Each table has 6 com
programs and 10 games. How many programs and games are there ?

puter

17. Write Math What's theError?
Amal says that 5 x 800 = 400
Describe her error. Write the correct answer.

r - Enrich your knowledge —_
| Multiply 30 x 50

| Usea basic fact to solve
i
|

® Challenge

1.8. Find each product.

Factors Product

a. 20x 40 b. 30 x 500
3x5 = 15 <—Basic fact
c. 80x2,000 d. 600 x200 30x50 = 1,500
bt t
1zero 1zero 2 zeroes




Multiple Choice Questions

Choose the correct answer;

1. 6x5= X b 2, 34x0=
A 6 A1 B. 34
C4 C.0 D. 43

3. 1x15= 4 51x100 =
A1 B. 15 A. 5100 B. 510
C.O D. 16 C. 51,000 D. O

5. |fax31=31’<9,thena'—' 6- 301)( o =30|100
A 7 B. 40 A. 10 B. 100
e | D. 9 C. 1.000 D. O

7. 3% 500= 8. x 3,000 = 21,000
A. 3,500 B. 15,000 A 7 B. 70
C. 1,500 D. 800 C. 700 D. 7,000

90 6)( :420 10: 20)‘(50: B S
A. 7,000 B. 700 A. 100 B. 1,000
C. 70 D. 7 C. 10,000 D. 10

11. Determine which choice best shows the commutative property of multiplication,

A 3xb6=6x3
C. 3x60=180

B. 3%1=3
D. 3x0=0

12. Determine which choice best shows the identity property of multiplication.

A 0x46=0
C. I1xb6=6x1

B. 1x6=6
O, 2x6=56%2



m OREMEMBER @ UNOCRSTAND  QAPFEY &% PROBLEM SOLVING

13. Determine which choice best shows the zero property of multiplication.
o

A 1x5=5 B. 2x3=3x2
C. 6x100=600 D. 0x5=0
—
:Ién. Hany bought 3 mobiles, if the price of each one is 1,000 pounds, then the total price o
them equal———— pounds.
A. 3x100 B. 30
C. 1000x3 D. 1,000+ 3

=
15. The drama club is selling tickets for the school musical. There are 4 shows. They haye

500 tickets for each show. How many tickets are there to sell ?

A. 200 tickets B. 1,000 tickets
C. 900 tickets D. 2,000 tickets




5-7 Exploring More Patterns in Multiplication
5-8 Applying Patterns in Multiplication

m Associative property in multiplication

Suppose you make Super Cheesy Sandwiches
for 4 people. Each person gets 2 sandwiches.
Each sandwich has 2 slices of cheese.

How many slices of cheese will you need ?

; L Here are some ways to find the product
‘\,_-\' r* j__ of 4x2x2,

=1 e ¢
Al ‘L—'/
P ‘g‘

>

S'. {A:f Associative Property of Multiplication

a

Associative Property states that when you group factors in different
ways, the product is the same.

Use parentheses to group the factors you multiply first.

S555 Summ | mmEmEmEm

4x2)x2=M tx@x2-m
v E

| 8 x2=16 Lx 4 =16 J

Another Example :

Here are some ways to find 4 x 2 x 3

ce eoe o ©cos eee Ifthereareno '
Se eoe ee L... e Qf;ﬂoulf)::r;?l s,\;]mggls,
ce e ee ..‘ l‘. choose

& 1 any two factors to
Seee/ee eee|eee @ Ui |

10

Bl

3%

7 gy

! Lx2x 3
lter %3 fix [L??] L Try4x3first |
N 12x2=24

8 X 3 -— 21} 4 % 6 - 24 bl S, T van

Notes for parents :
* Your child may forget to multiply by the third factor.

To check, ask your child to group the factors in a different way and multiply again



e e e i e e, T
= ——— _____HH-

Example ) ——
i s first:

Solve each problem. Multiply the partinthe parenthese
b. 10% (5% 3]

a. [3x2]x9

Solution [¥)
b. 10 x [5 x 3] =10 x 15 =150

a. [3x2)x9=6x9=54

\\

If there areng
parentheses, yo, an
choose which Paircf

numbers to multiply firg

Place parentheses to show one way to find
the product. Then show another way to use

parentheses to find the product.

a. 3x2x5 b, 4x10x2

Solution [V

a. 3x2x5=[3x2]x5 b. 4x10x2=[4x10] x2
=6x5=30 =40x2=80

Or 3x2x5=3x[2x5) ‘ Or 4x10x2=4x(10x2]
=3x10=30 1 =4x20=80

Example 3 s,

fati iplication to solve the Hint

Apply the associative property of multiplica : T —

problems. Rewrite the factors in another order if helpful: commutative propert

a. 3x7x2 b. 4x8x2 to multiply the sma|

’ factors first,

Solution [E!

a. 3x7x2=3x2x7 [Commutativeproperty] b. 4x8x2=8x4x2 [Commutative proper,
=(3x2]x7 [Associative property] =8 x [4x2] [Associative proper
=b6x7=42 =8x8=64

Notes for parents :
- After your child has reviewed the commutative property of multiplication, ask him/her to predict whethert
1 make a difference which two factors they mulliplicd firstin 8 x 4 x 2,
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example 4

Noha bought 5 packs of water bottles. Each pack had 4 rows of 8 bottles each.
How many water bottles did Noha buy ?

golution @

Noha bought =5x 4 x 8
=[5x4)x8
=20 x 8 =160 bottles.

Example >
Use the grouping or associative property of multiplication and complete.
a. [6x2)x5=6x[ x5] ‘ b. (20x ]x10=20x[15x10]

c. 7x(5x2)=[7x ]x2 d. 315x[16x120)=( x ]x120

Solution @
a. [6x2)x5=6x[2x5] b. (20 x15) x 10 =20 x (15 % 10)

c. 7x[5x2]=(7x5)x2 d. 315 x [16 x 120) = (315 x 16] x 120

VTT, [=fe

<! your understanding

1. Find each product.

C[ax2)x 6=

o

. 5x[5x2]= -

C. 8x5x2=

d. 3x2x8=

e. 2x?x4:

2. Name two ways you can group 2 x 5 x 3 to find the product.
Are the products the same ? Explain.

L =

* Ask your child, without multiplying, tell which is greater (5 X 7) X 2 or (7 x 2) x 5. Explain.



multiplicatigy,

m Decomposing and associative property of
G
ore how to multiply by multiples of10,100 and 1,000usinga basic facy

« You have learned bef

and a pattern of zeroes.
« Here you willuse decomposing and associative property to solve problems.
______———'——'__'___-—-—'—'—_-_'___-__""--‘_\
Example 56 — ———— |
Find the product: 8 x 30
— Another Way —_
Solution [¥] g
8 x 30 = 240

8 x 30 =8x[3x10) (Decompose 30 to 3 x 10]
5= (8x3]x10 (Associative Property)

\_]_/
L

3)x
= 2410
=240
Example 7 -

Decompose each multiple of 10,100 or 1,000 before multiplying.
mbers you would multiply first, and then write the answer.

c. 4x5,000

Draw parentheses around the nu
l

a. 2x70 b, 7x400

Solution @]
a. 2 x 70 =2x[7x10)
xm:[2x7]x1[]
=14x10=140

b. 7 x 400 =7x[4x100)

@@-—*[W&]xwo

=28x100=2,800

c. 4 % 5000 =4x[5x1,000]
= [4 x 5] x 1,000

x ({00
=20 x 1,000 = 20,000

Notes for parents :

« The product has the same number of zeroes as the number of zeroes in the factor with zeroes unless th

basic fact has a zero.
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Example &
Solve using a strategy you prefer.
oy 2Rl c. 4,000%6

¢olution [g]
e

a. 9x60 =‘540 b. 600x7 c. 4000x6
o \\K = (1,000 x 4] x 6
54/ ) bt =1,000 x (4 x 4]
; = 1,000 x 24
S = 24,000

600 x 7 = 4,200
/’

.7

m your understanding

o =

Use decomposing and associative property to find each product.

a. Lx40=

b, 5x500=—7F—7= —

c. 2x8,000=— ~ =

* Let your child solve using strategy he/she prefer.




L 5-7 Exploring More Patterns in Multiplication
jcation

29 5-8 Applying Patterns in Multiplic

{11 From the schoolbook

@ REMEMBER @ UNDIRSTAND  OAFPLY &% PROBLEM SOLVING

ntheses first. Show your work.

1. Solve each problem. Multiply the part in the pare
e
b, MOEx2)x3=——

o R ksl
c. M2x([3x4)= d. sx[2x3)= -
o PR RIE e ¢ 9x[2x3)=—-
g. Bx5)x7= h 6x[2x4)=——
i. 8x[6x5)= j. (4x5)x7=—

2. Applying the associative property of multiplication to solve the problems.
@

b, [D4x6%x2=———

| DI B B Y ee——

| c M2x9x3=—— d M3x2x3=— —

f e 4x2x3=——— f Exhxgfs—

! g 6x5x1=—o h. 8x4x5= — —
i. 9x5x6=—— jo 2x5x14=———

] 3 Place parentheses to show one way to find the product. Then show one other way to use

parentheses to find the product

a. (15x4x2=

b. (D3x6x2=

C. 2x3x4=__ . .

.' d.8xsx0s oo . e

e 5x2x3=______ - .
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4. Write the missing number.

e

a [Bx4)x2=8x[ x2] b. 5x(10x2)=[5% ]x2
c. 2x[6x5)=(2x6)x d. 3x9)x5= x[9x5)
e. 5x14x2=[5x ]x14 f.3x6x2=6x( x2

e ——

5. Write the missing factor in the box.

! 2] b. LI c. B d.
70 00
10 100
f. O h.
" 5000
10 1,000
6. Write how many to make up each number.
©
a. (U30=———Tens b. 180=———— Tens
c. [11160=- Tens d. 1140 =—Tens
e, £3120= Tens f. tRMN0=- Tens
g. 600=-—— Hundreds h. 5000=—— Thousands
i. 2,000= Thousands j. 900 = ———Hundreds

7. Multiplying by multiples 10 , 100 and 1,000 Use decomposing and the Associative
Q
Property of Multiplication to solve each problem.

a. 7x20= = o
W T [ e N — .

c 4x700= —— —_— S T
d L13x4000=—— .




Lesson 4 OREMEMBER @ UNDERSTAND ~ OQIUIY  o% PROBLEM SOLVING

B PRI e e
23— -—
g. 800x7= R
h. 50x8= e
T

8. Decompose each multiple of 10 , 100 or 1,000 before multiplying. Draw parentheses

* around the numbers you would multiply first, and then write the answer.
a. [A5x70= S .
b. (18x30= s -
c. (14x40= —
d 6x60= ——MM —M —M ___.
e. 7x7000=

9. Solve using a strategy you prefer.

. a. (06x90= =
b. C17000x6=
c. L1600x4=
d. 4000x5= _—
e. 900x3=

10. (11 Aisha bought 3 packs of water bottles. Each pack had 3 rows of
4 water bottles. How many water bottles did Aisha buy ?

11. Ahmed has 5 packs of gum. Each pack has 6 pieces, If Mona has
the same of Ahmed. How much gum do Mona and Ahmed have ?
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12. Hany works 20 hours a week. If he makes L.E. 6 per hour.
©  How much does Hany make in two weeks ?

e —

13, Angy runs 2 kilometers a day.If she runs five days a week.
How many kilometers does she run in 10 weeks ?

14, Patricrides his bicycle 4 km per day. If he rides every day for three weeks.
C.

How farwillheride ?

15. (1 Review each student’s work.Then,answer

“  the questions.
How is Heba's and Ashraf's work the same ?
How are they different ? Which student's

strategy do you prefer ? Why ?

16. (2 Writingabout Math
** Use what you have learned about the Associative Property of Multiplication to help Farouk

solve the problem. Use words and numbers to explain your thinking.

Farouk is trying to solve the problem 2 x 7 x 4

He starts by solving 2 x 7 and gets 14. Place parentheses to show how Farouk started this
problem.2 x 7 x 4

Next, he writes 14 x 4 but he does not know how to solve that multiplication problem.
Can you show Farouk another way to solve the problem?

® Challenge

.’L.7. Marawan's mom gives him L.E.5 every day for lunch at school. If he only pays L.E. 3 for
' lunch, how much will he save in 10 weeks if he goes to school five days weekly ?




%\ O
\\) @ Multiple Choice Questions |

Choose the correct answer.

1, 2x[5x4)=2x -~ — x4 9 ZHB[ = e
" & B. 4 A. 3x40%10 B. 3+50
€. 5 D. 40 C. 3x5x0 D. 3x5x10
3.3000x5= —- - 4, 600= ———— Hundreds
" A 15000 B. 35,000 " A 60 B. 600
C. 3,005 D. 1,500 C. 6 D. 40,000
5. The missing factor in the box B, ZH3HGDE s
= &
equals - —— &
A. 7,000 B. 70 A. 234 B. 9
C. 700 D.7 /10 C. 24 D. 10
7 2xb)%3= - 8. Marawan bought 5 packs of water
A. 2x[6+3) ** bottles. Each pack had 2 rows of 4 water
B. [2+6)x3 bottles. How many water bottles did
C. 43 Marawan buy ?
D. 12x3 A 8 B. 10
) C. 40 D. 100
9; 5,000 = 10. [300 » 7] X D B —
F: A 1,000 B. 2Thousands A 2100 B. 3,070
s C. 10 Hundreds D. 10 Thousands C. zero D. 307

11. Khalid used the Associative Property to rewrite and correctly evaluate this expression:

6,000 x7

Which equation was most likely part of Khalid's work ?

A. 1,000 x13=1,300 B. 1,000 x 42 = 4,200
C. 1,000 x 13 =13,000 D. 1,000 x 42 = 42,000



Concept 2 Assessment | Units

1. put (/) to the correct answer and (X) to the incorrect answer.
® 4 3x8=8x3iscalleda Commutative property of Addition.

b. The product of 1and any number is the same number.

d. 3x5)x6=3x[5x%8].

[
(
¢. 1,000 x 2 =2Hundreds. [
[
e. 500 =5Hundreds. (

[

f 5x 200 =10 Thousands.

e ————
—_—

2. Choose the correct answer.

* a 3x7= ——x3
A 3 B. 7 C. 10 D. 37
b. 29x0= ———
A. zero B. 29 C. 290 D. 209
c. 345x = 345,000
A. 10 B. 100 C. 1,000 D. 1
d. 3x500= ——w
A. 3,500 B. 3x5x100 C. 15x10 D. 15,000
e. 2x3]x4=
A. 234 B. 64 C. 2+3)x4 D. 2x(3x4)

f. Which statement best describes the pattern of products created by multiplying
one-digit whole numbers by 10 ?
A.The product always has a 0 in the Ones place.
B.The product always has a 0 in the Tens place.
C.The product s always a three-digit number.
D.The product is always a one-digit number.

(33' Complete.
a. 4x1000= — b. _x15=15x11
c. 35x = zero d 2x3)x4=
e D= —————Tons: f. Bx300=8Bx3%X —
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Assessment

é I 4. compare. Write (>, <or=).
b. 6+0L_I ]6><0

Y a sx7x2[ ]sx(7x2) ’
%100
c. 15000 | 150 Hundreds d. 3x30(__J9

-— e
5. Find the unknown value.
. a.ax7=7x8 b. 4xn=7x4
€. [2x7)x5=2x[bx5) I d. 3x500=3x5xm
—

6. Solve using a strategy you prefer:
»

* a. 5000x6 b. 4 x 80

7. Applying the associative property of multiplication to solve the problems.
@]

a. 2x9x3 b. 2x5x14

s

8. Ashrafruns 3 kilometers a day. If he runs five days a week. How many kilometers does he

O ;
runin 10 weeks ?

—_

9 Youssef has 20 apples. Wnte an equation using commutative property of multiplication ,
© describe two ways he can arrange the apples.

—_—

10. Salwa bought 3 packs of water bottles. Each pack had 4 rows of 2 water bottles
How many water bottles did Salwa buy ?

11. Solve mentally.

o
a. 12x1 b. 16x0
c. 0x758 ! d. 1x 251

:1.2. Solve each problem. Multiplying the part in the parentheses first.

a. 10x[6x5) ! b. 3x2)x7
c [24x1)x0 d. [0x971) x1



Unit Five Assessment

1, put (v) to the correct answer and (X) to the incorrect answer:

{ a. 7times greaterthan 2is 14 [
b. 1f20 =Ax4,thenA =14

¢. The multiplicative comparison statement for (7 [ 777 [7[7]
is"351s 5 times greater than 7"

d. 2x[7x4)=(2x7) x4
e. 7000 =7 Hundreds.

f. 3x500=3x5x1,000

2. Choose the correct answer.

a. 5x9=9x

. A 5 B. 9 C. 14 D. 4

b. 375 % = 37,500

. A 10 B. 100 C. 1,000 D. 10,000
c. 0x25=

. A 25 B. 1 C.o D. 250

d. Which equation would be the best to include in an explanation of the Commutative
' Property of Multiplication ?

A 3x5=5x3 B. 4x16=[4x11]+[4x5)]

C. (bx4)x2=6x[4x2) D. 5x1=5

e. Which equation would be the best to include in an explanation of the Associative
Property of Multiplication ?
A [9x12)x0=0 B. [4x6)x1=4xb
C 3x7)x2=3x(7x2) D. 7x6=6x7

f. Abox has 7 green balls. The box has 5 times as many as yellow balls as green balls,

How many yellow balls are in the box ?
A. 12 B. 35 C 2 D. 75
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(93]

- Complete.

a. 30is times greater than 6.

b. The multiplicative equation of 8 + 8 + 8 + 8+ 8 = 4015
€. 7x100 = d. 3,200= Hundreds.

8. x 17 = zero f IFAx7=21,thenA=

4. Compare. Write (> , < or =).

a. 3x50 3x5x10 b. 14,000 14 Hundreds
C. 7x5 5x7 d. 3+0 3x0
S. Amodelis shown. 54
Write an equation which is the best _ —
represented by this model. 9 | 21% 9|92 19%

6. Write the equation 3 + 3 + 3 + 3 = 12 by using multiplication.

7. Sameh has5 apples. His brother Maged has 20 apples. How many times more apples does
Maged have ?

== — = = - = ——

8. Ahotel has 28 floors. The hotel has 7 times as many floors as the building next door.
How many floors does the building next door have ?

9. Minaruns 5 kilometers a day. If he runs 6 days a week. How many kilometers does he runin
7 weeks ?

19. Manal has 30 pens. Write an equation using a Commutative Property of Multiplication to
describe two ways she can arrange the pens.

11. Apply the properties of multiplication to solve the problems.
a. 3x2x4 b. 5x7x2

12. Find the unknown value.
a. 7x5000=7x5xa b. [3X7]><6:3><[b><6]

C. 9x4=4LXxm , d. 248 x n = zero

52 |



Theme 2 | Mathematical Operations and
Algebraic Thinking

Factors and Multiples

» Concept 1 : Understanding Factors
» Concept 2 : Understanding Multiples
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$° Pandas are BIG
: eaters-every _
day they fill their ==
tummies forupto  §%
12 hours, shifting
up to 12 Rilograms
of bamboo ! Y
About how many Sl
kilograms of
bamboo does
a panda eat in
2 days, 3 days,
I 4 days, and a week ?
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4 Hippos are considered
the second largest
- land animal on Earth
(first place goes to
the elephant!). Males
measures 1 m and a half
4 tall, and can weigh up
| 3,200 kg. That's as much
as three small cars !
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. Concept Overview

In concept1:

Understanding Factors,
students explore the
concept of factors. They
use their knowledge

of multiplication facts,
observation of patterns
in skip counting, and

'~ numbersense to build

' i critical understanding of
the relationship between
- numbers and their factors.
' They identify factors,

& common factors,and
- greatest common factors
| between two numbers.

This work prepares them
for working with larger
numbers and fractions.

P8 [ L R g I el

Leﬁzon Lesson Name | Vocabulary Terms Learning Objectives
Lesson1 | é-1ldentifying Factor-Factorpairs | » Students will define factors of a whole number.
Factors of Whole « Students will find all factors of a given number between
Numbers 0:and 100.
« Students will explain patterns they observe in numbers
that have 2,5 or10 as factors.
6-2 Prime and Composite - Factors - « Students will find all factors of a given number between
Composite Prime 0and 100.
Numbers « Students will explain patterns they observe in numbers
that have 3, é or 9 as factors.
« Students will determine if a number is prime or composite.
Lesson2 | 6-3 Greatest Common factor - Factor - | « Students will find common factors between two whole
Common Factor | Greatest common factor | numbers.
(GCF) « Students will identify the greatest common factor
between two whole numbers.




CCERBIN  6-1 |dentifying Factors of Whole Numbers
6-2 Prime and Composite Numbers

EELITN rcontity factors of wholo numbors.

AfactorIs a number multiplled by another number to geta product,

» Examples:
2 x 9 =18 |1 x 7= 7|3 x10 = 3
L F Ykt ¥kt

factor X factor = Product | factor X factor = Product | factor X factor = Prodycy

Many numbers can be broken Into factors In different ways.,

Arrays. 16 =4 x4 16=2x8 16=1x14

Enas has 12 pots of flowers for her box garden,
How many ways can she arrange them In equal rows ?
Make all the arrays you can with 12 tiles to show

1
o
allthe factors of the number12, , o
o
oo ]
| h .a. b == =
QUK. jmmmm | (EEE | ,mmEooEm | Som 2
A e ‘mEm CETTETD mm -
W scmn | oxosn | axesn | sxaen m
I Factors3,4 | Factors4,3 |  Factors2,6 Factors 6,2 L
12 2x1=12
110 Factors 12,1
1x12=12
Factors 1,12

50, Enas can arrange her pots In 6 dlfferent ways,
The factorsof12are1,2,3,4,6and 12. There are 6 factors or 3 factor palrs,

Factor tree - Factor rainbow - Factor T-chart —
12 . AP
; ” 1 12
123!.612 1234612 3 b

Notes for parents :

# Lotyour child find tho factors of 15. Ask him/Mor to

raw arrays Lo holp linding faclors
and holp him/Mer show the faclors

by factor troo, factor ralnbow and factor T-chart,
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example 1

Make as many arrays as you can to show all factors of 36. Show the factors on factor tree,
factor rainbow ,and factor T-chart.

¢olution @J

1x36=36

36
e Elalalelalelelede el el e L e L R EEEEE T T
This array has a length of 36 and a width of 1. So, 36 and 1 are factors of 36,

2%x18=36

18

pEEEEEDENENNEEEEEEN
ppppnEENNNNENEEEEE

This array has a length of 18 and a width of 2.

So,18 and 2 are factors of 36.

3x12=36

12
ENNNEEEEEEEE
SENNNENEEEEEE
ENENENEEEEEE
This array has a length of 12 and a width of 3.

So,12 and 3 are factors of 36.

4x9=36

9
NEEEEEEENE
,IINNNEEEE
DEENEEEEE
IENENEEEEE

Thisarray has a length of 9 and a width of 4.

So,9 and 4 are factors of 36.

6

So,The factorsof 36are1,2,3,4,6,9,12,18 and 36.

6x6=36

b
ooooon
ENEEEE
EEEEEE
EEEEEN
ooooon
ENEEEN

This array has a length of 6 and a width of 6.
So, 6 and 6 are factors of 36.

Are there other ways the arrays can be formed and still show the same factors ? Explain.

—— Factortree
36

N

LI23469121836

—— Factorrainbow —

/)

12346691218 36

* Reinforce your child understanding by finding more factors of numbers.

1
2
3
i
b

—— Factor T-chart —

36
18
12
9
6




e
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How can you find all the factor

s of a number ?

|
I Helpfull Hint: —
- or pairof 1 and itself.

[ Is a factor of any number. Every number will have a fact
. : oo _ ——Examples.!
2 __ Isafactor, if the digit in the ones place is even [The ones digitis: 8 24,48
SR 5 R —— _H____r#,ﬂ____h_
3 _t.15a factor, if the sum of the digits is a number that exists when skip i; 9,18,24
| = | couniing® e S ——
4. —» |5 a factor, if the number is existing when skip counting by 4s. 1| 8,12,16
5 —* Is a factor, if the ones digitis 0 or 5. | 5,15,20
6 —]* s a factor, if the number is even and has a factor 3. 12,18,24 ‘
e __I Is a factor, if the sum of the digits is a number that exists when skip i
= 9,27,45 |
L | countingby9s. |
| | |
20,50,100
|

1O -—||'-- Is a factor, if the ones digit is 0.

Example 2
Answer the following questions.

a. Is 3 a factor of 29 ? Explain how do you know.
b. Is9 a factor of 54 ? Explain how do you know.

c. Is 6 a factor of 48 ? Explain how do you know.

Solution @

a. No.because 2 +9 = 11and 11is a number does not exist when skip counting by 3s.

b. Yes.because 5+ 4 =9 and 9 is a number existing when skip counting by 9s.

c. Yes.because 48 is even and 4 + 8 = 12 and 12 is a number existing when skip counting by 3s.

Notes for parents :
Ask your child more questions of factors such as : Is 2 a factor of 14 ? Is 5 a factor of 61 ?

and more questions, then let your child explain how did he/she know.

58]
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Example 3
Find all the factors of 48.

¢olution LQ]

To find all the factors of a number, make an organized list of multiplicat o ok} Then et
sentences until your factors start to repeat. (Ignore any sentences that won .
the factors. Find all the factors of 48.

48 =1x 48 [1is a factor of every whole number]

2 %24 (48 s even)]
3x16 [4+ 8= 12and 12 s existing when skip counting by 35.]
4 x12 [48is existing when skip counting by 4s.]

—Lx—
bx8 [48iseven,and 3isa factor]

—Fr—
8x 6 [«— STOP!Repeatoféx 8.

ion sentences. Write

The factors of 48 are1,2,3,4,6,8,12,16, 24 and 48.There are 5 factor pairs.

Z di=di] your understanding

| 2. Choose the correct answer.

a. Sis afactorof

| A. 50 B. 51 C. 52 D. 53
| b. Which numberisafactorof20? —

A b B. 10 C. 30 D. 40

c. The number1lhas - — factors.

A. 2 B. 3 C &4 D. 5
l d. Thenumber32 has - - factors.
' A. 4 B. 6 C. 8 D. 10
‘[ e. Whichis the factor of every number? - _
| A. 0 B. 1 C. 2 D. 10
L

* Ask your child to find all the factors of 72 by using the helpful hint to check all the factors.

PN —



m Prime and composite numbers

Vou can use the factors of a number to tell if it is a prime number or a composite number,

» A Prime number is a whole number that

has exactly two different factors,1and
itself.

p Example:

5is an example of a prime number. It has
only two different factors,1and 5. It has
only one rectangular array.

EEEEE 1x5=5

p More examples of prime numbers

17,29,31
[ Number Factors
17 1,17
29 1,29
31 1,31 J

» A Composite number is a whole number
greater than 1that has more than two factoyg

» Example:
6 is an example of a composite number. |t

factors are1,2,3and 6./t has more than
one rectangular array.

EEEEEE 1x6=6

EmE 2*3=¢

» More examples of composite numbers
15,18,25

[ Number Factors
15 1,3,5,15
18 1,2:3:6,7,18
25 145,25

= J

* The number 1is neither prime nor composite because it has only ONE factor.

» 2is the smallest prime number.

* All prime numbers are odd numbers except 2,

* The following table shows the prime numbers which lie between1and100:

2 3 5 P4

M| B[ 7 [ 19 [ 23

29 31 37 41

43 47 53 59 61

67 | 73

79 83 89 97

—

Notes for parents :

* Use the 100-chart to check the prime and the composite numbers a

knew the difference between them,

nd let your child identify how he/she
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gxample 4 — Po— —

check each of the following numbersiifitis a prime ora composite number,

a9 b. 13 c. 19

¢olution [?j

a. 9hasmore than two factors (1,3,9] !

g
LT 3

ooo
O00w
oono

So, 9 is a composite number,

b. 13 has exactly two different factors 1,13

| ¢ 19has exactly two different factors 1,19
13
TENREEEENEEEEE

So,13is a prime number,

19
TENEEEENNENNEEEEREEE

So,19is a prime number.

M 411-4,¢ your understanding

‘ Choose the correct answer,
| a. — isaprime number.
A9 B. 16 C. 19 D. 2
' b. is a prime number.

A1 B. 6 C7 D. 12
C. — — isn'taprime number.

A 1 B. 3 C.5 D. 7
d. — —— isacomposite number,
A B. 3 C. 13 D. 15
e — isn‘t a composite number,

AN B. 12 C. 14 D. 20
f. The smallest prime numberis

A 0 B. 1 C. 2 D. 3
9. The smallest odd prime numberis

A. 0 B. 1 C 2 D. 3
h. The prime number between 44 and 50 is

A. 45 B. 46 C. 47 D. 49

* Give your child a group of numbers and ask him/her to identify the prime numbers and the composite
numbers.



FUUHT | -1 Identifying Factors of Whole Numbers
30 6-2 Prime and Composite Numbers

OREMEMDER @ UNUEISIAND  @ANKY &% PROBLEM SOLVING | L1 From the schaoj

First : Exercises on factors

1. Draw arrays for each number to show all the factors.
L]

a. 9

——————

b. 16

c 24

d. 30
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(. petermine if the given number has 2 as a factor; 5 as a factor; or 10 as a factor.

2
¢ CI[’Cle yes or no.
~ | Number Is2afactor? Is5afactor? Is10 a factor ?
a. | 70 Yes No Yes No Yes No
b. 15 Yes No Yes No Yes No
6l 26 Yes No Yes No Yes No
d. 17 Yes No Yes No Yes No
3. 1. Highlight or circle the factors of the numbers listed. :
“ a 15 2 5 10 b. 30: 2 5 10
c. 12: 2 5. 10 d. 25; 2 5 10
e. 36! 2 5 10
4. Circle the factors of the numbers listed. -
“ale: 1 2 3 4 5 6 7 8 9 10
b.20: 1 2 3 4 5 4 7 8 9 10
c.28: 1 2 3 4 5 6 7 8 9 10
dS: 1 2 3 4 5 & 7 8 9 10
eé3: 1 2 3 4 5 & 7 8 9 10
5. Complete with"is a factor of" or"is not a factor of":
D a7 N b. 5 52
. 100 d. 3 36
e. 6— - 96 f.1 &7
g. &4 88 h.9— 27
i. 19 -19 J 8—— 40

6. Answer the following problems.
** a. Is2afactorof 23 ? How do you know ?

b. Is 5 a factor of 35?7 How do you know 7

c. (! Iséafactorof 847 How do you know?

d. (! 1s3afactorof 537 How do you know ?
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e. |s 4 afactorof 32 ? How do you know ?

f. Is7afactor of 48 ? How do you know ?

g. 111159 afactorof 63 ? How do you know ?

h. Is1a factorof 57 ? How do you know ?

i. Is Ba factorof 64 ? How do you know ?

T
7. Complete the following.
o
a. 8=1x =% b. 25=1x =5x—
The factors are: Thefactorsare:———
c. 20=1x =2X— =4 x d.33=1x =3x .
The factorsare:- Thefactorsare: ———MM —
e 42=1x =2x =3 =b6x%x
The factorsare:
f. 100=1x . SISy V) =Ex =10 x
The factors are: —

g. Find all the factors of the following and create a factor tree,

T-chart.
a. 12.There are 3 factor pairs.

Factors are :

— Factor tree — 1 Factor rainbow —

| i
1 }

a factor rainbow and a factor

— Factor T-chart ——
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b. (1120.There are 3 factor pairs,

Factorsare:— — - =S N

——— Factor tree

— Factor rainbow ———— Factor T-chart ——

c. [ 40.There are 4 factor pairs.

Factorsare: -_— o B
— Factor tree ————— Factor rainbow — 7 Factor T-chart =
d. L= 36.There are 5 factor pairs.
Factors are: — = L
— Factor rainbow ———— Factor T-chart

l—— Factor tree

2. List all the factors of each number. You may create a factor tree, a factor rainbow or
C
a factor T-chart.

a. 14 - - b. 11116

c. 38- d. 1125

e. 54 £, 21 | -
g. (148 h, 119 — e = o
13 j. 35—

A L&t .
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>, PROBLEM SOLYING

.‘fp Factor Riddles. Guess the number:
a. The numberis an even number between 1and 10.50m

What numberis it ?

b. (.2 The numberis an even number between 20 and 30. Some of its factors include

1, 2,4,7 and 14.What numberis it ?

c. The numberis an even number greater than 10.1t has 10 as a factor. Itis less than 30.

What numberisit ?

d. (.2 The numberis an even number greater than 40. It has 10 as a factor. It is less than 60,

What numberisit?

e. The numberis a two-digit number. It has 3 as a factor. Its tens digit is less than its ones

digit. One of its factor pairs is 4 and 6. What numberisit ?

f. {2 The numberis a two-digit number. It has 5 as a factor. Its tens digit is less thanits

ones digit. One of its factor pairs is 5 and 7. What numberis it ?

e of its factors include1,2and3

1.1. Writing About Math : Write three numbers that have 2,5 and 10 as factors.

What do the three numbers you wrote have in common ?

Second : Exercises on prime and composite numbers

12. Complete with "Prime" or "Composite".

a. 2is b. 4is c. 29is d. 3is
e. 5is f. 6is g. 7is h. 1is
i. 13is j- 12is k., 16is L. 23is

[66 ]
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13. complete.
™ is the only even prime number,

b. The prime number has two different factors which are and
c. The 2-digit prime number which is less than 13 is
d. The prime numbers between 60 and 70 are-

e. Thenumber37has - factorsanditisa-————— number.
f Thenumberi15isa-——— —numberbecauseithas———  factors,

S

14, List all the factors of each number. Then, write if the number is prime or composite.

b o s b. 19 S
c M23— - d. 37 IESE—
e. 1118 - - f. 32 -
g i dl——— h. 45 =
i, 350 —— j. 59 =
k. £322 . L 61
m. 231 = n. 146
0. L144 p. 329

15. (1 Prime Numbers less than 100. identify all of the prime numbers less than 100.
Use skip counting and factor patterns to help you eliminate composite numbers.

1. Circle 2 and cross out all other numbers that 91192193(94(95!96!97 (98199 100
you say when you skip count by 2s. 81/82|83|84|85|86|87|88(89|90

2. Circle3and cross out all othernumbersthat | 71|72 |73 |74 75|76 |77 |78 |79 | 80

you say when you skip count by 3s. 61 62|63 |64|65|66|67|68|69|70
51|52 |53|54(55|56|57|58|59%|60
Gl | 42 | 43 | 44 | 65| 46| 47 | 48| 49 |50
311323334 |35(36|37(38|39]|40

21(22(23|24(25(|26(27128|29(30
4, Circle7 and cross out all other numbers that ni1213(16]15116117118]19 |20

you say when you skip count by 7s. 112|3|4|5|6|7|8|9]|10

3. Circle 5 and cross out all other numbers that
you say when you skip count by 5s
[some are already crossed out).

5. Circle all numbers that remain except for1.
When you are finished, the circled numbers are prime and the crossed out numbers
are composite.
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if a number is prime or composite 7

16. Writing About Math. How doyou decide

s —_____-_"_"“‘“x\\
me numbersas2,3,7,1ang 13,

17 What's the Error. Ashraf listed the first five pri
Describe his error, Write the correct answer.

18. Writing About Math. The seats on the new ferry will be arranged in a rectangle |5 it
. better for the ferry to have 48 seats or 53 seats ? How do you know ? Would 49 Seats

agood idea ? Use numbers, words and pictures to explain your thinking.

® Challenge
1.9. Write all prime numbers which are less than 30

29. Write all prime numbers which are between 46 and 62

2.1. Write all composite numbers which are between 5 and 23

. — —




@ Multiple Choice Questions

choose the correct answer.

1. Allthe factors of 25are

2. All the factors of are1,2,3,6,
@

¢ A 1,5,20 B. 1,20,25 9and 18
€. 5,20,25 D. 1,5,25 A.9 B18 C3 D54
] i
3. 4isafactorof ——— 4, isafactorof20
‘a3 B. 38 ° A3 B. 5
.37 D. 40 C.8 D. 40

5. Which of the following is a factor
 of10?7-
A. 30 B. 20 C. 15 D. 5

g. The factor pair 3and 8 is for
the number ——

A5 B. 1 C. 12 D. 24

7. Thefactor pair ——— is for the number 21 8. 23 has—— factor pair.
“ A 2and10 B. 2and1 * A B. 2
C. 3and7 D. 5and4 €. 3 D. 4
?. 18has — . factors. 1(()). Which of the following is a prime
. number? ————
A 2 B. 4 C. 6 D. 8 A1 B. 3 G D. 15

11. Which of the following is a composite
f_.
number ?

A1 B. 31 C 33 D. 43

12. Which of the following is NOT a prime

number?
A 2 B. 5 C.7 D. 9

1.3. All the following numbers are composite

except —
A. b6 B. 67
C. 68 D. 69

14. Which statement is true ?

A. 1isa factor of only odd numbers.
B. 1lisanota factorofany number.
C. lisa factorof every number.

D. lisafactorofonly 0.




6-3 Greatest Common Factor

= B
" a 4 i
A scientist is setting up some study \gf P~ @ % \% - _)(
tanks.She has collected 18 identical £ %Aﬁ' (_ - \% b(%
e (. (o S
fish and 24 identical plants. She 3( - %ﬂ% » % B
wants all tanks to be alike and \% ~ %Gb( (s \% :b(%

contain as many fish and plants [28)K (‘_ - %‘ ¥ d
as possible. What is the greatest \% “-“D( »':9( .

number of tanks she can setup ?

Think : How can you find the common factors for 18 and 24
The greatest number of tanks she can setup is the greatest common

factor of 18 and 24.

« Common factors of two numbers are factors that are the same.

« The greatest common factor [GCF] of two numbers is the greatest
number that is a factor of both.

18

/)

1 2 3

6 9 B L
« Factorsof 18 :(1),(2],(3],6", 9 ,18
« Factorsof 24:(1,2/,|3], AE, 8,12 24

« Common factors:1,2,3,6

18

« The greatest common factor [GCF) : 6 E——

So, the greatest number of tanks is 6 tanks of 3 fish and
4 plants in each tank. Sl

Notes for parents :
« Tell your child that common factors and greatest common faclors are he!j{ul to solve
many problems in life.
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Example

Find all the common factors and GCF of each pair.

2. 12and 15 b. 16and 28 c. 7and

oluflon 9
a, 12 b ,6,12 Factors of 12 Factors of 15
D | 12 Q) ‘ 15
Common factors: 1, 3 2 6 3) | 5
4
GCF:3 ® _

b. 6:1),(2),(4), 8 , 16 Factors of 16 Factors of 28
28:\14(2),(4),7 , 14 , 28 @D | 11 @ | 28
Commonfactors: 1,2 , 4 @ 8 @ 14

@ | 4 @ | 7
GCF:4
Note that :
¢ 2:1}7 * 1 is the common factor of all
n whole numbers.
Common factor: 1 * All prime numbers has one
common factor that is 1. Such
GCF:1 as 7and 11.
zrm your understanding
Find all the common factors and GCF of :
a. 9and 12 b. 25and 15

L

* Give your child two numbers and let him/her find the common factors and the GCF of them such as
(5and 17) , (4 and 12).



- S
ﬁ_‘1
i e e e

1 List the factors of each number. Highlight or circle the common factors of each pair of

numbers.

a. 16and 20

Factorsof16: — ———

2 wie 175 | 74 1 RO

b. ~ 18and4

Factorsof18:- -

Factorsof4: -

c. (.'20and30

Factorsof 20 ;

Factorsof30: -

d. ' 17and22

Factorsof 17:

Factorsof 22:

e. . 21and 35

Factarsof 21:- - .

Factors of 35;

f.  36band42

Factors of 36

Factorsof42: -

f

72

QFPEMEMBEE @ .-

6-3 Greatest Common Factor

(o0 4

<& PROBLEM SOLVING

2y

{..1 From the school b,
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2, List the common factors of the given numbers.
(2]

a. 4and12 — - 0

b. (310and35——— . : -

c. and34——F———— — .

d. .118and 24-

e.2%5ad30—7m80 ——M88 —MM M

f. . 22and 44 -

g. b6and33 . ne s o

h. 45and 63 S

i. 9and23 e e R

3. Find the common factors and the greatest common factor (GCF) of :
&

a. band b6
Factors of 4 : = =

Factorsof 6: == = S

Common factors : GCF:

b. 10and 30
Factors of 10 : . R

Factorsof 30 : - B

Common factors: . GCF:

c. 40and 45

Factorsof40; — —— S

Factors of 45: —

Common factors: o GCF: - —




& PROBLEM SUI.E'I_P-I_G_ )

OREMENBER  @unniasiawy O NP

d. 54and18 | -
\

Factors of 54 ;

Factors of 18
GCF:

Common factors :

r e. 4Band 40
Factorsof48:

Factorsoféd:— ————

Common factors: R

4. Find the GCF of the given numbers.
o

a. Band 16

b. (1J12and18

c. [040and50

d. (1110and 45

———

e. [J10and 24

f. 45and 81

g. (140and 48

h. 133and

- —_—
—
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5. Use what you know about factors and common factors to solve each probiem.

3. Sylviahas 21 pencils and 14 erasers. She wants to put them in groups. What is the greatest
number of groups that can be made so that each group has the same number of items ?
How many pencils will be in each group ? How many erasers will be in each group ?

b. Thereare 40 girls and 32 boys who want to participate in lap on teams, If each team
must have the same number of girls and the same number of boys, what is the

greatest number of teams that can participate ? How many girls will be in each team ?
How many boys will be in each team ? :

c. [17Aclassis going on afield trip. There are 36 girls and 27 boys in the class. Students will
be divided into groups of girls and boys. What is the greatest number of groups that can
be made so that each group has the same number of children ? How many children will
be in each group of boys ? How many children will be in each group of girls ?

d. LI Mohabis making flower arrangements. He has 7 roses and 14 daisies. |f Mohab
wants to make all the arrangements identical and have no flowers left over, what is the

greatest number of flower arrangements that he can make ? How many roses and how
many daisies will be in each flower arrangement ?

e. Eslam has 60 blue marbles and 24 red marbles. If he wants to place them in identical
groups without any marbles left over, what is the greatest number of groups Eslam
can make? How many blue marbles and how many red marbles will be in each group ?




' VING l
_ Lesson 2 OREMEMBER @ UNDrRsIANn AR o PRODLEM SOLVING -

picnic. Amira wants to make snack packs of
has 24 apples and 36 small bags of Cangy,
Amira can make if each pack must haye
he same number of bags of candy "
nack pack ? How many bagg i

f. 111 Amira and her friends are going ona

apples and candy to take on the picnic. She

} What s the greatest number of snack packs

exactly the same number of apples and exactl\I/ t

| no snacks left over ? How many apples willbe ineachs
| candy will be in each snack pack?

dual servings. He has 28 pieces of fruit ang

: ' ing indivi
g. Foradinner party,Adam s creating Inciv - icalwithnofood leftover, what .

ing to be id
14 yogurt cups. If he wants each serving ieces of fruita
the greatest number of servings Adam can create ? How many pieces nd hoy,

many yogurt cups will be in each serving ?

T T~

® Challenge

6. Find the GCFof 15,18 and 21.
[ )

7. Find two numbers that have 6 as the greatest common factor.,
L)

8. The common factors of two numbers are 1 and 3,

The two numbers could be 9 and 21 0r3and 6. Explain how.




0

(

A\
1%
-
A

ase the correct

(4]

answer

O
@ Multiple Cholce Questions

ho

Which of the following are the common 2. Which of the follawineg are the cormmean
ll [

actorsof & and 67 factors of 15 and 257

A, 1and 2 B, Tand3 A land 3 B, 1and 5

c sand3 D, 3and4 C. 1and15 D, 1and 75
< TheGCFof18 and 271s 4. The GCFof 20 and 30 i5

Al Al B, 4

C. b C. 5 D. 10
5, The common factorof all numbers ? 1and 7 are the common factors

is of

A. 0 A. 2and7 B. 2and 14

C. 2 C. 7and12 D. 7and 14
7. Which two numbers are common factors ? Which two numbers are common factors
© oftBand54? " of27and 637

A 2 B. 6 A 2 B. 3

C.8 D. ¢ C. 4 D. 7

E. 12 F. 24 E. 9 F. 1
9. Which pair of numbers has the same 10. Which pair of numbers has the same

9]

) greatest common factoras 42 and 12 ?
A. 9andé B. 8and 24
C. 16and 60 D. 18 and 30

greatest common factoras 84 and 967
A. 8and12 B. 24and 36
C. 45and 60 D. 6and 54

1_1. Which phrase defines common factors between two numbers, suchas16and 28 ?
** A. The factors of each number 16 and 28, listed with the greatest factor found on both

lists circled.

B. The factors of each number 16 and 28, listed with the same factors found on both lists

circled.

C. The factors of each number 16 and 28, listed with the smallest factor found on both

lists circled.

D. The factors of each number 16 and 28, listed with the differing factors found on both

lists circled.
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Concept 1 Assessment | Unit

1. Choose the correct answer: 2
; mber
g a. Which of the following numbers isaprime nuC " D. 5
A. 1 B. 1 '
d16
b. The number its all factors are 1,2,4,8.an D. 32
A. 8 B. 12 C 1%
. Thefactorsof27are - ——
) Ael 3c 9r5 B: 1,3,27 C. 1,3,9,27 2 1’3’7!9,27
v 133, e e dy
d. The number13 has factors. ¢ 3 D. 4
A 1 B. 2 '
e the number 35.
e. The factor pair is for - D, Lanigz
A. 2and17 B. 5and4 »
f. The GCFof48and56ijs— D. 1
A 6 B. 8 C9 '

2. Complete the following.
]

a. —— s the only even prime number.

b. The common factors of 30 and 21 are — andthe GCFis

C. 48=1x '"2x___._:3><——:4><—————6><———-—-—-___ﬁ

Theall factorsare:—

factors.

d. Thenumber25isa —  number because it has —
e. Thenumber32 has —factor pairs.

f. The composite numbers between 1and 10 are

g. Write (V') or (X).
a. The GCFof 36 and12is 6 ( ]

b. The number47is a prime number,

(
c. Theall factors of28are1,2,3,4,7,14,28 [ l
d. The common factors of 12 ang loare1,2,4 (

8]



Concept 1 Assessment

e. The number 22 is a composite number. [ |
¢ Allodd numwi [ |

—_

4. Match each pair of numbers with their greatest common factor (GCF).

L

a. 60 and 45 1.

20and 40 1

C. 81a nd 45 3. 1

d. 84 and 36

Jupl
e

I

5, List all the factors of each number. vou may create a factor tree,
e factor T-chart.

a. 12 b. 25

factor rainbow or

c. 54

6. Is 9 afactor of 81? How do you know ?
0

7. The numberis an even number greater than 50 and less than 70.1t has 10 as a factor,
" What is the number ?

e

g. Find the common factors and the greatest common factor (GCF) of each pair of the
* following.

a. 10and14 b. 1Mand 33 c. 25and 36

9. Is19 a prime number ? How do you know ?

19. Are the numbers that have 4 as a factor also have 2 as a factor ? How do you know ?

1.1. What factor pair does every number have ?

[

.2. Afarmeris making fruit arrangements. He has 48 oranges and 80 apples. If he wants to
" put them in identical groups without any fruit left over, what is the greatest number of
groups he can make ? How many oranges and how many apples will be in each group ?







Concept Overview

In concept 2:

Understanding Multiples,
students explore the concept

: : of multiples, As with factors,
Believe it or not, they use their knowledge

Koalas can sleep up > ' of multiplication facts and
to 18 hours g day!! patterns in skip counting to
How many hoursdo I identify multiples, common
they sleep per week ? e G ' multiples,and least common
L. multiples between two
numbers. This work prepares
them for working with larger

e ————
- -

numbers and fractions.
IT-ESEO” Lesson Name | Vocabulary Terms Learning Objectives
Lesson3 | 6-4 Identifying Multiples- » Students will define multiples of whole numbers.
Multiples of Skip count ——
» Students will identify multiples of whole numbers,
Whole Numbers Wik ently muitip clenumbe
6-5 Common Review vocabulary as » Students will identify common multiples between two
Multiples needed. numbers.,

lesson4 | 4-6 Relationships | Common multiple-Factor- | « Students will explain the relationship between factors
between Factors | Multiples-Product. and multiples.

and Multiples « Students will determine if a numberis a factor or
a multiple of another number,




6-4 Identifying Multiples of Whole Numher\

6-5 Common Multiples

Learn 1

Gandy has a piano lesson every seventh March _
day during March. Her first lesson ison [Sun|Mon Tue | Wed| Thy ?’T\s\l
—| 33
March 7.0n what other datesin March | — 112]3] 4 “‘E
s |7 )89 0|0l
will she havea piano lesson 2 Thedates | LALEDY
(1314|1516 [ TN
of Sandy's lessons are multiples of 7. 0l 21|22 | 23 | 2 _i; ‘1\9\
5o,Sandy will have piano lessons on 7 | 28 | 29 | 30 pow o K
March 14,21and 28. ~
What is amultiple ?
Amultiple is the product of a given number and another whole numbey
To find multiples of any number, multiply by the whole
numbers 0,1,2,3,4,and so on.
The first five multiples of 7 are shown below. Amultiple of 7is any
product thathas7asa factor. '
9 0 ® @9
7%x0 7x1 Tx2 7x3 Ix4 %

Notes for parents :
« Explain that the number of multiples that a number has is endless
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. You can also make a list or skip-count on g number line to find multiples.

pxample 1 - PR

Make a list Use a Number Line i
I
First 7 multiples of 10 : T - Remark
0,10, 20,30, 40,50, 60 0 10 20 30 40 50 60 Zero i
eaina | amultiple |
First 7 multiples of 3: P i S for any
T TR T S s number-[
0,3,6,9,12,15,18 0 3 &6 9 1 15 18 ‘
M 71245 your understanding
-

’ Skip counting on a number line, start at 0 and write the first 5 multiples of each number

' 1. Skip count by 2s on the number line.

! !

=i T

| o
| -

o
=
5 6 7

I1|1|1!r

!

L

01234
First5 multiplesof2: — — _,

2. Skip count by 4s on the number line.

BT | I i I

| R I P i R e Ea wm |
910 M 123U wK Y 18 19

——)

—y —

lr|||!||

—_—

N L N SO N S N S
20 1 22 23 24 25 26 27 28 29 3

0

|
| T
01234656 01

First5multiplesof4: — —,

3. Skip count by 5s on the number line.

} ! ll | i I i I I I 1 I 1
78 910N R2131%1516 1718192 2

—_— ey

I||1|]||

|

I -

— —

B, DO K S e e iy o
222324252627282930

—1 ! {
0123454678

First 5 multiples of 5: ——, —

e Se——

: AL T S P WO I e e
9101 12131415161?1819202122232425

1

=
| | I I | 3]
26 27 28 29 30

« You can use 100 chart to find the multiples
[except zero)

Forexample

Tofind the multiples of 2 skip count by 2s,
then the multiples of 2:

2,4,6,8,10,12,..

10

13

14

15

16

17

18

19

20

23

24

25

26

27

28

29

30

33

3

35

36

37

38

39

40

43

44

45

46

4]

48

49

50

53

54

55

56

57

58

59

60

63

64

65

b6

67

68

69

70

73

74

75

76

78

80

83

84

85

86

87

88

89

90

93

94

95

96

97

98

99

100

* Skip counting on the number chart helps your child notice the patterns lo help him/her find the multiples

more quickly.




Example 2
Find the multiples of 5

Solution [_VJ

5 x any number = its multiple
Then5x0=0 , 5x1=5 , 5x2=10
So0,5,10,15,...are multiples of 5

W) T{T325 your understanding

5x3=15

9

a. List4 multiples of 8

b. Circle the numbers that are multiples of 3.
12,17,6,22,18,27

—

m Common Multiples

A common multiple is a multiple of two or more numbers.

Finding common multiples using
number chart

Look at the column that starts with 2.

All the numbers in this column are multiples of 2.

» List the multiples of 2 on the table.
0,2,%,6,8,10,12,%,16,18 ;..

Look at the column that starts with 3.

All the numbers in this column are multiples of 3.

» List the multiples of 3 on the table.

0453 ,6,9,2,1B,18,21,26 ..
These numbers that are on both lists are
common multiples of 2and 3.

» List the common multiples of 2and 3.
0,6,12,18,..

Notes for parents :

—

0|~ o |~

10

12

14

16

18

15

18

21

24

27

16

20

24

28

32

36

20

25

30

35

40

45

24

30

36

42

48

Sh

28

35

42

49

56

63

32

40

48

56

12

O e N W N - O

0|l |~w]o- | |[& |[WIN | = O

36

45

54

63

n

81

s
(=]

—
(=]

40

50

60

70

80

90

—
-—

—t
pury

55

66

88

99

—
N

olo|lo|lo|lo|lo|lo|lo|lo|lojlo|o|o|©

—
L

48

60

72

84

96

108

* Ask your child use a number chart to find multiples of a number, ask him/her to use it to find the commo’

multiples of two numbers.

= = =2 =
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Finding common multiples using number line

, You can use a numberline to find common multiples,
Example:

Use a number line to find common multiples of 2 and 3

P

e N Y

)

|

4= |

g 1 2
|

— LA
-
un

2C,

-~

R -
-2

_y

o

oy

— g

==\

=

—

w

—

=

—

wT

—t

- e o

—

= -

—

=3

1 1 E 1 = ! | | : ll &
." ! 4
/ / // / /
- '_/ e
The common multiples of 2 and 3 are

0,6,12,18,..andsoon, Zerois acommon multiple

forany numbers,

Example 3

Find the multiples of each of the numbers 4 and & up to 50, then find the common
multiples between them.

¢olution @

-Themultiplesof4are:0 , 4 , 8 , 12 16,20 ,24 ,28,32, 36 , 40 , 44 | 48
-Themultiplesoféare:0 , 6 , 12 » 18,24 ,30,36, 42 , 48
- The common multiples of 4and éare: 0 , 12 » 24 , 36 , 48

TITI4 your understanding

Find the multiples of each of 7and 3 up to 50, then find the common multiples between
them.

Solution [¥]

The multiples of 7 are

The multiples of 3are PICRSRESS e S

The common multiples are i ——— =

* Listing multiples help your child find common multiples.



6-4 Identifying Multiples of Whole Numpg,

6-5 Common Multiples

(L0
&, PROBLEM SOLVING From the Sthonl

@ REMEMBER @ UNDERSTANID © NPT

: i umber .
1. Skip counting on a number line. Draw 2 Lline connecting each number to shoy Skip

; ime.
counting on the number line. Start at 0 each tim

a. (11 Find the multiples of 2

(S | P T N L |
B —F—ng—j;zkz'zz‘az'z.z'szkz‘:xz’u?}‘ua,3
"0 12345678 90Nn2BURISETE 23

|
0 1 :

The multiplesof 2are —

b. (1) Find the multiples of 5
I |
—— ""'fiilr"'“H—H_!z:uIzziazi.z'sz},z'?zhz:qm
|
N L 5 478 9w MNRBUISGT B0 ,3233%5

The multiplesof 5are ——

A

ol
—
(Y]

w

=~

L%) ]

o~

-~

o2 ]

c. Find the multiples of 7

| 1 1 1
1 I 1 1 1
012 3 45678

PO (T N A | RO O O M [ S (S IO |
———tT T T e ,w
4 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 Ny 3"3.5

The multiplesof 7are ————

| |
1
12 131

|
i
10 1

~0 4

d. Find the multiples of 8

e
2 3 45 6 7 8 921011213 1415161718192[]21 222324252627282‘?303132333;‘3'5

A

o-d—
—

The multiples of 8 are

2. Color the multiples. Use the hundreds chart.

a. [l Colorthe multiples of 2 b. £ Color the multiples of 5
112 |3|4(5]|6|7]|8(9%9]10 1123|4567 ]1819]10
n 2|3 |wu|15|1w|7]819]20 n(12|1B[w|15]16|17|18]19 20
212223 (24|25(26 | 2728|2930 2122|2324 25|26 |27|28]|29]30
31(32(33[34|35(36(37 383940 31[32]33|3435(36(37(38|39]40
0| 42|43 |44 | 45|46 | 47 [ 4849 | 50 6| 62| 43|44 | 45| 46 | 47 | 48| 49|50
5152|5354 |5556|57(58]5960 51|52 | 53 |54 |5556|57]58]59]60
616263 | 64| 656667686970 61|62 |63 | 64|65 66|67|68)69(T0
77273757 |77(78]79]80 N|72|73 |7 |75|76|77(78]|79 |80
81 /828384858687 888990 81(82|83|84(85|86|87|88]|89|90
[91]92( 939 [95] 96|97 98] 99 100 91| 92] 93] 9 |95 96 | 97| 98 | 99 |10]
The multiples of 2are: —— The multiples of 5are; —————
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c. (11 Colorthe multiples of 9 d. Color the multiples of 10
1 2]31415/16]7[8]9]w0 1]2[3[als[6[7]8 90
(1213111511617 18|19 |20 IR
21[22(23|26(25(26|27(28 |29 30 2002223 |24 |25 26| 27|28 29 | 30
31(32(33]34/35136 373839 | 40 31 (3233363536 37|38 39 |40
41| 42|43 |44 |45 | 46 | 47 | 48 | 49 | 5O [ 62 [ 43|46 |45 |46 47 48 |49 50
51| 52|83 | 54| 55| 56157 15059 |40 | | |51 | 62|53 |54 55]56 57585960
o1 | 62|63 e |65 |6 | 67| 68 [7] 70 61626364 ( 65| 66| 6768|8970
(72|13 7|75| 7| 77|78 |79 |80 N|72|13 (%757 77|78 (79 (801
o1 [ 8283 |84 [ 85 |86 | 8788 |89 | 90 818283 |84 8586|8788 8990
(91[ 929394959 |97]98 99100 91192 |93[9 95| 9| 97|98 99 100
The multiplesof 9are: Themultiplesof 10are:
3. a. Circle the numbers that are multiples of 6
7,1 ,12 ,6,21,2%,6 18
b. (1 Circle the numbers that are multiples of 3
6 5 W o 81 05,0 , 36 , 29
c. Circle the numbers that are multiples of 8
6, 8,10 ,1%6 , 18,2 , 30, 32, 3
d. Circle the numbers that are multiples of 9
9 , 12,18 , 21, 28,27, 30 , 3 , 40 , 44 , 54
e. [ Which of the following is NOT a multiple of 4 ?
4 , 30 , 20 , 44 , 36
f. Which of the followingis NOT a multiple of 5?
5,31 ,3 ,40 , 15 , 10, 16
g. Which of the following is NOT a multiple of 2?
6 , 12 , % , 7,29 , 18 , 1
4. a. [ List 5 multiples of 7.
)

b. List5multiples of 8.

¢. List the multiples of 3 up to 20.

.

T L e LT




B i 5
v eleh=]
Ll .} -

‘ ) I

5. a. Is34aamultipleof 97?
| c. Is35amultiple of 4?

e. Is7amultipleof 7?

@ REMEMBER ® & PROBLEM SOLVING

d. List the multiples of 5up to 30.

| e. List the multiples of 9 up to 60.

b. Is40amultiple of 87

d. Is30amultipleof2?

£ 'ls8lamultipleof??

l ——

| 6. Find the missing multiple.

c. 10,20, ,40

551,15, b. 8,16, 24,
70,80, ,100 € 12;15, 32l f.22, ,44,55
.36, 54,63 h. ,1%,21,28 i. , 24 ,30,36

. Find the multiples of each of the numbers 2 and 3 up to 20, then find the common

multiples between them.

The multiples of 2 are:
Themultiplesof3are: ————————
The common multiples are :

Find the multiples of each of the numbers 5 and 4 up to 30, then find the common
multiples between them.

The multiples of 5are ; - —
The multiples of 4 are: - e S
The common muiltiples are : - —

E::‘l’t::;?:elzie;ci;ia:? of the numbers 6 and 8 up to 50, then find the common
The multiples of 6 are :

The multiples of 8 are:

The common multiples are :
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g, a. . Findacommon multiple of 4 ang 8.
b. - Findacommon multiple of 7 and 3,
¢. Findacommonmultiple of § ang 4,
d. - Find two common multiples of 2 and 6,

e. . Find two common multiples of 4 and 6,

f. Find two common multiples of 3 ang 9,

9. David has soccer practice every sixth day during June

beginning June é.
What are the dates of his other practices in June?

10. Nagwa plans to visit her grandparents every fourth day in May. Her first visit will be May 4.
How many times will she visit during May ?

11. (=) Writing About Math Tahani takes the bus home from school every day, but it does
not take her directly to her house. After the bus drops Tahani off, she must walk the rest of
the way home. The bus she takes stops every 4 kilometers as it leaves the school. If Tahani
lives 18 km from school, how far does she have to walk home from the bus stop ?

Draw a picture to represent your thinking.

@ Challenge

1:'2. a. Find two common multiplesof2,3and5 — e

b. Find two common multiplesofé,4and10



Choose the correct answer.

2. Which of the following isam“"ipla f
4/

-
-

1. is a multiple of 3. A 3 B. 45 15
A. 4 B. '76 C. 56 D. 89
C. 14 D. 2 PSS ————
SIS . 4. ©. Which isacommonmultip[eofsa-
3 20 is a multiple of " o A 20 B. 40 o,
A. 3 B. 4 Cc. 35 D. 45
C. 8 D. s e
, 6. (. Whichis NOTacommon mys;
5. Which is acommon multiple of 10 ¢ 467 lt'pl.&;.,’f
© and20?
B. 15 A. 18 B. 27
2‘ ;ﬂ o- e C. 36 D. 42
p—— \
ommon multiple fora
7. Which is NOT a multiple of 6 ? g- :l'hec P llr!urnb,i_,3
&) is—
. 30
ay Sy A. 0 B. 1
C. 20 D. 42 C. 2 D. 4
—_—
9. The common multiples of éand 8arethe | 10. Which list shows common Multiples
N same as the multiples of which number? band87?
A. 8 B. 12 A 6,8,24 B. 60,80 1
C. 20 D. 48 C. 24,48 ,72 D. 36,64 5
el

11. Toidentify multiples of 9,Ahmed used the following equations:

Equation1: 9x2=18
Which statement is true ?

Equation2: 18+9=27

A.Only 18 is a multiple of 9 because it was found by multiplying by 9.
B. Only 27 is a multiple of 9 because it was found by adding 9.
C. Both 18 and 27 are multiples of 9 because they were found by multiplying whole

numbers by 9.

D. Both 18 and 27 are multiples of 9 because they were found by multiplying by 9 or add

9 on to another multiple.



6-6 Relationships between Factors
and Multiples

You can use amultiplication table to find the relation between factors
R and multiples,

m. column
v

Find 18 on the multiplication

tabl “|1f2|3]a]|s]|6|7]|8]9]0f[n]n
= 1(1]2]3[a|s5]6]|7 00|12
* Look at the number at the 2|2 [4|6|8|10]12]n|16]18]20]22]|2%
-
top of the column, s wal £ EI KX 2 15 (18) 21| 2¢ | 27{30[33 |38
~zr a factorof18 4|4 |8|12]16|20]24|28]32]36[40]44|s8
; ,I,y,ﬁﬁﬁ’ﬁ'_n}: i 5 5]10]15]20|25)|30{35|40|45[50]55]60
5 P:"?'l'- * Look at the numberatthe side | 6] 6 [12]18]2¢[30|35 42| 48|56 [0 ]88 |72
% of the rOW-3iSafactorof18, T| 7|1 |21|28(35|42|49|56|63|70(77|84
¢~ 8|8 |12]32[40|48|56)64|72|80]88 |9
& x 3 = 18 9 |9|8|27]|36|45|54]63|72|81[90]99|108
R 10 |10 20|30 |40|50| 0|70 80|90 100|110 |120
| T T 1|1 |22{33|4s|55|66|77|88] 99 |m0| 121|132
factor factor multiple | [12] 72 (24 |36 |48 | 0| 72 | 64 | 9 108 120 | 2 | ¢

then, 18is a multiple of each of 6and 3

Find 18 in other places on the table. List other factors of 18.
18 is a multiple of ;

Repeat steps1and 2 to find
factors of 24

! « What factors did you find ?
‘,‘ « Do you think these are all of
- the factors of 24 ? Explain.

Notes for parents :

« Help your child use a mulliplication table to recognize the relalion
between factors and multiples.




Example

Making connection. Think about the relationships

nces describing what you not

b, 3.2,6and18

Write at least two sente ice.

a. 2.4and16

Solution 12]

a, +2x2=4,2x8=16,then all numbers are multiples of 2

« 2 and 4 are factors of 16

. 16is a multiple of 4 [Answers may vary)

b. « 3 and 2 are factors of &

«18is a multiple of &
. bisa multiple of 3 [Answers may vary)

between the numbersin each aro
Up

m your understanding :

y ——

a. Write 3 factors of 12. —

b. Write 3 multiples of 4. e

c. Is16amultipleof8? ——

d. Is6amultipleof12? ———
e

Notes for parents :

» Ask your child to explain the difference between a factor and a multiple.



6-6 Relationships between Factors

and Multiples
. REMEMBER @ INTIRSIAND @mpvey &% pRoBLEM sowvinG ‘11 From the school book
4, complete the following.
k a. Write 3multiples of 5 —

b. (.1 Write 3 multiples of 6

c. (21 Write 3 factors of 30

d. Write4factorsof20—

y s 3

e. If4Xx9=236,then is @ multiple of the two numbers and =
Also, ———and are factors of the number -
£ HTX3= sthen——isa multiple of the two numbers -and
)l

2, write (v) to the correct answer and (X) to the incorrect answer.

e
a. bisafactorof 2. ( ]
b. 8isamultiple of 4, ( )
c. 12isamultiple of 3and 6. ( J
d. 5isa factor of 30. ( )
e. 45isan even number that is a multiple of 5and 9. ( ]
f. 27isanodd number that is a multiple of 3 and 8. ( ]

3:. Multiples Riddles. Read each riddle and solve. There may be more than one answer.

a. (11 The numberis an odd number. It is a multiple of 3 and 5.1t is greater than 20.

What numberisit?




min O ALY &% PRODLEM SOLVING
@ UNDERGTAN

@ REMEMBER
. ies between 20
I ven number. Itisa multiple of 4and 3and lies a”d40.
Whatnumberis it?
|
i between 10and 3

8.Itis
-1 The number is an even number.Itisa multiple of 4 and
c. [

I What numberisit?

d. (11 The numberisaneven number. It is a multiple of 3,4 and 6. What numberis it

; o
e. The number is an even number.ltisa multiple of 3,2and 7 b rmmer ity

_— ———— = S —

| 4. Answer the following questions.
C-'

[ a. Is2afactorof12? b. (DlIséafactorof24? ——
! c. 2Isl4amultipleof7?——— d. Is10amultipleof2? ——
e. (0ls24afactorof87? : f. Is2amultipleof4? ——
g. Is0amultiple of 97? h. tdIs16amultipleof 3?7 —

i. i Is5a factor of 25 ora multiple of 257

j. Ed1s 32 a factor of 8 or a multiple of 8 ?

k. Is1afactor of 9 ora multiple of 9 ?

L. What multiple of 7is a factor of 7?

5. Maki ; . ; :
g aking connections. Think about the relationships between the humbers in each group.

Write at least two sentences describing what you notice.

a. Ll13,6and12



b, (114,8,16and 24

C. 254 !3 !12
e S
d. 5,3,12,30

Unit6 | Concept 2

-6. [ How are factorsand multiples related ?
C.

@Challenge

" the number 24.

What is this number?

7. Thereis a number between 10 and 20 and itis a multiple of the number 4 and a factor of




#= @) Fast Fact )
| Ababy dolphin is called a calf.
5 A calf eats 4} @flin@s each hour
during the first week of life. |
Hewmantptimesldoeslifeatil ™
22 hedydrigtistne?

i ‘," 5 7R
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~g by One-Digitand Two-Digit

In con
Attty
.

girte
3oy

-
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=i
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pt Overview

—

Vocabulany Terms

actors, students build on thelr learning in Primary Jtod
nlp - A 3 T 5 ]
~d their understanding of multiplication and improve thelr procedural fluency. They explore three

st €N A

entstrategies for multiplying - the area model strategy, the partial products algorithm, ¢

eepen

wnd the standard

p e T L o) K

_vihm They apply their knowledge of place value, patterns when multiplying by multiples of 10, and
wiplication facts to solve multiplication problems. Good mathematiclans make connections between
shematical concepts and use those connections to solve problems, This concept encourages that practice.

Learning Objectives

;;; I-.TheAma AW“"“““‘Dﬁﬁmese -Suﬁ;ﬁﬁQﬁhmvamanmdﬂsuuvpmumﬂlwn1nmnwama-
- Model Strategy digit multiplication,
« Students will explain how they use place value to multiply.
| 7-2The Areamodel - Decompose | « Students will use an area model to multiply a one-digit
| Distributive - Distributive property of number by a whole number with up to four digits.
Property multiplication + Students will explain the distributive property of
multiplication,
« Students will apply the distributive property of multiplication
to multiply a one-digit number by a whole number with up to
i fourdigits,
I’;Fs;a_;—-_: ThePartial | Areamodel - Distributive | « Students will use the partial products algorithm to multiply
' Products Property of multiplication | a one-digit number by a whole number with up to four digits.
Algorithm - Algorithm - Partial
products algorithm
7-4TheStandard | Standard algorithm - « Students will estimate products of multl digit multiplication
Multiplication Distributive property of problems.
Algorithm multiplication - Area model | « Students will use the standard algorithm to multiply a one-
- Partial products digit number by a whole number with up to four digits.
7-5 Review Review vocabulary as « Students will use the standard algorithm to multiply a one-
Connecting needed digit number by a whole number with up to four digits.
Strategies
—L.;s_on 3 [7-6Two-Digit Distributive property of » Students will Identify patterns when multiplying two
Multiplication multiplication multiples of 10,
= Students will multiply a two-diglt number by a multipte o 10.
« Students will assess the reasonableness of an answer using
estimation and mental math.
7-7Area Models | Review vocabulary as » Students will be able to use the area model to solve two-digit
and Two-Digit needed by two-digit multiplication problems,
Multiplication
lesson4 | 7-8Algorithms Review vocabulary as » Students will apply a varlety of strategles to solve two-digit
and Two-Digit needed. by two-digit multiplication problems.
Multiplication
7-9 Putting ItAll | Review vocabulary as « Students will apply the three reads strategy to analyze and
Together needed solve story problems.
« Students will add, subtract, or multiply to solve story
problems.




Choose the correct answer.

1 is a factor of é. 2. isa multiple of 12,
~ 0
A2 B 12 - B. 4
C. 18 D. 24 C6 D. 12
—
3. —isamultiple of 8. 4, ———isanevennumberthat g
18] '
: A 2 B. 4 amultipleof2,4,5.
C. 10 D. 16 A. 10 B. 8 C15 p 2
i
5. isan odd number that s 6. Multiples of 2are NUMbers
] (o) .
a multiple of 3and 7. A. even B. odd C. Primg
A 7 B. 14 C.21 D. 42
oS
7. Which of the following is true ?
@
A. 5isamultiple of10 B. 10isa factorof5
C. Sisafactorof10 D. 6isamultiple of 4
e
8. Which of the following is false ?
L]
A. 282isamultiple of 2 B. Oisamultiple of 7
C. 3isafactorof 24 D. 8isafactorof 14
B
9. Tell whether the first numberis a multiple of the second.
[+]
A 4,8 B. 2,20 C. 18,9 D. 14,7

—

10. Which statement is true about multiples of whole numbers ?

A. The number 4 is a multiple of 12 because the numbers 3 and & are a factor pair for 12,
B. The number18 is a multiple of 2 because the numbers 2 and 9 are a factor pair for 18,
C. The number 6 is a multiple of 6 because the numbers 0 and 6 are a factor pair for 6.
D. The number15is a multiple of 5 because the numbers 5and 10 are a factor pair for 15,

Which two statements explain the relationship between factors and multiples ?
A. Thirty-six is amultiple of 3,6 and 9, therefore 3,6 and 9 are factors of 36.

B. Thirty-sixis a factorof 3,6 and 9, therefore 3,6 and 9 are multiples of 36.

C. 3,6and 9 arefactors of 36, therefore 3, 6 and 9 are multiples of 36.

D. Twenty-sevenis a multiple of 3and 9, therefore 3 and 9 are factors of 27.

E. Twenty-sevenis afactorof 3and 9, therefore 3and 9 are multiples of 27.

F. 3and 9 are factors of 27, therefore 3 and 9 are multiples of 27.



Concept 2 Assessment | unit6

1, write (V') to the correct answer and (X) to the Incorrect answer:

-~

7 4. 2isafactorof12,

b. 8isamultiple of 4,

d. The common multiple for all numbers is 1,

(
(
c. 20isacommon multiple of 2 and 5, (
(
e. 3x8=24,then8isamultiple of 24, (

(

— — —_— — S— - s

f. 45isacommon multiple for5 and 3.

2. Choose the correct answer.
——— isamultiple of &

4a.
® &9 B. 3 G 2 D. 6
g_ _ is a common multiple of 4 and 4.

A 2 B. 3 C.8 D. 12

¢. Which is not a common multiple of 2and 3 ?

“ A 2 B. 20 ¢ 2 D. 6
g, is an even number that is a multiple of 2,3 and 4 and lies between 20 and 30.

A 12 B. 16 C. 24 D. 28
e. Which list of numbers are all common multiples of 3and 77? '
‘A 1,357 B. 21,42,63 C. 21,28,35 D. 15,2121 I|l
E Is 27 a multiple of 9 ? '

A. yes,because 3 and 9 are factors of 27.

B. no,because 1and 9 are factors of 9.

C. no,because 9 and 243 are multiples of 27.
D. yes,because 9 and 3 are multiples of 27.

3. Complete.
0
a. If35=5x7,then — — isamultiple of the two numbers and
b. _isacommon multiple of 4and 5and lies between 10 and 30. |

c. 4isamultiple of
d. — isamultiple of all numbers.



Assessment OREMEMBER O UNDERSTAND  OAT o PROBLEM SOLVING

e. Skip countby8

W B . PR

f Bisafactorof— [Write two numbers).
4. Match. \
o A

a. Isa multiple of 3 ] 1. 5

b. Isa factorof10 J 2. b

¢ | Is a factorof 32 ] 3. 8

d. L Is a multiple of 7 l 4. 28

5. Find the multiples of each of the numbers 6 and 9 up to 60, then find the common
o

multiples between them.

6. Think about the relationships between the numbers 3, 8 , 4 ,and 24 . Write at least ty,

sentences describing what you notice.

7. Write 3 factors of 40.
o)

8. Write 3 multiples of 12.
o

9. What'sthe error ? Nermine writes 6,12 ,18 ,24 ,30 as factors of é. Describe hererror,
©

Write the correct answer.

10. The numberis an odd number. It is a multiple of 7 and 3 greater than 20. What numbers isit!

11. The numberis an even number. It is a multiple of 3and 5. Itis between 10 and 40
[ ]

What numberisit?

12. « Abus traveling South arrives at a certain bus station every 3 minutes.
[

. A bus traveling North arrives at the same bus station every 4 minutes.

At 8:10 am., a bus traveling North and a bus traveling South arrive at the station.

This will happen againin minutes, —— minutesandin ———

minutes because they are all common ———— of3and 4. [Complete).



@

2.

oW

write (/) t0 the correct answer and (X) to the incorrect answer:
g, klsamultiptaoriz [ } | b. The number7has2factors. |

.. TheGCFof12and18isé. [ ] | d. 131sacomposite number.
o, 481s@common multiple for8and 7,

¢ Theallfactorsof30are1,2,3,5 4 10,

choose the correct answer.

a. Which number is a multiple of 9 ?

) A 1 B. 3 C. 27 D. 30

b. The number ———— has the factors 1 .2,4,5,10,20.

T A0 B. 16 C. 20 D. 30

¢. Whichis NOT a common multiple of 3and 5 ?

’ A. 15 B. 30 C. 40 D. 45

d. is NOT a prime number.

) A1 B. 2 C. 7 D. 1

e. is a factor for all numbers.

° A 0 B. 1 C 2 D. 3

f. The number 36 has ——— factors.

’ A. 3 B. 5 C. 8 D. ¢
. Complete.

a. The smallest prime numberis

h. The combosite numbers between 10 and 20 are

c. TheGCFof4and8is ——
and

d. The prime number has two different factors are

e. Thefactors of 9 are

f. The odd number which is a multiple of 3,7 and lies between 30 and 50 is



LT U = =N
: VING
@) ATy oo PROBLEM soL

_ :#Et‘l_i‘t‘iill:—l Nt © REMEMBER

4., Match.
o)

—

= 1, [ 32

a. [ Afactorof20

-

——

b. [ AGCFfor24and30

—— . [ 19|

€ A multiple of 8
u_———————___—-_-___-)

d. A prime number ] | ST

P
" \
actor tree, a factor rainbow and T-chart.

5. Find all factors of 30 and createaf
o

I UG — s
ach of the numbers 8 and 12 up to 40,then find the commop,

6. Find the multiples of e
o)

multiples between them.

. Find the common factors and the greatest common factor (GCF) of 24 and 40.

(O |

Think about the relationship between the numbers 223 4,12

s %

[Write at least two sentences]

. In each of the following numbers underline the prime numbers and circle the composite

Gl e]

numbers.
7—8-10-13~-21—-1-1%
2-18-15-17-3-4-20

10. The number is an even number greater than 20.t has 8 as a factor and is less than 30

What numberis it ?

:lc.)i. List 5 multiples of 6.

:%32. Is one a prime number ? Why ?




Theme 2 | Mathematical Operations and Algebraic Thinking

Multiplication and Division :

Computation and Relationships

» Concept 1: Multiplying by 1-Digit and 2-Digit Factors
» Concept 2 . Dividing by 1-DRigit Divisors

;;f/p Fast Fact )
The emperor penguin ]
is the world's largest |
penguin. It can weigh up
to 40 kg. In the Antarctic, |
an adult male emperor |
penguin will keep
a single egg warm for
about 63 days until the
egg hatches. AoE01E
lhow/manuylweeksiwill

thelpenguinlkeeplthel

eggjwarmis




LSO 7-1 The Area Model Strategy
1 7-2 The Distributive Property

[T Model 2-digit multiplication

Mazen has 4 boxes of crayons.
Each box holds 12 crayons.
| How many crayons does Mazen have inall?

.ii ‘ ‘ Multiply: 4 x 12
| :

—

— 0 .
Step 1 Step 2 \
Model the problem using Record your work ina chart like
base-ten blocks. this one.
——— 5 Tens | Ones
: : 4 8
4L tens 8 ones
; [4x1ten (4 x 2 ones
| =4 tens) = 8ones)

So,Mazen has 48 crayonsin all.

e =
Example 1 ———
; Use base-ten blocks to find each product.
a. 22x4 b. 5x13
Solution @
! a. Model 4 groups of 22, b. Model5 groups of 13,
! e Regroup .‘{0 ones as 1 ten
1| __ oo S an:
5 e —_— e se '
‘ I B : = :...E'"a“ |
i __ /! 8tens 8 ones LEL ‘
| N &L Tens | Ones Tens | Ones
- 8 | g |5922x4=88 5 | 5 |S0.5%x1=45 \

‘ ‘ ‘% Notes for parents :

* Remind your child that when the number of ones blocks is 10 or greater, he/she needs to

| regroup 10 ones as 1 ten.
|




Unit7 | Concept 1

@ Multiplying with the area model
————_ "€ area model

The fourth and fifth grades plan o yjgjy the Egyptian Museum. ﬂ PN
gachbus has room for 23 passengers, 41}

The teachers have reserved 7 buses,

How many teachers and students can go on the trip ?

Ltiply:7 % 23
Multip Q Remember
Model the problem using the rectangle areq model

Area of a rectangle = length x width

Step 1 Stp2 =

" prawarectangle where the smaller side

Decompose 23
- shows 7 and the longer side shows 23 P using place value,

23=20+3
23
20 3
‘ 7
|
| Step 3
Find the area of each of the new two rectangles,then add them
«7x20=140 e7x3=21 - 20 3
‘ 140+ 21=161 So, 7% 23 =141 7 7%x20 7%3
| i v ‘
| So,161passengers can go an the trip G 2'1
Example 2 -
Draw an area model to solve each product. I
a. 6x51 b. 39x8
Solution [ﬂ
a. 51=50+1 b. 39=30+9
50 1 30 9
b 6 x50 =300 bx1=6 8| 8x30=240 8x9=72
So,6x 51=300+ 6 =306 S0,39x 8=240+72=312

* While there are multiple ways to decompose a number, numbers should be decomposed using place value
when using an area model for multiplication. For example, it is possible lo decompaose 23 in many different
ways, including 17 and 6 , 10 and 13, or 14 and 9. However, 23 should be decomposed into 20 and 3 when
using an area model for multiplication.



models
m The distributive property and area \

to plant
Youssef s planting a flower garden. He wantstop

8 rows with 24 sunflowers in each row. -
How many sunflowers will he have in this garden !

sproblem. /s
You can use the distributive property to solve this p -G
sum
The distributive property states that multiplyinga

i b
by a number is the same as multiplying each addend by
the numberand then adding the products.

Step 2
T k t the rectangle into two rect
oo Break apar = angle
Draw arectangle that is 8 units wi because 24 has two digits. 24 = =
24 units long. 20 4
24
8
8
p— 8% [20+4)
Step 3
. 20 4
Find the area of each of the new two rectangles.
A ) .
8x(20+4) = 8 x 20) + [8 x 4) "Distributive property" 8
=160+32=192 I i '
L So, he will have 192 sunflowers, (8 x 20) (8 x 4)
Example 3 _
Use the distributive Property to solve each problem.
a. 6x324 b. 7x 2915 c. 5x 407
Solution 7]
a. 6x324

300 20 ‘

i D
=6 (300+20+4)
" %300 =1800 6%20=120 |6 x 4= 2t
=[6x300) + (6 x 20) + 6 x 4)

=1,800 +120 + 24 = 1944

Notes for parents :

g to their digits rather than according to the value

of their digits, He/She may decompose 24 as 2 angd 4 rather than 20 andd;

106

|



-
.. X LTV -
/fﬁ - 4 . 7 7%2000 ’ 7> 500 x4 I}‘xs
- ~ 5 ]
_7%[2000+900+10+5 =001 =3 | = |
=y - -

-

’ 5x£00=2200 Sx7=::

zxample 4

Czlculzte how many pages she read.

golution ad
Whatlzilaread =5x 224
-5x[200+20 +4]

=(5%200] +[5%20] + 5 x 4] - . 20
~1000+100 + 20 =1120 pages il Sesls (SR=MBsee
Im your understanding

Use numbers and symbols to solve each problem.

Draw an area model to help you if necessary.

2. 7x29 b. 4283

many zeros to place at the end of a product. For example, your child

* Your child may get confused with how
14,000. Your child may a!so write 5 x 200 = 100 instead

mmazy write 7 x 2,000 = 1,400 instead of 7x2,000=

l
¢ 5 % 200 = 1,000, |97}




7-1 The Area Model Strategy
7-2 The Distributive Property

OREMEMBER @ UNIIRSIAND  OABFLY o' PROBLEM SOLVING (L] From the sch°°lhom‘

1. (11 Use a quick draw to solve each of the problems that follow.

a. 7x4 b. 21x3 c. 14x5
¢ o

d. Twenty-two passengers can fit on each river bus ata time. What is the maximyp,
o .
number of passengers the river bus can carry if it makes 5 trips ?

E. Draw an area model to solve each of the problems that follow. 18
a. 15x56 b. 8x23
c. 3xébb d. L09x43 I
e [N91x4 f. 75x2
g. LiB8xé h, 067x4




Unit 7 | Concept 1

| @91%6 J. 1135x7
Comxe L (132x7
;“-;;SS—_EHH n. [17x206
o Axs% p. (D5x483
q. L17x723 . (15836
. 4x1237 t. (084943
u. (011935 v. (01673%8



o pRO0LEM OLVING

@hEMEMBLR 1 I

as in the example.

3 Use the distributive property t0 solve cach problem
» Example: 5 x 432 G x (400 304 7 )
(5 x 400) (5 x 304 F(5x2)
2000 +150 10 = 2,160
a. 8x35 b. 7% 68
Sl d. 3% 684 S

I———
f. 8x214

e. 5x135
i
lL g. 9% 463 [ ho3xm -
|
|
|
\ I 9% 4,523 . 4%9,035




Unit 7 | Concept 1

k. 7%6,003 L 8x2560
— = _________-_-_-_‘_‘—'—-—.___-_.___
346 I i
m. 5 n. 4127x3
e __'_'_'_‘_‘—‘—-———_______
4. Find the result of each of the following.
a. 3x29 b. 5x 64 : c. 7x123
d. 94%x6 e. 8x1374 f. 2,317x2

5. put () for the correct statement and (X) for the incorrect one.
. 8x245=1960

a
b. 6x34=[6x3])+(6x4) E
c. 7x100+7%x504+7x3=7x153 (
d. 33x9=2727 (
e. 5x440=5%x40+5x%x4 (
f. 202x7=1414 [

[ R e e L

6. Complete.
. a, 5x467=5x400+5%x —— +5x7
b. 2x139=2%x ————+2x———+2x9
C. 4x7346=bx—  — +4x300+4x———+hXb
d. 8x _ =8x500+8x90+8x2
e. U1x  —— =6x200+6x40+6x1
f. 3x1805=3x ———+3X +3x



: |
4L8
gx3| 86 + 24
: -] =48 72
- 3}_, x g=172
Explain vourthinking.
e A N narea model to help you if needed,
llowing problems. Draw a
8. Answer € ch of the fo

na minute.

4 metersi
a. Arunnercovers 63
in & minutes with the same speed.

)
Calculate the distance he covers

b. J Acity busis 1,280 centimeters long. What is the length of 3 city buses ?
0 —_—

- —

—
—e————

c. Atrader bought 7 fridges. The price of each fridge is 9,245 pounds. What is the total

)
price of the fridges ?

g. A family bought é kilograms of meat for 143 pounds a kilogram and 8 liters of juice for
27 pounds a liter. How much money did the family pay ?
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o. Animal Company.

o iply. Match .
Multiply each letterto Its answer in the blank below to solve the riddle. Some
letters are not used.

Agroup of lions i
Called a pride, What is
agroup of kangaroos
called ?

C B Z A
7x34 4x124 56x8 49x5
0 R M N
49 %2 3x 2114 6x79 9x59
B HE E N

----------
.....................



A4 b |

Choose the correct answer. 34
TR 2. 5[
1. cee0 _ o o Q:
cene” A. (5%3]+(5x4]
B. (5x30] +(5x40]
A 2bx2 B. 243 C. (5% 30)+(5x4)
C. 1x3 D. 14x2 D. [5%3)+(5x40]
3. 7x509= —— 1: (6x40]+[6x8)= ——
A (7x5)+(7x9) B (7x50)+ (7% 9) A 6x48 B. 6x84
C. (7x5)+(7x90)  D. (7x500)+(7x9) C. 6x480 D. 6x12
5. 4xB]=—" . 1663%9=s— e
‘\' O
" A 938 B. 944 A. 14937 B. 14,967
C. 964 D. 948 C. 14976 D. 15947
—
7. 8x450 = —— 8. 5x30+5= —
3 c
A. 36,000 B. 36tens A. 5x30 B. 5x31
C. 36Hundreds D. 36 C. 5x13 D. 5x35
el
2. Bassem saves 746 pounds monthly, then how much money does he save in 9 months?
A. 6514 B. 6,714 C. 6914 D. 6974
S T
10. Which area model best represents 69 x 47
9 4 40 4
A B
60 540 240 69 2760 276
90 6 50 9
A D.
360 24 X 20 3




Unit 7 | Concept 1

14, Whatis the correct way to yge o area model to multiply 362 x 87
300 60 2
a l
A. (300 % 8] +[60 % 8) + (2 x g)
C. (300x8)x (60 x 8] x [2x g)

B. (360 x2) + (62 x 8
D. (360 x8) x (2 x 8)

—
—_—
—

2. Which choice correct| T
K i Y uses the Distributive Property of Multiplication to find the product
of 429 %77

A [4x7]+[2><7]+[9x?] B. (400x7)+(20x7)+(9x7)

C [L+7)x[2+7)x([9+7) D. (400+7)x([20+7)x(9+7)

- _'_'___________—..._______‘_______‘___‘_______

13. Thearea model represents 16 x 7. What number representing the area of rectangle A?
s 40 )

7 A

A7 B. 70 C. 42 D. 420

14. Based on the area model, what is 531 x 6 7
L

500 30 1

A. 54 B. 486 C. 3186 D. 30,186

15. Which statements correctly represent the product 1,385 x 4 ? Choose two correct answers.
: A. 1,385x 4 = (4 x1,000] + (4 x 300) + (4 x 80) + [4 x 5)

B. 1,385 x4 = (13 x 4] + (85 x 4)

C. 1,385x4=1,000+300+80+20

D. 1,385 x 4 =4,000+1,200+ 320+ 20

E. 1,385 x 4 = 1,000 + 300 + 80 + (5 x 4]



7-3 The Partial Products AIEOI‘ith
7-4 The Standard Multiplicution Am
7-5 Review Connecting S""“temes go"‘th.n

mhe partial products alm
—gorithy,

At the Zoo, you can take a ride
around the pond on a boat.

If it takes 16 minutes to go around
the pond in the boat, how many
minutes does it take to go around

the pond twice ?
Multiply :16 x 2
Use the partial products algorithm as follows,
Multiply the tens. Multiply the ones.
Add the Prog,
16 16 8
16 oy 6
T Shes
20— (10x2) - H—iﬁ
12 —[6x2) +12
i L —

So,it takes 32 minutes.

Hint
You can multiply the ones first, then multiply the tens
as follows,

Multiply the ones. Multiply the tens. Add the products.
% &3 x 2 -
A B 1
12— [6x 12
(6x2) 20 —(10x2) +20
= t ;7

Notes for parents :

. Yogr child should recognize that the commutative property of multiplication allows st
write the factors in any order,



Unit7 | Concapt 1

X :]l"lllc 1

yse the partial products algorithm 1o fiolve the following

ELE b, 8214 ¢ 6%1352

golution )
a 76
b b
o 13
210 » (10 %3) "Multiplying the tong®
v 10— [6%3) "Mulliplvlnr;ihc-un:_---."
228

x 8

T 1,600 —> [?“U"ﬂ]"MulleIyingtlu-lmmlrndf."
+ 80—+ [10x8) "Multiplying the tens"

4 32—+ (4x8) "Multiplying the ones"

6,000 —» [1,000 x 6)"Multiplying the thousands"
+1,800 —» (300 x 6)"Multiplying the hundreds"
+ 300 —= [50 x 6] "Multiplying the tens"

+ 12—+ [2x6)"Multiplying the ones"
8,112

m your understanding

Fillin the blanks with the missing numbers to multiply.

a, 35 b. 254
X 5 X 6
150 [ X ) (6 x200)
+ 25 X ] + 300 (x|
175 + (6% 4]

* Remind your child to line up the products carefully according to the place value.




o standard multiplicatior

Maha has a book case with 3 shelves.

There are 24 books 0N eachshel.

How many books aré there inall?

Find: 243

You can use the ctandard multiplication algorithm.
| PStep [ (Step 2
| { Multiply the tens, 1
| MapURONES. 1, Regrotp 3x2tens = btens R
' 3x4ones =120nes 2; ]lriones :s then add the x3
' enan 2
| S. R
 Regroup theone > 20nes regrouped ten .
| " | stens+lten=7tens 53

e —
——

| e ——

| So, there are 72 books inall

Example 2 ——
Use the standard multiplication algorithm to solve the following.
a. 6x512 b. 2194x7
Solution E]
@ 1
512
' X

2 — [6x2o0nes=120ones=1ten +2ones)
+ 70 — [6x1ten=btens,btens + 1ten =7 tens)

+3,000 — (6x5hundreds = 30 hundreds = 3 thousands)
3,072

Notes for parents :

* Your child someti i :
imes has difficulty demonstrating proper regrouping when using the standard algorithm for
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b. 2. 194
} 7
,-f"“'é —» [7x4ones = 28 gnes = 21ens + 8 ones)
50—~ [7x9tens = 63 tens, 43 tens + 2 tens = 65 tens = 6 hundreds + 5 tens)

, 300— (7 x 1hundred = 7hundreds, 7 hundreds + 6 hundreds
=13 hundreds = 1thousand + 3 hundreds )

+15,000 —* (7 2thousands = 14 thousands, 14 thousands + 1 thousand = 15 thousands)
et
_ Hint —— S L
; you can write the productsina short way as the following examples.
k/’-—-_’___—______—_u_____ —
ample 3 —————
so|UﬁOn @]
G0y ——Step2-—— Step3—— ———Step 4“——|
i Multiply Multiply Multiply Multiply .
. theones, the tens, the hundred. the thousands. |
I 1 2 1 21 2 1 |
| 1,276 1,276 1,276 1,276 |
i X 3 X 3 X 3 X 3 ;
| 8 { 28 i 828 || 3828 ||
More Examples :
(et ) '
a 11 b. 31 & 2 9 d 4 42 .
234 r 852 2,814 3,964 I .
x 3 | X 6 X 3 X 7 |
| 702 | | 5112 8,442 27,748 | ‘
zm your understanding
Find the products. :
a. 56x4 b. 3x174 €. 4,015
X 2

* Train your child to use the short way to find the products.



Estimate products. Choose a strategy

Example 4 Y

Estimate the product. Multiply to check.
a. 3x62 b. 284 x7

solution (¥

a. |Round 62 to the greates{ pléce value. You can use any
| multiplication strategy
| I 6‘2 to find the actual
product,
3x 60=180

e

The actual product : (Using Area Model Strategy]

60 2

3 | 3x60=180 ‘3!226

3x62=180+6=186

b. rRound to the nearest ten | Or FROUI']-Ci to the nearest hundred
5
284 —— 280 284 — 300
x 7 X 7 4 X 7 X 7
1,960 2,100

The actual product : (Using the Standard Multiplication Strategy)

S 2
284
7

8
+ 80

+ 1,900
1,988

Notes for parents :

+ Let your child use rounding to check the reasonableness of the answer.

| @
-




ExarﬂP'e
camy SaYs that 7x58 =91
pescribe Samy's errorand find

the correct product.

;olll'ﬁon LQ_‘I

The erroris multiplying the tens 7 x 50 = 35 instead

B it o

Unit 7 | Concept1

. -(.J -0 000000

58

|

of7x50=350 + 56 —=(7%8]
The correct productis 406 406
m your understanding
e
. gstimate the product. Choose a strategy to find the actual product.
2. 87 b. 764 G oh
X b X 5
g =)

* Your child may has difficulty determining the number
10, especially when the product of the basic fact ends in zero. For example, yo

80 x 5 = 40 rather than 4,00.

of zeros in a product when multiplying by multiples of
ur child may think that




1. Fill in the blanks with the missing numbers.

@ REMEMBER @

@ ALY

& PROBLEM SOLVING

7-3 The Partial Products Algorithm
7-4 The Standard Multiplication A'E‘"‘lth
7-5 Review Connecting Strategies

L From the schog,

a. 28 B2 239
X 6 X /
120 [ x ) 1,400 ( X— )
+ 48 [ x ) + 210 [ x ]
168 | L e
! 1,673
|
T ——
t 1,485 d. 634
X 2 X 5
2000 [—x—] S (5% 600)
+ 800 | X ] +150 (  J—
+ 160 [—x ] == (5x 4]
+ 10 ([ X ) —
2970
«8 2523 R 4421
X 5 X 6
10,000 [ x2000) 36,000 [— x|
p——s (5 x 500] S (6 x 400)
H 00 [(Fk—] + 120 [(6x
P 5%y o [(6x1)




,. olve using the partial products algorigpm.

Unit7 | Concept 1

3, 8x 67 b. 11129x4
(- ) L .
c. [115%343 d. 116x678
— T — )
e, (11284 x4 f. 305x7
g. 3x2539 h, (114731x4
- )
g = il




L : " EM SOLVING . ‘
Lesson 2 @ RIMIMALR @ 07 o% PROBL

: then solve using the standard algorithm as in the example,

3. Estimate the product,

! Example ‘ =
| — Esllmatﬂ nSWer _\
| 5
4 0 38
38 X 7 X 7
___.x ‘ 280 6
+260
L
Estimate Answer
s = 1 7 \
b 4
_—
—— ]
(n Estimate — Answer
b. L2 33 s
x 3
_J T )
Estimate Answer —
& 289
X 4
d i 13y ——Estimate Answer
b 2




o, 141 760 Catimate
¥ )
f, 1 1349 Estimate
X 2
g. 4917 Estimate
X 5
h, L) Estimate -
2‘ 327 Stimate
X 4

4. 1] Solve using the standard algorithm.
4]

a. 7x30 b, 27x3
d. 284 x 4 e. 630x5
g. 735x5 h. 1,390 x 2

5. Compare. Write "< , > or =" for each | .
]
a 4x3260 3x467
d. 5x2721 6x231

b, 8x1991 5x321
e. 7x408° 6x476

Unit 7 | Concept 1

Answer

Answer

- Answer — —

— AN ———

c. 4x 800
f. 204 x 2
L. 2213x 4

€. 2x3750 3x2500

f. 4xT7424° 8x3695

125



LessonJ e CMMIR @ ' po0r & PROBLEM SOLVING

[ " UrJrJJrJrJ(
6. What'stheError? Hany made an errorin his ’fHany
multiplication. Describe his error,and exp S
[ X
how to find the correct answer. | _&‘\4

Three students tried solving 328 x 2 using the standard algorithm. Explain who yoy thin
solved the problem correctly and identify at least one error in another student’s SOIUtIOn

e~

Student 1 ’ 328 Student 2 3%8 Student 3 | | 1328 “‘
p A 2 X 2 'Y 2 l
- bub 656 “T4s

8. How can you tell without solving the whole problem whether 53 x 7is less than
s or greater than 3507

9. 11 FixtheError.
L
Look at the standard algorithm solution for each multiplication problem.
Circle the problem if the solution is correct. If the solution is incorrect, fix the error.

2 21 ].
158 3,142 { 08 | | A70 ‘ 1 6
% B X 5 x 2 X 4 X
| | 7374 | |7 5,710 86 | | 1880 | 6286
il

- @Challenge ﬁooooom
'i 19. Find the missing numbers on Manal paper. 0

1 L]

1

’ Explain your thinking.

S 126




A. 63 B. 378

B. 1,200
c. 278 D. 368 C. 1,410 D. 3192
3, 2x1324= 4. 504x 6=
" A 2,648 B. 8462 A3 B. 30,240
C. 26,480 D. 2,688 C. 3,240 D. 3,024
e
5, The product of 192 x 3is near close 6. Which product is NOT correct ?
Cto——— A 63x4=252
A. 400 B. 500 B. 3x48 =144
C. 600 D. 700 C. 7x27=149
D. 6x153=918

7. Which statement is true ? "Estimate"

A. The product of 3and 27 is less than &0.
B. The product of 5 and 41is less than 200.

C. The product of 4 and 113 is greater than 400.

D. The product of 7and 98 is greater than 700.

8. What is the ones digit of the product of 53 x 6 will be without solving the whole problem ?

A 3 B. 6

C. 8 D. 9



7-6 Two-Digit Multiplication

3 7-7 AreaModels and Two-Digit MUItip"Cut]
. o

< mwtwo multiples of 10

20 statues for 30 pounds Q Remembey

Lesson

#~  Essam bought

o ~ N each as souvenirs, how much money The numbers 10,20, 35
did he pay ? are multiples of 10, 40,
. B /m e =
A 4 Multiply: 20%30
¢ /l / /.,_-_. AN l
e " Howto find the product of 20 X 30.
_/'\f 7 N\ /f-":-_' .

X

O P I —— 28

2/0650 =600 m=p Multiply2x3=6 [(Basic Fact]
\</r' « Put 00 on the right to get the number 4,

So, he paid 600 pounds.

Notes for parents :

+ Let your child notice th
at the product has a
the factors plus any additional zeroes in th: :aasrl‘z fzaectmerz: X1 ol s S
product.




30 b. 4070
a 50 g

a e
=5x 3 x10 X 10"Commutative property"
=[5 x 3) x (10 x 10) "Associative property"
= 15 X 100 = 1,500

b, 40x70=[6%10) x [7x10)
=[4x7)x (10 x10)
=28x100
=2,800

Mm your understanding

AN b. 40 %70 =2,800

You can use
the properties of
multiplication

————

1. Multiply : 70 x 40
a. Find the product of 7and 4

¢. Writethe productof70and40

2. Multiply: 80 x 90
a. Find the productof8and9. —

¢. Write the productof 80and90 ———

b. How many zeroes areinthetwofactors?

b. How many zeroes are in the two factors ? =

*Let your child notice the number of zeroes in each product.




W14, | Multiplying a 2-digit number by a multiple of 10

A primary school is formed of 30 classes of 25 pupils each,

Calculate the total number of pupils.

Multiply: 30x25

You can use the area model.
20 5

30| 30x20=600 30x5=150J‘

30 x 25 =600+150 =750
So, the total number of pupils is 750.

Example 2

Multiply.

a. 60x17 b. 48x90.

Solution @ 10 7

R G0X =600 ERD 60|  60x10=600 |60 x?:z.zﬂ
=1,020 -

40 :

ki » 305 4,500 rded 90 |  90x40=3600 |90x8=720

=4,320

m your understanding

! » Multiply:28 x 70

 Work area |

Notes for parents :

» Let your child notice that the product of any number and a multiple of 10 has a zero in the ones place.

i
w
o




| 4

pass®"" did B
muchmoney CiE2assem pay 7
HoW
. 47
wuttipt¥” L
canuse the area model as fol|gys
you '
=10+2 *47=40+7
r___fi
x |40
o W xkl—zon ]
o B[ eslan |
2 2x40=8p
_-_____‘_‘___-___‘_"_‘—-I—__

47 =400 +70+80+14 =564
0 gassem paid 564 pounds.

Example 3
ysethearea model to solve the following,
5 T4%33
golution @
! —r__'_'___,_.._‘__._—-—
X 30 3
70 | 70x30=2100 | 70 x3 =210
4 | 4x30=120 4x3=12

——— =Nl two-dig
pought 12 books to reaq. Each book o

Unit7 | Concept1

-digit multiplication.

sts 47 pounds,

b. 49 x 56

b. «49=40+9 +56=50+4¢

X 9

40

50

50 x 40 = 2,000 | 50 x 9 = 450

6

6 x40 =240 6x9=54

74,x33=2100+210 +120 +12 = 2,442

m your understanding

49 x 56 = 2,000 + 450 + 240 + 54 = 2,744

-

» Multiply : 41x 36

+ Let your child write the factors in expanded form before finding product.

» Make sure that your child multiplies the correct numbers

together.




]

7-7 Area Models and Two-Digit Multlpllcqtlon

7-6 Two-Digit Multiplication

@ RIMIMEER @ ! o PROBLEM SOLYING ‘.1 From the schOOIbo
o
1. Find the following products.
a. 20x40= b. (.130x50= i c. (1120x80=
d. 40x70= e. [.150x60= ’ f.30x90=
g. | 40x40= h. 50x90= i, 60%20=
j. 50x80= k. 260%x30= L. 60x80=
m. (170x70= n. 80x70= o. 190x70=
p. 80x80= - - q. 80x90= r. 90 x90 =
S T —
g . [ Complete the table.
Problem Area Model ' Numbers and symbols |
i_ —_—
a. 40 x 62 — 2,480
b. 70 x 55 e I
C. 54 x 30 L IS S—
d. 40x78 _ N '
i
e. 44 x 20 == = _ - S ' s B |
f. 15 x 30 S smeete B |
g. 10 x 40 L. I .
h. 72 x40 = il _
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- colve
10%0= b. (1120 x 54 =
¢ 20%x66= d. 30x18=
130x78= f. 11123x40=
g. 70x87= h. 11190x32=
p 3 create area models to solve the problems.
", eix23 b. 45x 28
x o - -~
== — S ]_} _‘
- |=_J_ I | —
e e
c. 60x12 d. 22x17
x | - ' N
e. 34x19 f. 72x15
X X
g. 24x37 h. 45x29
x R X
|
|
i. 61x26 j. 58 x 44
| X X




Lesson 3 olivivhit @ A PRORLEM SOLYING

5. 1 Error Analysis.
Examine the student’s worlk s his answer reasonable ? How do you know ? Explain your thinkj
Ny

22x50=(20+2)x50= (20 x 50) 4 (2 x50) =100 + 100 =200

6. Answer the following.
“ a. Amerchant bought 20 boxes of soft drinks for 40 pounds each.

How much money did he pay ?

R

b. (.1 Agroup of 38 people want to travel by bus.
Each bus ticket costs 30 LE.How much do they need to payinall?

———— =

¢. The book store ordered 34 boxes of a new book.
There were 24 books in each box. How many copies of the book did

they recieve ?

d. Mina runs 14 hours every week.
What is the number of running hours in 29 weeks ?

e. Ajarof sweets holds 84 sweets.
How many sweets are therein 16 jars ?




Multiple Choice Questions

e the correct answer.

Choﬂs
e S =3,500
| (0x90° 2 <70
"4 3 B. 360 A. 30 B. 35
c. 3,600 D. 36,000 C. 50 D. 53
i
R 4, 19x30=
3. 53% &= o)
A 280 B. 424 A. 57 B. 1930
C. bk D. 640 C. 273 D. 570
o
5, Whicharea model best represents 69 x 4 ? 6. John's study group is coming to his house.
¢ 9 4 ** Thereare 11 people in the group, including
John.He would like that each person in the
60| 540 240 group to have 12 crackers as snacks. Which
area model represents this problem ?
& X n 1
40 4
B = 12 | 132 12
2 22 2
69| 2,760 276
B. X 1 n
12 12 12
G 90 6 n n n
4 360 24 C.
X 10 1
10 100 10
2 20 2
D 60 9
o 20 36 O[] 0 [ 1
10
2 20 2




m QRIMIMIIR @ LRI

-

What s the unknown value in the area

model representing 26 %537

% | 50 3
20 | 7000 | 60
ER 7 | %
A. 40
B. 400
C. 4,000
D. 850

g. What Is the correct way to use
ey,

& PROBLEM SOLYING

9

model to multiply 54 % 277

A, 742045044 =81
B, 1,000+ 350 + 80 = 1430

C. 1,000 4 350+ B0 + 28 = 1455
D. 10,000 + 350 + 80 4 28 =10 455

—

2w

Mona made 11 bracelets. There are 13 beads on each bracelet. How many beads are t,
€ €1

on all 8 bracelets ?

A. 130 B. 132

)



7-8 Algorithms and Two-Digit Multiplication
7-9 Putting It All Together

Multiplying 2-digit numbers by partial products

A group of 25 students each Jumped rope for 13 minutes,
How many minutes In all did they Jump rope ?
Multiply: 25x13

You can use algorithm of partlal products as follows,

Multiply the ones 2 Llne up partial
bythe ones 1 z productsin
the correct place
165<«—3x5=15 . value,
ETr
Multiply theones [ 5
»
by the tens . 1\3
15
60 =+—3%20=60
Multiply the tens by the ones Multiply the tens by the tens.
Then add the partial products.
2 [ @75
7 :
x13 X 13
15 + 15
60 + 60
50 <«—10%5=50 + 50
200 <—10x20=200
325 )

So, the number of minutes in allis 325

Notes for parents :

« In this lesson, your child will apply a variety of strategies to solve two-digit by
two-digit multiplication problems.

. TN

|
h .
WA
’ -

. 5 2
i :" ]
Pt ]

‘_. ol 4
o . 7]
1 e
i % | 5
\ 1
! .
Y o’
o 3
Ein T

(T A

[y ™
g 0 -

A\ -
LY g (T2,

I [

| Lr v,
[ L
» St
WA i .

o s
¥ -5, "
- »
' R .
'
v | 1o
o
' z s e
o g :
ML L 4
-lj..' ;p’
w B 7

-



_

Lesson 4

Example 1 g ——
Estimate. Then find the product by the algorithm of partial products.
a. 19x42 b. 81x37
solution (7]
a Estimation Multiplication )
I R
| 19x42= 19
| | x 42
I | 18 <—[2x9)
20x40= 800 + 20 =—([2x10)

+360 «——[40x9)
+ 400 <— (40x10)

] 798
Since, the estimation 800 is close to 798, then it is reasonable.
b. [ Estimation Multiplication )
T
81x37= 81
| | X 37
, I ] A—px
80 x 40 = 3,200 + 560 <—([7x80]
+ 30 <-——[30x1]
+2, 400 <—[30x80)
29%7
= =
Since, the estimation 3,200 is close t0 2,997 , then it is reasonable.
m your understanding
Copy and complete.
a. 45 b. 23
X T2 X 98
10 —((OOx[]) 28 =—|[Jx{ ]
£/ . 80 == I%[]] + 160 «—[Ix[])
+ 350 <—([Jx{(]) + 270 —(Jx[])
+2,800 <——[_Ix[] +1,800 <—[ x|
3,240 2,254

Notes for parents :

* Your child may have difficulty decomposing numbers when a problem is written vertically.
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ﬂ%y standard algorithm
tor creates 24 pictures for each secon \

ima
AN anlr:imat ed cartoon.
nad
of? many pjctures aredrawn to Make a Ccartoon
Hofis&S seconds ong?
tha
; 5
qultiply 24 :
_— Stepl ——— ——— Step2 — all | Eee—
',;wltiplv by ones. Multiply by tens. Add the products,
2 5 1
24 2 7
N £ 24
x 45 l/ X 45
| 720<—5x2 X 45 120
| 120 +960
| 960 <—40%x24 1080
‘ '
L//,h—‘ :—_____-________"——————___J S— e’
6o, the animator creates 1,080 pictures to make 3 45-second cartoon,
pxample 2
Multiply by the standard algorithm.
5 3817 b. 86x54
;olution @
5 b. 3
&3 7
x 17 B6
T 266<—7 x38 x 54
b4 b +4,300«—50x86
4644
Example 3

The greenhouse has 45 bags of potting soil.
Each bag has enough soil to pot 29 plants.
How many plants can be potted ?

*Remind your child that although he/she has been learning different strategies for multiplication, mathematicians

work towards being efficient in their calculations. It might take a long time to draw an area model to solve a

problem, so they may choose to use an algorithm like partial products or the standard algorithm.

139




solution (7]
Multiply : 45% 29

————{ One Way

Bassem used standard algorithm
(regrouping) to find the product.

|
n';rnn‘i";-fjt'a(}!‘}le‘xUi
1

Bassem J

[ 3 |'}

| Y

Y |

lox 45 4

\' 1 45— (5%29) ’
41,160 <—[40x29)

lf'_ 1,305

‘ O0000

| AnotherWay |—

Amgad used partial products,

|oooon00000 00000‘00“0'

Amagad

29

x 45
| 4 5<+—[5x9)
A + 100<—(5%2)
+ 3604—-—[40;(9]
> + 800 <«— (40x20) (

1,305 J

-

So, there is enough soil to pot 1,305 plants.

m your understanding

Solve using any strategy.

a Sy =——

b. 24x88 =——

Notes for parents :

* Help your child make connections between the partial products algorithm, and the standard algorithm for

processes.

two-digit multiplication. Making these connections helps your child build deep understanding of multiplication



r glomm= = R de FEOELEM SOLYING (.| From the school book

wx26= b. .138x75= . 55x48=
x - "
3 & | .
! :

h e x ]i x —_—
SRS +

|
_ % |

|

03x28=__ | h 60xi8=__ i o89x4T=

4 x | X
= + +
= A N o
e + + o




@ NIMEMBER @ UNDEREIR

2. Solve using the standard algorithm.

a [1152x36= b, 25x78 =

% PROBLEM SOLVING

o b. 1 67x 21 =
d. 82x45= N
= e-m76x15_.
. 99 x 1 - = B
g 9x21__‘x X -
' X59 =

S

C. 1”63)(28-_:

c m43x34:
f 17"32:‘______

. m83)(15:-_-______
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t ) for the incorrect statement
35 X 11 - 385 [
a —" ) b. 86 x42=3512 ( )
75=(6/ X5 +(67 x7
¢, 67% b J | d 18x32=1832 ( l
: 5. use ns , <, or =" for each ( ) ; _
g, 25%4h | 200 b. 50 x 40 ( ) 2,000
c. 8x2 ) 30x15 d. [35x7)+(35%x10) ( ) 3BxT
e 46x3 () 33xy4 f. 23 x 40 ( /J 92

é--_-what's theError ?

Maged says the product of 84 ang 25 je 210.1s he correct ? Explain,

_— _____‘_‘———-_____ —
7. What's the Error ? Describe 0000006000060
" Eman's error : Write the correct answer, Eman }

64
X 43
192
+ 256

448

8. Mariam ordered 47 binders for her office,
]

Each binder costs 15 L.E,

How much did the binders cost in all ?




&, PROBLEM SULVEY®

@ REMEMBER @ UNDERSTAND OW._Y o
Multy steps atory problems
the following
r 23 off-road buggles of 21sportcars 2 How much more ?

€59e]
I: y

Sportcar off-Road Bugg

b. 1 Malik walked 8 kilometers on Friday and

y.He did this every weekend for

4 kilometers on Saturda
How many kilometers did he walk by

& weeks.
theend of & weeks ?
e P
o IR e il
| S e

c. C1 Aya paints pictures and sells them at art shows.
She charges 56 L.E.foralarge painting. She charges 24 LE.
for a small painting. Last month she sold six large

paintings and three small paintings.

|

|

| |‘

| How much did she make inall?




v

4 A merchant bought 26 boxes of soft drinks

Unit 7 | Concept 1

¢or88 LE.each,and 46 boxes of syeets
for 57 each.
How much money did the merchant pay?

o. .1 The Super Bus has a total of 75 seats. The Super Rail seats are 3 times as many

people as the Super Bus and 53 more people than the Super Ferry. How many people do
the Super Bus, Super Rail, and Super Ferry seat all together ?

f, L) On Thursday, the Meat King Market sold 210 kilograms of ground beef. On Friday, it

sold twice that amount.On Saturday, it sold only 130 kilograms. How much more meat
did the market sell on Friday than on Saturday ?

®Challenge

10. Find the missing numbers. Explain.

35
X 6]

1035
+2,100

2,275




A

Questions

&
) O Multiple Cholce

orrect answer

Choose the C
2. bb» 22 =
1, 93x W= p
A, 1,209 B. 149 A 1212 B. 145)
c. 1302 D, 2,512 C. 2,266 D. 2663
s 5x2m | J 40 % 90 4. Whats the ones digitin the prody
' . of 34 x 277
A. n Bo = A. 8 B' 7
C. < c- 5 D. !.
e —
: e
5. What is the first partial product when g What is the last partial product whep,
® youmultiply 27 %18 ? Joumltiply 73X 287
A. 160 B. 200 A B. 140
C. 70 D. 56 C. 1,400 D. 14,000
o

. Alibought 18 shrubs to plant in his garden. Each shrub cost LE.14

7
* How much did the shrubs costinall ?
A LE32 B. LE.252
C. LE.324 D. LE.462

. Choose the closest number to the correct answer without performing the multiplication

2
&) "
operation.
3. 2931 b. | 42x18 C.| 83x54
A. 500 A. 400 A. 4,000
B. 600 B. 500 B. 5,000
C. 900 C. 700 C. 8,000
D.
1,200 D. 800 D. 14,000
146



the correct an )
, ot (/) to SWer and (X) to the incorrect answer.
’ . wagz[5x400]+[5x70]+[5xal

. 25,(36:800
. 17xh=68
4. 3%256=768

. d
o 8X125 92:;““ reds [ )
8

IS S
f. ?! 140 56 | »the area model represents 7 x 82 ( J

e D

choose the correct answer.

a. Which choice correctly uses the distributive property of multiplication to find the
' product of 429 x 7?2

A [GxT+[2%T7)+(9x7) B. (400 x7]+(20 x 7) + (9 x 7)
C [6+7)x[2+7)x[9+7] D. (400+7)x(20+7)x(9+7)

b Which partial products can be used to solve 48 x 4 ?

A. 160 +12 B. 80 +32
C. 160 +32 D. 80+12
c What is the unknown value in the multiplication problem ? 547
x 8
2376
A 2 B. 4 C.5 D.'?
2. What is the missing value in the area 0 "
model representing 29 x 167 20 [ 200 | 120
A 19 B. 90 9 o 54

C. 30 D. 200




Assessment eRINIMRER  ®" O N

e. Which partial products model represents

this multiplication problem?

A. [Ax4]+[&x10]+[ADxt«]+[30x10]
€: [4X4]+[ﬁx30]+[10><4]+[TD><30]

f Whatis the correct way to use theaream

o PRODLEM SOLVING

B. [4+b]+[4+10]+[30+4]+[30+
1
D. [4+£.]x[4+30]x[10+4]x“0$3[]
Y

odel to multiply 362 x 87
60 2

300
Bli

A. [300><8]+[6DXB]+[2><8]
C. (300 x 8] x (60 x 8) x (2 x 8]

B. (360 x 2] + (62 x 8]
D. (360 x 8] x (2 x 8)

3. Complete.

a. 0
54

X e
3 A el

e. b2x9=__

D
b1 oo
322
x 7
OOOaA
d.
x8 2
4+ —
f. 58x23=__

4 put™>, <or ="
a. 6x35 O (30 x &) X (5 x 6]

c. 29x31 C] 28 x 32

b. 167x4 () 400+240+28

N
d. 8x375 C’ 15 % 20



5.

6.

10

i

12
~,howmany cans will be donated ?

Concept 1 Assessment

vultiply 467

Findthe product of 38 x 18

Jse the area model to Solve 9 x 154

nyo tellwhattleon
Hcha you 1 esdi 0
git fthe prod
ucto

hole problem ? F54 % 6 will be without solving the

amalsays"Tofind 4 x13, Canadd 12 ang 40

noyou agree or disagree ? Explain

How can you tell that 5 x 76 i pe atleast 3 digits 7

—
—

Bassem reads books in a serjes of mysteries. Each book has 128 p_ages

How many pages will Bassem reaq if he finishes 9 of these books ?

= —
e
e ——————

Eslam's school has 26 classroomg |f each class donates 52 cans of food to charity

y—



< @) Fast Fact ) ———

Cheetah is the fastest land
animal in the world. A cheetah i
can reach 2 Mflmetas |1
per hour. PR
If a cheetah ran for quarter an |
| hour at its fastest speed, how

o)
. 2 -} 2 - ¢
Y R PR Y

. T L aeh 3 - o ol S ’

s ':..‘ﬂ'."r*"' ;
PR "..',__' il e
Y SN [ VR .

e e
L . L L '..: g PRl N——— e el it Ll
S s : ¢ et L L ! s AT
o il o IRLPEE £ e L
o e S ’
» A i y P s Mﬁ_ﬁ,ﬁ."h.ghﬂ\‘ -
A i 9T e W AT L ’ by 5 oo
wat . ~ R e b S g3

¥ "-
i far could it run 2 s i

Ll A,
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Concept Overview

In concept 2:

Dividing by One-Digit Divisors, students build on

their learning in primary 3 to deepen and extend their
understanding of division and improve their procedural
fluency. They explore three different strategies for
multiplying the area model strategy, the partial products
algorithm, and the standard algorithm. They apply
theirknowledge of place value, patterns when dividing
multiples of 10 by one-digit numbers, and multiplication
facts to solve division problems. They use the
relationship between multiplication and division to check
quotients. Good mathematicians make connections
between mathematical concepts and use those
connections to solve problems. This concept encourages
that practice. Students end the concept by solving
challenging story problems involving all four operations.

[—on| Lesson
Stlal Name Vocabulary Terms Learning Objectives
@;}E— 7-10Exploring | Dividend - Divisor- | « Students will identify the dividend, divisor, and quotient of
' Remainders Quotient - Remainder a division problem.
» Students will solve division problems.
; = Students will explain what a remainder representsin
a division problem.

[lessoné | 7-11Patterns Dividend - Divisor - « Students will use place value, multiplication facts,and
and Place Value | Quotient - Remainder | patterns with zeros to divide multiples of 10,100 and 1,000
in Division by one-digit divisors.

“lesson? | 7-12 The Area Area model - Dividend - | « Students will use area models to represent and solve
Model and Divisor - Quotient - division problems.

Division Remainder

‘Lesson8 | 7-13 The Partial | Partial quotients « Students will use the partial quotients algorithm to divide

| Quotients algorithm dividends with up to four digits by one-digit divisors.
Algorithm
7-14The Standard algorithm - | « Students will estimate quotients using properties of place
Standard Regroup value and patterns in multiplication and division.

Division « Students will use the standard algorithm to solve division
Algorithm problems.

Lesson9 | 7-15 Division Accuracy - Reasonable | « Students willuse properties of place value to accurately
and Multiplication | - Regroup record quotients.

« Students will use the relationship between multiplication
and division to check the accuracy of quotients.,

7-16 Solving Review vocabularyas |« Students will organize information in story problems to
Challenging needed determine when to add, subtract, multiply or divide.
Story Problems « Students will solve story problems using addition,

subtraction, multiplication and division,




Sl ;.10 Exploring Remainders

Pl R

Three friends are playing a game of dominoes.
There are 28 dominoes in the set.If each player
rocoives the same number of dominoes, how
many dominoes will each player get ?

How many dominoes will be left over?

« This problem would be solved using division.

Sometimes a number cannot be divided evenly.
The amount left over s called the remainder.

Divide: 28 by 3.

Write 28 +3
r Step 1 Step2
Use 28 counters Draw 3 circles. Divide the 28 counters ,

3 equal groups.The counter left Overis .

.. . O . remainder.

008,
: | %00
| - = 900 ®
| Eeee =  005¢¢
| Soceloee 0 ...
= - — ® The quotientis 9 and the remainderis1
——0 OF— g o
— Math Hint—_
~ '.',.2 e Then:28 + 3 = 9 R1 i H."Tt '
o E—— T E i kA The sum of the digit 2and §s

dividend divisor quotient remainder | 10and10is not existing whe;
skip counting by 3s so, there |

So,each player will get 9 dominoes. will be aremainder,

There will be 1domino left over.

l
Note that f A}

3 ALERT
If the number is.dwided equally, Ifthe remainder s greater
the remainderis 0 than the divisor, keep dividing
Examples:27 +3=9R0 the counters evenly until the
40+8=5R0 remainderis less than the divisor.
Notes for parents :

* Ask your child what the numbers in the equation represent in the problem. Label the
numbers in the equation with the correct vocabulary words.

T



Unit7 | Concept 2

1
Examplc tand th
otien eremain
ind the @ b. 23 cerou May use counters to model
j BH o A c. 32+3
golutio” Y
_ . Q Remember
¢ DiVision is the inverse
a | N®® ! of multiplication
\ 00 \// _
N 2x6=12
12+2=6
So
® 13+2=6R1
O 23+4=5R3 teT
o because13=[2 x 6) +1

Note that f

The remainderis
32+3=10R2  alwayslessthan

the divisor.

example 2
there are 62 students in fourth grade in a school. Each table in the library room seats six
students. How many tables are needed to seat all fourth graders ?

¢olution @)

This problem would be solved using division 62 + 6 =10R 2
11tables are needed [10 tables will be filled and one more table is needed
for the 2 extra students) So, 10 + 1= 11 tables are needed.

M your understanding

Find the quotient and the remainder. You may use counters to model.
a. 17+5 b. 26+6 c 9+2

*Your child may be confused by having a remainder in a division problem. He/She may try to place the

remainder into an existing group or into an additional group, both leading to unequal sharing.




710 Exploring Remainders

ooy o PROBLEM SOLVING ! From the schog,
@ REVEMELR et

rind the quotient and the remainder. complete the table. you may use counters ¢, "
1. Fin

Problem ". Quotient 1Remainder = | _Model
a 15+6 }
[ ] _ ——
- —'l-- -
sl sk - |
(o R
K | 3845 \ \
ll————|l||-——— \ sl
\d | 2+7 \ \
|
| | e
le.\ 2%+3 |\
\ I |
t ==l
e ——
2. Find each quotient and remainder. Complete the following.
o B
an+3=( R[] b.7+2= JR[
e 26+4=( R[] d.51+8=( R ]
e.20:9=( R[] \ f2+5= R[]

g. Find each quotient and remainder. you may use counters to help you.
a. 13+2=

b. 8+7= c 30+4=
d 22+6= e 42+-8=—— £.S51+7=———
g. 26+5= h. 93+9= L B3F+b=—
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. uotient an i
b pind each d d remainder, Circle all the problems which has 0 Left over.

20+7= 6

a b. 18+9= ¢ 31+8=
Z25Y= S

d. e 51+5= f22+2=
Lh+6= o v

g h. 24+3= I, 65+10=

golve the following problems,

hold 6 b
a. Aboxcan hold & basketballs, There are 50 basketballs. How many boxes can be filled ?

" How many boxes are needed to hold all the basketballs ?

f_}.a

equally ? What s left ?

—eeeee

(1) Saleem brought15 pies to give to 4 of his friends. How can Saleem share the pies

c. Rose has 19 biscuits to give to her9 friends.
How can Rose share the biscuits equally ? What is left ?

d. Afull box of crayons contains 8 crayons. If each of the 42 students in a class needs to

use 1crayon at the same time in a class activity.
How many boxes of crayons are needed for all the students ?

om

each box. How many boxes will be needed to ship the mugs ?

() There are 48 mugs that need to be put in boxes and shipped. Five mugs can fitin




-!E!HEI .IHHIHIIH' bt
y stage golng to the big game against anothersch

ar
studentsin r)rhi‘l;\J " ane car,how many cars do they need ?
e ?

00[
(. Thereare 30

 tudents.If4 students cant
p |

Gwim Meet. The swim team is taking a bus to a sWim meet. Each p,
' a !
g «ty students will attend the meet. How many buses are Needgy,

bols to explain your thinking.

g. ]
o geats 40 5tudonts.5|

Use numbers,words,and sym

h. *! Thirty-two people need to travel to a special event in Zamalek. There are Many

different ways they can travel to the event. They can only choose one of the Wayst,

travel for the whole group of people. Look at all of the forms of transportation they ¢z,

take on the chart.
Form of transportation How mz:)r:;/ gae:;‘p'il.e canf EQﬁ‘
Microbus 9 T
Motorbike 2 R
Car 4 =
Van 7 ————

Which form of transportation should the group take to the event ? Explain your answe;

® Challenge

§. Each page of Ahmed's album holds 4 photographs. He filled all 9 pages and still had 3
** photos left over.

How many photos did Ahmed have to start with ?




o the correct answer.
0°

¢he ,
The amount that is left over when

* umber cannot be divided evenly is

L ]

. The number, not including the

remainder, that results from dividing is

called calle
A, dividend B. divisor A. dic:;idend B. divisor
c. quotient D. remainder C. quotient D. product
__———"""'_P-_._‘—______________'_'——‘———-——.____
w 3= 4. 28+6=
A 3R B. 4R1 " A 5R2 B. 4R4
c3R2 ~ D4R2 C. 5R4 ' D.4R2
f‘fﬂ‘-’-_.-_
5 4b+8= 6. 36+ 4=
° A 4R6 B. 4R8 " A 8R3 B. 9R1
c. 5Ré D. 5R8 C. 9R2 D. 9RO
7'52':'7:‘ 8.5+3=
K‘A_7R1 B. 7R2 . A. 1RO B. 1R1
C. 7R3 D. 7R4 C. 1R2 D. 1R3
e
g 2+9=— 10. 25+-2=
¢ A 2R8 B. 3R1 ° A. 12RO B. 12R1
C. 3RO D. 3R8 C. 13RO D. 13R1
S
11. Which division problem does the model 12. Which of the following shows 22 +3?

¢
show ?

B. 23+-3=7R2
D. 21+-3=7

A 24+3=8
C. 26+3=8R2

A. 22 dotsin each of 3 circles.
B. 3circles, two with 7 dots and one
with 8 dots.

o

B
46
e

1.3. Mary cooked 32 cups of soup and poured
**itinto containers that filled up with 6 cups
each.How many cups of soup were left over?
A. 2cups. B. 4cups.
C. 5cups. D. 6 cups.

. Ramez is packing 54 muffins in boxes.

Each box contains 5 muffins. How many
boxes are needed to pack all the muffins ?
A. 9 boxes. B. 10 boxes.

C. 1 boxes. D. 12 boxes.

)




son
Les 7.11 patterns and Place Value in DIV'SIQ
h

6
3

Floarn
3@

Gara's family collected colns,when the Jar

was full, Sara's father gave the colns to his
“ three daughters,
t‘*" ! They counted 6,000 coins and shared them equally.
-
How many coins did each girtget?

Divide : 6,000 * 3.

4 Basic facts, pattern and place value can help you divide,

—————

. Use the basicfact6 +3=2 Whatdoyou™
be3=2 notice about the
: : attern of ?
i ‘ p of zeroes 7

b00+3=200
6.(_]9_0_+3:2,000 ‘

! ;

Three zeroes  Three zeroes

. il .

So, each girl got 2,000 coins. :
' 6= 3 e 2

6is called the divideng
3is called the dyisq,
2is called the Quotient

....... =

More Examples : B
32+8=4 40+5=8 63+7=9
320+8=40 400+5=80 630+7=90
3,200+ 8 =400 4,000 + 5= 800 6300+7=900
32,000+8=4,000 | 40,000+5=8,000 63,000+ 7=9,000

Notes for parents :
. \F’uur child Tmy only look at the place with the highest value and try to divide
or example, with 2,400 + £ 90 .
@58 3, he/she may try to solve 2 + 3 instead of 24 + 3.



' 1
gie P
e |
A

a0 2=
L=

o0~ #

g‘._ﬂlm +2=

rorns to find the quotiepy,

‘omﬁol‘l Ig]

T
40
400
4,000

[xample 2

b 15452

150 +5=
1|500 -+ 5 -
15;000 + 5 =

30
300
3,000

Unit 7 | Concept 2

C 20+4=
200+ 4=
2,000+ 4=
20,000 + 4 =

50
500
5,000

,_;_Emblem-————l_\_‘_afi_cfist_ﬁ_ Quotient |

1 90+3 | |

B w2 |

o oss0s |

W 1w00:2 | |

¢olution @

Problem | Basic Fact | Quotient

2 9043 | 9+3=3 | 30
b 1602 | 6+2=8 80
e 5500 + 5 | 55+5=1] 1100
d. 1,000+ 2 10+2=5 500

2 . uctient, especially when the basic fact includes
* Your child may be confused by how many zeroes to put in a quetient, especially when the ba

=8 T b ant e SO0 - Pmmrs an 'y ther
3zen. Forexample. the basic fact for 2.000 = 4is 20 =< = 5. The quotentis 300 since there are two ©
L L Qe Wi s ol %

TARAAS e by Vi an s
<023 In the dividend.



Example

Complete each

missing number.

e  J+3=100

b, 35000+5=( |
a. W0+7=
I |+8=30 f, 3200 )=s0g
d. 280 + =
golution L(2|
a. 20 ' b. 7,000 c. 300
4 7 ‘ e. 240 f. 4
Mm your understanding
1. Use patternsand place value to find each quotient.
| 3. 8%k=| | - b 18+9=[:] c. 3+3=
|
|
go+4= | 90+9=_ ] 30+ s
o0+4=( | 1800+9=(__| [ J+3=10
go00+4= | 18000+9=( | 3000+3=

2. Howcanyouuse16+4=4tohelpyoufind160+ 47

Notes for parents :

* Make sure your child recognize that the number of zeroes in the dividend is the same as the number of

160

[j zeroes in the quotient unless the basic fact has a zero in it.




7-11 Patterns and Place Value in Division

@ vikinm o
my o L ] soLrmg

From the school book

Use patterns - Valuie to find each quotient

F

rdas b.18+3= € 42+b6=
0+2= 180+3= L20+ 6=
s00+2= [ 1800 +3= 4200+ 4=
5000%2= 18,000+ 3= 42,000+ 4=
g7 rl=L = e 32+8= £ 63+9=
70-:-?-‘:: 320-:—8:.__ 630+9=
700+7=::. 3200+8= | 6300+ 9=
7,000%'7:;__, 32.000-:—8:;_ } 63,000 +9=
. = =

2. @2 Division Patterns Label the parts in the equation using the words divisor, dividend,
© 2nd quotient. Then, look for patterns to complete the remaining problems. The first

problem in the table is an example that is filled in for you.

r/iEquation

Basic [Related) Fact Quotient

600 +3

6+3=2 200

| e

150+5

L

1,200+ 6

200+4

700 +7

6,400 +8

4,500+ 9

s 27 =3




Lesson 6 @ REMEMIER

< find the quotient. Use basic

O M

& PRODLEM SOLVING

facts and place value patterns to help you divigg,

: o b. 3ones+3= "
a. hones+2= o ones
3+3=
s Jtens + 3
.~ ens+3= .
hLiens + 2= tens tens
30+3=
L0+2=
4 hundreds + 2 = hundreds 3hundreds + 3 = hunﬂrqq
oo 300+3= :
4L00+2=
4 thousands +2 = thousands 3thousands + 3= thou. "
4,000 +2= o, AEEIE—

c. 24ones+8=————ones d. 42ones 6= ones
24+8= _— 42 - 6=
24Ltens+8=———tens 42tens +6= tens
7| R - S— 420+6= -

24 hundreds + 8 = —hundreds 42 hundreds + 6 = hundreg
2400+8=— 4,200+ 6= ’
24 thousands ~ 8= thousands 42 thousands + 6 = thousand
24000+8=— 42000 +6= ’
e
4. Find each quotient.
o

a. 27+3= b, 54+9= ——— c. 120+6= -

d. 720+-8= e. M180+2= ————— R T E o —

g. 3600+ 6= —— h. 4900+7= L 3200%4=2 — L

jo 12 6400+8= k. 4000 +5= ——— L 2100+7=__

m. 30,000 +6= — - n. 81,000+9= 0. 24,000 +4= —

§. Complete the missing numbers.

a. 18+ =6 b. [;;ﬂ120+[j=20 e 630+‘ \=9U

g 100 < L] 800
J: D+9=9.000
""-D+5=5,000

.3200+(__J=400
L J+e=8000

_ J+3=30
_ J+3=s000

6] Jea=700
i 45005 |=500
L. 5—1—9000
o |+7=6000
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wve the following Problemg,
G0

6 s Farida's class is 40 Minutes |

ong.Sh
periods. Howlong will eqcy, Period b 9 - ants odivide herclss time Into 3 equal

b gassem s reading a book 0f180

, Pages.If he reaqds 9
how long Willit take him tq finis

hthe book 2

N were 540 cr,
¢, L There Yonsinalarge pn, Students were asked to put9 crayonsin
asmall box foreach student use,

How many small boxes wil( students neeq in order to complete this task ?

d. Ataprimary school, the students collected 3,000
Hospital. Each student donateq 5 pounds. How m

pounds as a donation to kids
any students donated ?

e. (1 Riding the Metro
There are 8,100 people that need to get to work on Monday morning at 7:00 a.m. They

allwant to take the Metro to work. There are 9 cars on each Metro. If 90 people can fit in

each car, can all the people take the same metro to work 2 Explain your thinking using
numbers, words and symbols,

f. Afactory produced 54,000 pieces of toys in 9 months. The factory produced the same
number of pieces each month.

How many pieces did the factory produce per month ?

®Challenge

7. Aclass wants to plant 450 flowers for Earth Day, in equal rows. |f they plant 50 rows.

: ?
How many flowers are in each row *




Choose the correct answer: 2
3 B. 50
1. 80+ 2= A5
° . B, 40 ¢ 500 D. 5,000
C. 400 0. 140 -
4. 3000+37
3, 160+4= N 8.10
T AL B. 40 €.100 D.1,000
C.400 D.4,000 s ———
— 6. 2,000+ 5=
5. 420057 ® Ab B. 40
o 0
A. 6 B. 6 c. 400 D. 4,000
C. 600 D. 6,000
e
// ey
g BALTE —
B e (@]
7. 63,000 9 . A 8 B. 80
A7 ' C.800 D. 8,000
C. 700 D. 7.000 ' o
i
/ Bt
. 5l 1g. 3,500 + =700
8 8. 80 A 2 B. 3
C. 800 D. 8,000 C. 4 D. 5
T ol
161. +7=300 13. _ +46=4,000
A. 21 B, 210 A. 24 B. 240
C. 2100 D. 21,000 C. 2,400 D. 24,000
13, 63tens +7= tens 14. 27hundreds + 9=
A 9
o B. 90 A. 30 hundreds B. 3tens
. D. 9,000
C. 30tens D. 300tens
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Py 7 7-12 The Area Model and Divisiop,
I'llmlll:rl
AR

{fesson

=

! Bassem's family drove 615 kilometers in

3 days. They drove the same number of

kilometers every day.

How many kilometers did they drive perday ?

Divide: 615+ 3
You can use an area model for division.

stepill

Draw a long rectangle and write 3 on

—Think
the smaller left side of the rectangle. s
615=600+15
3 :

Since 3 x 200 = 400, then 400 is a multiple of 3 which is the divisoriy
this problem.

Draw a vertical line inside the rectangle. Write 3 x 200 = 600 inside
the section of the model and 200 underneath.

Remember
3 3x200=4600 - Areaof rectangle
200 ~ =length x width

Since3x5=15,then15isamultiple of 3whichis thedivisorin this problsm
Write 3 x 5 = 15 inside the empty section of the model and 5 underneath

3 3x200=600 ([3x5=15

200 5 RO

Notes for parents :

* Your child may get confused with how many zeroes to place at the end of a product.
For example, he/she may write 7 X 3,000 = 2,100 instead of 7 x 3,000 = 21,000.
Your child may also write 4 X 500 = 200 instead of 4 x 500 = 2,000




P J answers and there ke na left oyer,
g yv
“ a8 f‘“” 4 1!.! : fl]f! ;l' f} fp,r' feerriigitieles

/ e 2004 5= 205

’ f,:ra ' ’{- ?nb
!I o 205 Kilometers per diy for 3 days,
1
B | il
4 5 /1 J‘! Shareed ; g
herc ¢ 546 penclls v hared amang & classrooms, How rrarry preneils witl each
135" (Ooom get?
(%"

golution @

Di\’idc:sr‘a +5

ysean area model for division,

5ol
praw a10ng rectangle and write 5 on 5 Lr
he smaller left side of the rectangle.

Siep2)

gince 5 %100 = 500, draw a vertical line A, p—
inside the rectangle.

100
yrite 5% 100 = 500 inside the section of

the model and 100 underneath,

There are 48 pencils left to be divided known that
5x10=50and 5% 9 = 45

5 5x100=500 |5x9=45

100 9
S0,write 5 x 9 = 45 inside the empty section of

the model and 9 underneath.

*Your child may have difficulty determining which multiples to use to stan dewrrposmg a dividend when
using an area model. It is most effective and efficient to start with multiplying the divisor by 10, 100 or 1,000.
Forexamplc, for 256 = 8, it is helpful 1o begin with 8 % 10 = 80 and o work up 1o 256. ii 167




ke another -
Sane 5| 5x100=500

R
I Since there are 3 left over not enough

‘ | ‘ group of 5,thereisa remainder that is 3. o .._(.ij
So.write 3 outside the rectangle next to the area model. 100 : R]
| )
| Check your answers.
Add the areas and the remainder 500 +45+3= 548
Add the sides and the remainder 100+ 9R3=109 R3
then: 548 +5=109R3
i So. each class will get 109 pencils and there are 3 pencils left over that cannot be shareq -
among the classes. y
|
! Example § ———— e
| ‘ Draw an area model to solve each problem. Q Remembe,
| | a. 69+3 b. 825+4 c. 3600+6 Check the left gyq,
i in each prob| .
H ” _——— €m
, solution [¥] —_—
i
] a. Think:69=60+9 b. Think:825=800+25 , 25=24 4,
|| 3 3x20=60 3x3:i‘ 4‘ 4x200=800 ax@

200 6 Ri1
Add the areas: 800+ 24 +R1=825

Add the sides:200+6R1=206R1
So, 825+4=206R1

& 20 3
| Add the areas:60+9=69R 0 [no remainder]

| ‘ Add the sides: 20 +3=23

’|| | So, 69 +3=23
I i C. 6 6 x 600 = 3,600 So, 3,600+ 6=600 [no remainder]
I 600
| —
i K _m your understanding
[ -
! ] i| Use the area to model the following problem.
L 535+5 ()
I
,, |} D D
||
A0 —
i Notes for parents :

-|’ [ + Let your child check the left over in each problem.




7-12 The Areqa Model and Division

SUNIETIN oy o FROBLEM SOLVING - From the school hook
‘geamode[tosolveead\ofmefollowing.
e b. 85+ 4
g - J
E 1
oo d. 159 +3 |
c :,_“;; b7 5 !
_— 2 |
S |
|
o 63656 f. 484 +8 !
T = e————mne o i

2. Use the area model to solve the problems. Show your work.

S b, (1167+3
d. -

169




NG
@RIMIMBIR @ INIIFIIIN o NTY & propLEM SOLV!

d. 810+9
|
| |
1 e —
| e _ ( 24846 '
| e. 762+7
; h. 535+ 5
| g (14554
iy SR S— .
l I i (132008 j. 4,500+9
1
il
| |

| 5
’ | 3. Solve each problem using an area model.

I a. Sylviais sharing her muffines. If she shares

63 muffines among 3 groups of people

| "
L ‘ | ,what is the share of each group ?




an organization donated 89 books to a school.
. books willbe shared among 6 classrooms.

Low many books will each classroom get?

.\ factory makes 546 teddy bears, The manufacturers
-ave boxes that can hold 6 bears each,

Low many boxesis needed to hold all the teddy bears ?

Low many bears will be left over?

—

e

Unit 7 | Concept 2

d. Seven classes collected cans for recycling
and made 497 pounds. They agreed to spilt

the money evenly. How much did each class earn ?

e. .1 Rashida saved 545 LEE.to buya toy car.
She did this by saving 5 L.E. every day she worked
around her neighborhood. How many days did she

have to work to save enough money to buy a toy car?




(., (0 There are BoA pencils, The pent Il% have to

b divided equally among 4 classrooms. How R\\
[ -
many penclls will each classroom get? 5

g. Amgad saved 868 colns last year, He wanted to

put them Into 8 Jars, How many coins willbein

each jar?Is there any colns left over?

h. Osama bought lunch for 6 people. He spent 672 pounds.

If each person's lunch cost the same amount,

How much did one lunch cost ?

i. L) Amirbought a book of stickers, There were 92
stickers in the book. He wanted to give them to 4 of his

friends. How many stickers will each of his friends get ?




Unit 7 | Concapt 2
wrlting Aboub. Math, T M0 492 carg th

{ atneed to park at the
nshp -
1 I|]“,‘l,ullum has & parking lots, The Stadlum wants
(hlot. How could you g gy P
iy

stadium,

the same number of carg
evious problem to help you

to explain your thinking,

to park

solve 492 + 4,9
| owordsynumbers ang Symbols

cril (ol Lhinking.
o

b

b owcan 96 3helpyou fing 694 + 3 ?
n '

b, Which choice best completes the area model to find 94 + 4 7

"' ? 4x3=12

20 3 R2
B. 4x20=80
C. 20+4=24 D. 4x16=20

A 4x2=8

Complete: 94 +~4=

¢. The divisoris 6and the dividend is 752. Divide.

d. Nine students are sharing marbles equally. If they have 12 marbles, how many marbles
. will be left over ? How many marbles will be left over if there are 112 marbles ?




t 47
srea model best represents g28

y ‘n'a'-"i'ﬁ;'s
:- //1; B' 8 8”100:800 833:2‘
A | uxwo=s00 [4%77 e
7 > Ry
100
/ D T
4x200=800 417:
C , &x200=800 Lx7=28 -
S—
=5 - 800 2%
//// _-_-_-‘\"‘-
. 4. Whichzarez model represents 52+ 75
2. Whichar modelrevresentsw-.—S? _
3 Whichares ° N 5 =
e 5x10=50 5x7=35 7. 7x7=49 7x1=3
/ T —
50 35 R2 7 T B
e e
B 5| sxw=s0 |5%7=% B. 5| 7x7=49  |7x1=7
=5 gx10=80 1x7=7 2 71' 5x10=50 Ix3=7]
10 7 10 7 Ri
D. _ D. .
5. 8x10=80 |1x7=7 7 5x10=50 |1x8=8
80 7 50 :

B
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. pnumberbestcompletes the area model to find 148 + 47

g, —_—
' 6r‘ ? 6% =24

—

svalueof ?is S
\ 5x2=12 B. 6x20=120
o 0 +h=2b D. 20+4+2=2¢4
which area model best represents 2,500 + 57 -
'_ Sl " . e —
A 5| 5x 50 =250 1 5[ 5x 500 =2,500
50 500
~ _ D. =
C: 2| 2x50=100 2| 2x500 =1,000
50 500

Amirwants to divide 250 pounds among his 3 sons, Which of the following area models
represents the problem ?

-~

A 3L3x50:150 3x3=9 ® 3| 3x80=240 |3x3=9
50 3 80 3
C - _ D.
3| 3x50=150 3x3=9 3| 3x80=240 [3x3=9
50 3 RI 80 3 R1
g g —— g. 372+ 6=
° A 25R3 B. 23R1 A. 61R1 B. 4IRS
C. 24R2 D. 21R3 C. 62 D. &1

10. Achicken farmer uses egg cartons made from recycled material. If 6 eggs fit into each
[)

carton,how many cartons will he need for 312 eggs ?

A. 50 cartons B. 51cartons

C. 52 cartons D. 53 cartons



7-13 The Partial Quotients Algorlth
2-14 The Standard Division Algorithrn

—
The partlal quotients algorithm

Bassem packs the cakesin groups of &

to sellin his market.

Ifan order calls for 898 cakes,
how many packages will Bassem need ?

Divide: 898 by &

e T s
Divisor Divideng
| 1. Draw alineas shown in the figure. . \*4 393 [
NSRS
2. Look at the dividend, start from the left -1ig ﬁ
there are 8 in the hundreds place = 800 i
. 800 is a multiple of & because 4 X 200 =800
. Then write 200 to the right of the | 4898|200
line [part of the quotient).
3, Write 800 under the dividend and AT 8__;0;
subtract from 898, you will get 98. - 800
B
‘/ 4. Write amultiple of 4 thatisunder98 | 4|89 8200
and subtract [note 4 x 10 = 40], (Bl {
then write 10 to the right of the line as | 9810 |
a part of quotient. = el
5 58

Notes for parents :
+ Remind your child to start division from the left.




Unit7 | Concept 2

_oatwritingd multiple of 4 under 5g and subtract

e REF - . f; o
5 rebx10= 40 < 58)and write 10 a5 5 part of quotient - g g o |
[nC ight of the line. 92
y{h 10
(e
- _40
5810
- 40
s e 18
~ ited multiple of 4 thatis close to 18 (note 4 x 4 = <18 —_—
. then write 16 under 18 and subtract and Write 4 as a part of ; W 200
‘ _anttotheright of the line, - 8 gg N
quo-™ .
, hen the quotient =200 +10 +10 + 4 - 40
=224 ‘“5—5 10
. Then 898 + 4 =224 and the remainder=2 B —?—g- 4
Note that - A&
4 does not divide 898 equally because there is 3 remainder = Zéj o i
remainder
/—'______._-—-—'—-____'_-'___——————_._
pivide.
, 856 b. 658 +3 c. 8785+7

¢olution (7]

- 60 - 600 - 7,000
18| 3 58|10 1,785 (200

< il - _30 - 1,400
0 28|9 85 (50

- _27 = 0
1 35|5

- 35

0

B+6=10+3=13 658+3=200+10+9=219 8,785 +7
and the remainder =1 | =1,000+200+50+5=1255

*Your child may use any multiple of divisor to divide.




Mﬁmating quotients

Each morning,Ahmed givesa recycling report on

his school's television system.

At the school,a team of 6 students picked up 257

recyclable cans and bottles. About how many

recyclables per student was that?

. Sometimes you only need to find an estimation.
One way to estimate quotients is to substiute
numbers that make mental math simpler.

. Mina and Marwan substitue numbers close to 257
to make their mental math simpler.

Mina thinks Marwan thinks
257 + bis about 257 + bisabout
300+6 260 +6
300+6=50 240 +6=40
Each student picked up That was about 40 cans
about 50 cans and bottles. and bottles per student,

Both estimations are reasonable.

Example 2

Estimate the quotient of 63 + 4

Solution [¥)

The dividend 63 is between 40 and 80

,then40 +4=10and 80 + 4 =20
ythen the quotient is between 10 and 20

Notes for parents :

* Discuss the purpose of roundi
unding versus using basic f :
el e _ Sic facts to eslimate by asking yo i i
———178 e 2;; i EB:m eas:e.r to calculate mentally. Demonstrate how using a bas? Yf s Whld? me‘lhod
A by having your child try to find each of these quotients ment TI ac.‘: gy
mentally : 300 + 6 , 240 + 6.




_ple3
fr . thequotientof 524 + 3
e
o tion 9‘|
o"
J -nd 524is between 300 ang 49
e

-3=100and 600 + 3 = 200

-quotientis between 100 anq 209

E_lck your ungtirstanding

e

—

| ysethe partial quotient algorithm to divide,

un

)23 | b. 783+ 5

a.

), Estimate each quotient,

i * b. 587 +2

Unit 7 | Concept 2

C. 762+9

*Meke sure your child use basic facts and place-value pattern to divide.



| The standard division algorithm

rd. fourth and fifth grades made

to display in the library.
umberofanimals.

students in the thi
525 origami animals

If each grade made the samen
how many animals did each grade make ? Origami animals
- ‘. Origami Is the Japanese apy
Divide:525+ 3 or 3/525 | folding paper nto dl"‘-’"?nlsh:;e
Step 1 Step 2 Step 3
Divide the hundreds. " Bring down the tens. Divide | Bringdown the ones.
Divide5+3 " the tens. Divide the ones.
1 | S 1729
353 27 Multiply 13 3|5 2 5| Bring down the tens. 315 2 5| Bringdown the one.
_ '3 o | Subtract5—3 -3} | Divide22%3 ;Z_U. ShidaTEEy
- 2 Compare 2< 3 22 Multiply 7 % 3 22
|
i 2 1 Subtract 22 — 21 -21
| 1 | compare1<3 1 5| Multiply5x%3
i[ é; Remember - 1 Subtract15—15
After you divide the hundreds, Compare0< 3
tens or ones place, the | -,

———— b : Check LJ
remainder should alwaysbe Multiply
less than the divisor. 3x 175 =525

e i The product
So,each grade made 175 origami animals. equals
the dividend
Other Examples: S———
a. Witharemainder b. Zeroin thedividend B ki
16 8R4 Check: 168 Multiply, The order of division
[B T i x 5 Shistiaddl this 117 Check: 117 is as follows:
, 6]7 02 x 6 Divid
-5 ’ B4 ( remainder - s
- l: o -64 | 702 Multiply
30 ] 844 10 Subtract
= . v - by Compare
I 3 4 2 Bring down
4 Lislessthan5, - 42 Rep?a}t1 this order
i ; until the division
soitis the remainder. 0 is complete. __J

Notes for parents :

«To : . o
help your child remember all steps in the division algorithm, let him/her use the following mnemonic or

Bring down).

mak [ 1 : i
e up one of his/her own: Don't Make Silly Careless Blunders (Divide. Multiply. Subtract. Compare




g
T .q765%h
e 9
#3080 |5
¢< 42 ,muttply ,subs
,; DIIOE o ST _’L%f:??-@f?safE.b'ing down.
p . Step -

044

— - & _-_‘-__'———-_.-
G5 | Divice L1765 Sgcmuning.,-
- o _16' = -;':'_ "-.
g emar WTTRS L —— 3 - ¢
i 16 - -z io=4&
e 32 Erride i o ’
-_— - 16 —- n-l"-’t-
T | St _u
SErat 715 Gl £,
—Fiaxrelce

-"':_____d_____._

-
- ™
L
m
q.
n
=
-
c
=1
Q.
o
0

Bfing downthe 3 tens.
Divide the 3 fens.
10 =
<L
4432

| | ySOWTItega 0
-4,

0 | 03 |

| inthe quotient.

Unit 7

-
‘.c.n-
- L

044y

41765 ] 25 domm g .
=16 | | >™gdouns
— e i T .
16 S
- Yo8 | PVIxk
| Subtras s ¢
05 ‘_:--:__:_.;’/'
‘0 re -"":—-':‘ —
e temzinde, =
1
-__'_'____-____-_-—-——_.___——

tep 3

Bring down the 2 ones. Divide
the 32 ones.

then,432 + 4 =108

M your understanding

Divide.

3.55+5 b. 685+4

*Femind your child of the division algorithm : divide, multiply, subtract, compare and bring down.

*Femind your child of including the remainder as a part of the answer.

&)




ﬂ-earnﬂ ~ Model Division
. | Model DIVISIOT,

Activity 1
Divide 48 into

3 equal groups. Write 48 + Jor 3/48 |
Make a model to show how many are

n each group.

Show 48 as 4 tens and
(Step | 8ones.Draw circles to

make 3 equal groups.

Place an equal
number of tens into

each group.

Regroup 1tenand 8

(Step3.

an equal number of

ones as 18 ones. Place

onesintoeachgroup.

Activity 2

Here is a way to record division. Divide 57 by 2.

Show the model and 2 equal groups.

MO0

Record :

2’57 \

e ——

:_.Q.i.'!‘:.‘.i.?. -tshe tens. 2 2tensineachgroup |

2[57 |
-— -4 4 tens used
HdbHbdoooo ; . 1 1ten left |

' m Regroup. Divide the ones. 28R1 8onesineach group ‘

So0,57+2=28R1

Notes for parents :

2[57

-4
17

<14

16 ones used

1

Tone left i

» Guide your child to model a divisi
ivision prablem slaring with tens, Lhis j
s, lhis is a more effici
ent method.

——

0



7-13 The Partial Quotients Algorithm
7-14 The Standard Division Algorithm

uppER @ UL ORTEE & PROBLEM SOLVING {1 From the school book
ph

e p.,,.tml quotient algorithm to divide.
¢ ( ' p

1 b. 1517+ 4 C. (1204 +6

{ a0+ 5 e (L1897 +4 f. 376 +7
(VB _ S
g 11590+5 h. 111892+ 4 L 111925+ 6
—
. (21216+3 k. 3,784+8 L117830+5

[ | ] [




Lesson 8  CHCEULEELINEN AT o PROBLEM SOLYING ‘

2. complete to estimate the quotient.

.

a [ 7243 |
The dividend 72 is between 40and 90,then 60 +3 = ,90+3=
_then the quotient is between and
b. | 52424 |
The dividend 524 is between 400 and 800 ,then 400 + =
,800 + =
.then the quotient is between and
c [ 735 +2 |
The dividend 735 is between——— and— ——,then———~ 2=
— 2 —
,then the quotient is between - and — —
d. | 7462+5
The dividend 7462 is between ——— and ——, then——+——=____
,then the quotient is between ——— ant ==~
_‘___--_\
E. Estimate each quotient.
a.632+8=— b.32+4=— — |c762+9=— |d.495+8=__
e.h3b6+8=—— f. 3,748'5‘2:___._ g. 4,681 3= |h. 8,642+5:____

l:. Copy and complete.

{—OB b 20R1 | « (JIRI | d (OO

. a0
. b 4[B 5] 5[5 8
3 =R I_ 3|4'|

- -0 3

2 () 0 () e =

_ 24 < I _O
° o | 7o :



Unit 7 | Canﬂpt2

s
454+ 3 b. 192 4
- 192+ 4 C.!.17718+2
1.'1,-'0["( area = TR
40+6 _— |
2 NSAA VA f. o 761+6
rka@d ———— ==
—
i
1368+ 3
g h. 1304+ 4 i (4858 +4

]
j. 36503 k. (711,500 < 5 L (05765+5
Workarea ‘ |
| I j
m. 2534 +7 n 2920+8 0.3287+9
—~Work area

6. Ifyou had 52 sandwiches to put into &4 lunch boxes.
0

,how many sandwiches would go into each box if you divided them equally ?




— ‘
" e DLVING
Ri I RER LML AL lf l‘ l ]

7 Atrain has 784 seats for passengers. If there are 7 cars on
| ach car has the same number of seats.

" thetrainande
many passengers can sitin each car?

.how
rent strategies.

Solve the problem using at least two diffe

7847
First strategy ‘ I ———— Second strateqy -

8. Science Peanuts grow underground in pods.
5 Each pod is attached to the stem. Suppose you
dug up 3 peanut plants and gathered 87 pods.
How many pods might have been attached to each plant?

9. There are 154 tourists divided into equal groups. If each group has 7 tourists,
° how many groups will there be ?

10. Nermine takes the train to the city and back 4 times each month. She travels a total of 376 km
per month. How far away is the city ?

11. Samihas 960 beads in 8 different colors to make jewelry. He has the same number of each color,
How many beads of each color does sami have ?

® Challenge

.‘.1%2 Youssef divided ? number between 55 and 60 by 5. The remainder was 4.
What number did youssef divide ?




9
4
. correct answer.
. th

L A d

b=
X

267 2. 74+ 4=18R
:‘.f' il:l B- 61 A. 0 B. 1
. D. N C. 2 D. 3
;=18R 4: 1,836 + 3iscloserto
| ol A b B. 60
L_ D. 3 C. 600 D. 6,000
..o - 3iscloserto 6. 736 + 4is closer to
= O
r v B. 2,000 A. 10 B. 100
c 3000 D. 40,000 C. 200 D. 1,000

i ¢arz has 270 pieces of ribbon. She wants to give an equal number of them to 8 of her
A fiends. How many pieces of ribbon will each friend receive and how many will be left
over?
5 Eachfriend will receive 32 pieces, There will be 14 pieces left over.
g, Each friend will receive 34 pieces. There will be 2 pieces left over.
¢. Each friend will receive 33 pieces. There will be 6 pieces left over.

p. Each friend will receive 33 pieces. There will be 0 pieces left over.

-
2, Marawan divides 617 + 5 using the partial quotients algorithm. He uses 100 as
- the quotient on the first step. What is his next step ?

5|617|1OD

A. Multiply 100 by 617 and subtract the result from 5.
B. Multiply 100 by 617 and add the result to 5.
C. Multiply 100 by 5 and subtract the result from 617.
D. Multiply 100 by 5 and add the result to 617.




ivisi d Multiplication
7-15 Division an :
7-16 Solving Challenging Story Pr°ble

h
m The relation betwee? multiplication apg diy 3
_.____.--—’_/".——d—'_’_-’_-—_

ided
There are 736 crayons wanted to be d:,rS
among boxes. Each box holds 4 crayons.

How many boxes are needed?

Iy
N&

Divide : 736 =4

can help decide whetheran

Estimation

visi el
answer is reasonable. Division can help

Multiplication gy

]IJ -t
solve the problem. by the same U iy

wer. opposit el
Multiplication can help check theans inszrc:ie :pue‘::ia%"sn:
' operation und"‘-‘:t? he
The dividend 736 is between 400 and 800 o,
,,,,, | or m st
Note that f lxm&;’
400and 800 are multiples of &4 8¢
47 3%
then:400+4=100 and 800+4=200 -4
33
So, the quotient is between 100 and 200 3
el
16
Second Divide 736+ 4 S
The number of boxes = 736 + 4 _ 00
=184 boxes T
\  Theansweris reasonable. -~ Partialstrategy
184
. . % ['
Third Multiply to check T
184x4=734 +320
+400
S0,the needed boxes are 184 hoxes 736

* Ask your chil '
Y d to tell you what is the relation between multiplication and divisio™




4

Unit 7 | Concept 2

plé 1
e roblem that
f‘w. e Jiviston P Matches the Multiplication problem.
W
. | b 51 ¢ 908
) A 3 x 7
24 56
- +1,500 +6,300
1,554 6,356
ution Y]
i 7=3b b. 1,554 +3=518 c. 6,356+7=908
pramplC S
itethe division problem that matches the multiplication problem.
| px2=28 b. 161x 5 = 805
105 x7=735 d. 320 x6=1920
golufiﬂn @
L p+2=T b. 805+ 5=161
g 735+7=105 d. 1920+ 6 =320

Mm your underftanding

' Write the division problem that matches the multiplication problem. 27

| ¢
O+(J- 5
+120
162

*ASK your child to explain how can he/she uses the relation between multiplication and division to solve
Multplication and division problems.




allenging story problems

=N
“Learn

golving ch
f‘ﬂ .l

v are some guided steps you may § Read
Here i ”mlnr'-lan
wan solving problems ’ .
4 “ Imtﬂﬂd & Plan

| = “/4 Solve
3 n one time carefully. | & theis

loudly more tha
tities given.
(if exists).

. Read the story
« [dentify the details and quan
. |dentify the hidden question

« Search for key words.

. Decide the operation [+,= %%}
. Decide the strategy you canuse to

% ED

NI
. Solve the hidden question [if exists).

strategy to solve the problem?

solve the problem.

« How can you use the

e
¢ @

« How do you know your answer s correct?

« What other strategy could you use to solve the problem ?

Example 3
Read the following problem carefully. Solve the problem.

Sandy bought 5 packs of crayons. There are 24 crayons in each of those packs. She also had
6 smaller packs of crayons, There are 12 crayons in each of those.

Sandy wanted to bring all her crayons to school and give them to 8 of her friends.
How many crayons will each friend get ?

Notes for parents :

* Remind your child that multistep problem is a problem that involves more than one operation.

_

)
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\Illc‘I
1||'fh
(v wtions How -
II o e to l“l\n\'tlnym“ Inthe i packa ? - Chockthe rositts
ol crayons DX 120 Crayons, ::;;I':::nlIl:::-:;m;lnrtl
i natrategy
™ ; \
L den question  How Many crayong N the 6 small packs 7
" ol CLAYONS = 6 X 12 = 79 Clayons,
Al
"
nidden question: How many crayong I all? i ',
hit
wit - qm ’ - ' 2
™ ofallcrayons =120 4.9 - 192 crayong Nt
1l B e
e

oblem: How many crayons wjy each friong got?
hl' l\ 1}

aberof crayons =192 4 8 = o4,

Wil ayonﬁ.

!

vl |\
eny 4 Y
£ni

|" 244 (6&12]] +8=(120+72) + g

mﬁmﬂ your understanding

Maged has 293 stickers.Amgad has 5 times as many as Maged. Shady has 699 fewer than
amgad. How many stickers does Shady have ?

w5 [ ) = [ e

ShadyhaS-:L__ __ ] = ‘ ‘ - | J stickers. |

*Some word problems have hidden question or questions that must be apswe.red bafore lyo: clan gzl;;a J:]:oul |
Pablem. You have to determine what operation to use and what strategies will you use to help you fig [1“]91
heiv 0 solve the problem.

—



x 4

& @
L +280
— 300
—— - =i
_-_ ________-
— 8
e S =
. - x 9
— %5
—: = ¢0
= g h
1296 =333
Z wr=fedvisor crefizm S mehes e muizplicetion proflem.
. o
. = x & = 3\ B &8 x = 18
c IS x £ = 130 = e = —E
e &£ =x 7 = E B x -
s ™ x & = M x -
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(e and the Quotient .
,Value ant First, circle the pro
L digits than the divideng, Then s

o i standard algorithm for giyisio

1

will have a quotiant
v estimate the quotient and 50lve each problam

o " Think about whara to place the flrst digit In
0 "
L+ 2

¢ quotient is between and

:.\\ll]tion:

834+ 3
quotient isbetween- and

The

golution} ——M —

346+ 5

The quotient is between and.

Solution:

d 1562+8

The quotient is between and ———

Solution:

e [[11266+6
The quotient is between ————and - -

Colition? ~——————e

f. 1632 +4
The quotient is between ———— and

Solution; -




” ||[| !1, f {
FHe e e g b il

Balibng

Wil
R T IR e i

Salution

Ao Solva e fallaving prolans, Yon g s il i g 06y g iy

I R h, /W44

G LI Th= | PR
B, 54b 4 6= oL
0 EAEN A A= h 40/ %4

) LR34 h= ) Bt

h. Solve the following story problems,
) , : /
a, Lo Yahla placed 21 palnts equally on 4 1ahles, V) i

"k i,

How many palnts were placed on eacly bal)ler g e gy
s i
Vissd gty

Ju'V‘J f

by Sarah recelved 357 1L, for her inhday, She found some s it cp 418 co
How many toys could she [y

194
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¢, Reemis stuffing envelopes, There are 1,500

envelopes, During the first hour,
reem stuffs 135 envelopes, During the seco

nd hour, she stuffs 141 envelopes.

f. Ahmed serves ice cream at a local ice cream shop. He sold 19 ice cream cones on

Saturday, 27 ice cream cones on Sunday,and 153 ice cream cones for the entire week.
How many ice cream cones did Ahmed sell in all ?

g. L Hady has 347 marbles. Kamal has 4 times as many as Hady. ]
Hala has 799 fewer than Kamal. How many marbles does Hala have

—_—

O
o
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1&:\.‘-{@1}}5}:{ | @RIMEMDLR

h. | Overthecourse of 20 weeks,

Sarah collected 14 kilograms of cans to recyc(q Sa
"9y
llected 6 times as much as Sarah. The cans need to be put into bags to take to the
co

recycling center. Each bag holds 7 kilograms of cans.

How many bags will Saleem need for his cans ?

i Ateacher bought 12 packs of crayons. Seven of the packs had 9 crayons in each,

The other 5 packs had 10 crayons in each. How many crayons did the teacher buy i, all>

j- Mira bought & packs of pencils. There were 28 pencilsin each of those packs. She a|s,
had 3 smaller packs of pencils at her house. There were 12 pencils in each of those,
Mira wanted to bring all her pencils to school and give them to 4 of her friends equaly,

How many pencils will each friend get ?

k. Four families went to the zoo. Each family has 2 adults and 2 children. Each child's ticket
costs 14 L.E.and each adult's ticket costs 22 L.E.

How much will the zoo tickets cost in all ?




. correct answer,
(e

vision equation that Matches

C2). Which expression can

' ; 28RY4
6% 37 37818 ———— be used to check the 9256
5 378~ 32126 solution of the opposite =18 +
6. 378+3= 126 division problem ? 76
C.378+3:126 A 28x9 - 72
o, 78x3=126 B. 28 x 256 *
C 28x9+4
I e D. 28 x 256 + 4
= .
; inthe problem 1866 6,the quotientis |, Is the value of 7 inthe 1
¢ petween and — , opposite division problem ? 4l
s, 100and 200 A 73 28
g, 200and 300 B. 73R1 : i
¢ 300and 400 C. 73R2 —
p. 400and 500 D. 73R3
/,/-"-'__—____‘_———\________
5, 18+ 7=——— 6. 320+ 4=
" A 6R4 B. 6R5 " A 80 B. 90
C 6R6 D. 7R1 C. 80R3 D. 90R3
IR
g, 20b+2=——— g. 2748 +9 =
A 17 B. 107 A. 304R2 B. 304R3
. 1,007 D. 10,007 C. 305R2 D. 305R3
?. Hazim has 531 marbles. Ahmed has 1.0. Dina distributed 965 pounds among her

' 3times as many as Hazim. Rana has
689 fewer than Ahmed.

How many marbles does Rana have ?
A 1593 marbles B. 215 marbles
C. 904 marbles D. 2,282 marbles

5sons. If she gave each son 150 pounds
more as a present

,what s the share of each son ?

A. 43 pounds B. 143 pounds
C. 193 pounds D. 343 pounds



v ————— -

TJETA A N rees

B

|

it

| i
1.-_..!’ |

ewer and (X) to the incorrect answer.

.. write (/) to the correct a0
a. 180+2=9 [ |
o, 43+ b=10and theremainder =3 ( |
c. 35,000 +5=7000 [ |
d. 1£1,095 + 3= 365, then the divisoris 3 [ |
e h+24=b &
£, 240+2=120 ( |
I B
2. choose the correct answer.
o
a 30+b4=—""
A 7R B. 6R2 C. 7R2 D. 7R4
b. 255+5=—"
A B. 50 C. 51 D. 55
c. 9342 +3iscloserto
A. 300 B. 3,000 C. 4,000 D. 5,000
d. 6300 +9=——
A. 70 B. 700 C. 7000 D. 70,000
e 2+b= ——
A. 7R0D B. 7R2 C. 6RO D. 6R1
f. 1f973 + 3 =325,then the dividend is
- B. 325 C. 973 D. 322

i’ Complete the following.
a. The quotient of 3,019 + 3 equals
b. +7=800




' Concept 2 Assessment

ding 76+ 2 using the standard algorithm, the first division is +

( 4t division is + «and the quotient is
b=
¢ otient of 736 + biscloserto
¢ sonproblemintheopposite areamodel 5 5%20=100 5%5=25
b * 20 5 R3
N
’AwE P —— -
AT B L__mx2 |
2
o[ 360+4 2. 150 +7
. 58T _ 3. wmete
. 7855 4. 30x3
e

yse the ared model to divide 774 + 7

H
7

¢ Usethe partial quotient algorithm to divide.

‘ 3128+3

_
7, Whatare the missing values in —
[ the opposite division problem ? 3|g 5 ]
= \J

s 1

|__’! |

-15,

;

- 6

1

¢ Maged estimated 7924 + 4 as he rounded 7924 to 7,000, then divided 7,000 4=1750,
h
but he found that the answer 1981is not reasonable.

Explain the mistake of Maged and fix it.
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